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- Rabindranath Tagore

Our National Anthem  |  C²rjáT ^Ôá+

India is my country. All Indians are my brothers and sisters.
I love my country and I am proud of its rich and varied heritage.

I shall always strive to be worthy of it.
I shall give my parents, teachers and all elders respect,

and treat everyone with courtesy. I shall be kind to animals.
To my country and my people, I pledge my devotion.

In their well-being and prosperity alone lies my happiness.

uó²sÁÔá<ûXø+ H� eÖÔá�uó�Ö$T. uó²sÁrjáTT\+<�sÁÖ H� d�¬<�sÁT\T.

HûqT H� <ûXæ�� ç�|$Td�TïH��qT. d�Td�+|�q�yîT®q, �V�Q$<ó�yîT®q H� <ûXø y�sÁd�ÔáÇ d�+|�<� H�Å£� >·sÁÇ¿±sÁD+.

B�¿ì nsÁ½Ôá bõ+<�&��Â¿Õ d�sÁÇ<� HûqT ¿£�w¾ #ûkÍïqT.

H� Ôá*¢<�+ç&�T*�, �bÍ<ó�«jáTT*�, �|<�Ý\+<�]� >�sÁ$kÍïqT. ç|�Üy�]ÔÃqT eTs�«<�>± q&�T#áT¿=+{²qT.

È+ÔáTeÚ\|�³¢ <�jáTÔÃ �+{²qT.

H� <ûXø+|�³¢, H� ç|�È\|�³¢ �dy��sÁÜÔÃ �+{²q� ç|�ÜÈã #ûd�TïH��qT.

y�] çXâjîÖ_óe�<�TÆýñ H� �q+<��¿ì eTÖý+.

Pledge  |  ç|�ÜÈã

Jana-gana-mana-adhinayaka jaya he

Bharata-bhagya-vidhata

Panjaba-Sindhu-Gujarata-Maratha

Dravida-Utkala-Banga

Vindhya-Himachala-Yamuna-Ganga

uchchala-jaladhi-taranga

Tava Subha name jage,

tave subha asisa mage,

gahe tava jaya-gatha.

Jana-gana-mangala-dayaka jaya he

Bharata-bhagya-vidhata.

Jaya he, Jaya he, Jaya he,

jaya jaya jaya jaya he.

Èq>·DeTq n~óH�jáT¿£ ÈjáT�V²!

uó²sÁÔá uó²>·«$<ó�Ô�!

|�+C²�, d¾+<ó�T, >·TÈs�Ôá, eTs�sÄ�,

ç<�$&�, �ÔáØÞø, e+>±!

$+<ó�«, V¾²eÖ#á\, jáTeTTH�, >·+>±!

�#áÌ\ È\~ó ÔásÁ+>±!

Ôáe Xø�uó�H�yûT C²¹>!

Ôáe Xø�uó� �¥w� eÖ"¹>

>±�V² Ôáe ÈjáT>±<̧�!

Èq>·D eT+>·Þø<�jáT¿£ ÈjáT�V²!

uó²sÁÔá uó²>·« $<ó�Ô�!

ÈjáT�V²! ÈjáT�V²! ÈjáT�V²!

ÈjáT ÈjáT ÈjáT ÈjáT�V²!!

- sÁM+ç<�H�<�̧ sÄ�>·ÖsY

- Pydimarri Venkata Subba Rao

- �|Õ&�eTç] yî+¿£³ d�Tu²Òs�eÚ
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Academic Standards-Learning Outcomes
Academic standards are clear statements about what students must know and be able to do.
The following are the specifications on the basis of which we lay down Academic Standards

Problem Solving
• Using concepts and procedures to solve mathematical problems.

Stages of problem solving
• Reads problems.
• Identifies all pieces of information.
• Separates relevant pieces of information.
• Understanding what concept is involved.
• Selection of procedure.
• Solving the problem.

Reasoning and Proof
• Reasoning between various steps.
• Understanding and making mathematical generalizations and conjectures.
• Understanding and justifying procedures.
• Examining logical arguments.
• Understanding the notion of proof.
• Using inductive and deductive logic.
• Testing mathematical conjectures.

Communication
• Writing and reading mathematical expressions.
• Creating mathematical expressions.
• Explaining mathematical ideas in his/her own words.
• Explaining mathematical procedure.
• Explaining mathematical logic.

Connections
• Connecting concepts within a mathematical domain.
• Making connections with daily life.
• Connecting mathematics to different subjects.
• Connecting concepts of different mathematical domains.
• Connecting concepts to multiple procedures.

Visualization and Representation
• Interprets and reads data in tables, number line, pictograph, bar graph, 2D figures, 3D figures,

pictures.
• Making tables, number line, pictograph, bar graph, pictures.
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$<�«ç|�eÖD²\T

1. d�eTkÍ« kÍ<ó�q :

>·DìÔá uó²eq\T, |�<�ÆÔáT\qT �|�jîÖÐ+#á&�+ <�Çs� >·DìÔá d�eTd�«\qT kÍ~ó+#á&�+.

d�eTd�« kÍ<ó�q ̀  kþbÍH�\T

• d�eTd�«\qT #á<�e&�+.

• <�Ô�ï+Xø+ýË� d�eÖ#�sÁ+ yîTTÔ�ï�� $&�uó²>±\T>± >·T]ï+#á&�+.

• nqT�+<ó� $&�uó²>±\qT yûsÁT#ûjáT&�+.

• d�eTd�«ýË �$T&�jáTTq� >·DìÔá uó²eq\qT ne>±V�²q #ûd�¿Ãe&�+.

• ýÉ¿£Ø#ûjáTT |�<�ÆÜ $<ó�H��� m+|¾¿£ #ûjáT&�+.

• m+|¾¿£ #ûd¾q |�<�ÆÜ ç|�¿±sÁ+ d�eTd�«qT kÍ~ó+#á&�+.

2. ¿±sÁD²\T #î|�Î&�+`�sÁÖ|�D #ûjáT&�+ :

• <�Xø\ y�̄ >± �q� kþbÍ\H�\Å£� ¿±sÁD²\T $e]+#á&�+.

• >·DìÔá kÍ<ó�sÁD¡¿£sÁD\qT eT]jáTT ç|�¿£\Îq\qT nsÁ�+ #ûd�T¿Ãe&�+ eT]jáTT #ûjáT>·\>·&�+.

• |�<�ÆÜ� nsÁ�+ #ûd�T¿Ãe&�+ eT]jáTT d�]#áÖ&�&�+.

• Ô�]Ø¿£ #ásÁÌ\qT |�¯¿ì�+#á&�+.

• d�eTkÍ« �sÁÖ|�DýË� ç¿£eÖ�� nsÁ�+ #ûd�T¿Ãe&�+.

• �>·eTq, �>·eTq |�<�ÆÔáT\ýË Ô�]Ø¿£ÔáqT $�jîÖÐ+#á&�+.

• >·DìÔá ç|�¿£\Îq\qT |�̄ ¿ì�+#á&�+.

3. e«¿£ï|�sÁ#á&�+ :

• >·DìÔá uó²eq\qT, y�¿±«\qT #á<�e>·\>·&�+`s�jáT>·\>·&�+.

• >·DìÔá e«¿¡ï¿£sÁD\qT sÁÖbõ+~+#á&�+.

• >·DìÔá|�sÁyîT®q �ýË#áq\qT Ôáq d�Ç+ÔáeÖ³\ýË $e]+#á&�+.

• |�<�ÆÜ� $e]+#á&�+.

• >·DìÔá Ô�]Ø¿£ÔáqT $e]+#á&�+.

4. nqTd�+<ó�q+ :

• nqT�+<ó� >·DìÔá bÍsÄÁ«$uó²>±\qT ̀  uó²eq\qT nqTd�+<ó�q+ #ûjáT&�+.

• <îÕq+~q J$Ô��� >·DìÔ��¿ì nqTd�+<ó�q+ #ûjáT&�+.

• yû¹sÇsÁT d��Å̈£�¼\ÔÃ >·DìÔ��� nqTd�+<ó�q+ #ûjáT&�+.

• >·DìÔá+ýËHû yû¹sÇsÁT bÍsÄ�«+Xæ\Å£� d�+�+~ó+ºq uó²eq\qT nqTd�+<ó�q+ #ûjáT&�+.

• uó²eq\qT, �V�QÞø|�<�ÆÔáT\Å£� nqTd�+<ó�q+ #ûjáT&�+.

5. <��o«¿£sÁD eT]jáTT çbÍÜ�<ó�« |�sÁ#á&�+ :

• |�{ì¼¿£ýË� d�eÖ#�sÁ+, d�+U²«¹sK, |�³ºçÔá+, ~eT� ºçÔá+, 2`D |�{²\T, 3`D |�{²\T eT]jáTT |�{²\qT #á<�e&�+.

• |�{ì¼¿£\qT sÁÖbõ+~+#á&�+, d�+U²«¹sK�|Õ #áÖ|�&�+, |�³ºçÔ�\T, ~eT� ºçÔ�\T, |�{²\qT ̂ jáT&�+.

$<�«sÁT�\T ÿ¿£ ÔásÁ>·ÜýË @$T #ûjáT>·\>±*, @+ Ôî*d¾ �+&�ýË d�Îw�¼+>± $e]+#û ç|�e#áH�\qT � ÔásÁ>·Ü jîTT¿£Ø

»$<�«ç|�eÖD²\Tµ n+{²eTT. � $<�«ç|�eÖD²\qT ¿ì+~ $uó²>±\T>± e Z̄¿£]+#á&�yîT®q~. >·DìÔá+ýË� $$<ó� bÍsÄ�«+Xæ\

<�Çs� ¿ì+~ d�Öº+ºq $<�«ç|�eÖD²\T kÍ~ó+#�*.



1. Let’s Recall June 2-25

>·TsÁTïÅ£� Ôî#áTÌÅ£�+<�+ pH�

2. My Number World July 26-59

H� d�+U²« ç|�|�+#á+ EýÉÕ

3. Additions and Substractions August 60-89

Å£L&�¿£ eT]jáTT rd¾yûÔá �>·w�§¼

4. Multiplication and Division September 90-121

>·TD¿±sÁ+ eT]jáTT uó²>·V�äsÁ+ �d�|¼+�sÁT

5. Multiples and Factors October 122-171

>·TDìC²\T eT]jáTT ¿±sÁD²+¿±\T n¿Ã¼�sÁT

Lesson No.

bÍsÄÁ+ d�+K«

Lesson Name

bÍsÄÁ+ �|sÁT

Month

Hî\

Pages

�|J\T
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>·DìÔá+ÔÃ  >·eT�ÔáTï

Class (ÔásÁ>·Ü)  - 5

Semester (�d$Td�¼sY) - 1

Student cornerTeacher corner



2 Class - 5  Maths Magic

Let’s Recall

Sai is studying 5th class and his sister Valli is studying 3rdclass. In summer holidays,
Sai and Valli wanted to go to Bangalore with their grand father Nagayya. They reached
Vijayawada railway-station.

Observe the picture and answer the following questions:
1. What is the platform number?
2. How many persons are sitting on the bench?
3. What is the time shows in the clock?
4. How many blades are there to the ceiling fan?
5. How many children are there in the picture?
6. How many persons can you see in the picture?

When they entered into the platform number 1, they heard an announcement that
the expected time of the arriving train is 30 minutes late. So Sai, Valli and Nagayya went
to the waiting hall. Mean while, they are observing the train number and platform number
displayed on the information board.

Chapter

1
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n<ó�«jáT+

>·TsÁTïÅ£� Ôî#áTÌÅ£�+<�+

kÍsTT 5e ÔásÁ>·Ü #á<�TeÚÔáTH��&�T. nÔá� #îýÉ¢\T e*¢ 3e ÔásÁ>·Ü #á<�TeÚÔáTq�~. yûd�$ �d\eÚýË¢ H�>·jáT«

Ô�ÔáÔÃ ¿£*d¾ uÉ+>·ÞøSsÁT yîÞø<�eT� nqTÅ£�H��sÁT. y�sÁT �jáT\T<û] $ÈjáTy�&� ÂsÕýñÇ �d¼w�qTÅ£� #ûsÁTÅ£�H��sÁT.

ºçÔ��� |�]o*+º ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&� :

1. bÍ¢{Ù b�ÍsÁ+ Hî+�sÁT m+Ôá ?

2. uÉ+N �|Õ m+<�sÁT eTqTw�§\T Å£LsÁTÌH��sÁT?

3. >·&�jáÖsÁ+ýË d�eTjáT+ m+Ôá nsTT+~?

4. dÓ*+>·T b�Í«H� Å£� m�� Âs¿£Ø\T �H��sTT?

5. ºçÔá+ýË �q� |¾\¢\T m+<�sÁT?

6. ºçÔá+ýË m+ÔáeT+~ eTqTw�§\T ¿£�|¾d�TïH��sÁT?

y�sÁT ÿ¿£{Ë Hî+�sÁT bÍ¢{Ù b�Ís��¿ì yîÞøß>±Hû y�sÁT m¿±Ø*àq ÂsÕ\T �+&� 30 �$TcÍ\T �\d�«+>± ed�Tï+<�Hû

ç|�¿£³q $q�&�+~. n+<�T¿£� kÍsTT, e*¢ eT]jáTT H�>·jáT« $çXæ+Ü >·~¿ì yîÞ²ßsÁT. � >·~ýË y�sÁT ÂsÕ\T Hî+�sÁT,

ÂsÕ\T �|sÁT, bÍ¢{Ù b�ÍsÁ+ Hî+�sÁT Ôî*jáTCñ�d d�eÖ#�sÁ uËsÁT¦qT |�]o*d�TïH��sÁT.

1



4 Class - 5  Maths Magic

Expanded form of Numbers:

Nagayya: How many trains are there on the display-board? What is the number of
Hatiya Super Fast Express?

Sai: There are 4 trains on display-board. Hatiya Superfast Express number is
one two eight three six (12836).

Nagayya: Read this number with place-values.

Sai read the number in this way.

       Expansion of 12836 = (1x10,000) + (2x1,000) + (8x100) + (3x10) + (6x1)

= 10,000 + 2,000 + 800 + 30 + 6

= 12,000 + 800 + 30 + 6

= 12 thousand + 8 hundred + 3 tens + 6 ones

So, we read 12,836 as  Twelve thousand, eight hundred and thirty six.

Ten Thousand Thousand Hundred Tens Ones
1 2 8 3 6
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d�+K«\ $d�ïsÁD sÁÖ|�+

H�>·jáT« : d�eÖ#�sÁ uËsÁT¦ýË m�� ÂsÕÞø�ß ¿£�|¾d�TïH��sTT? V�²~¸jáÖ d�Ö|�sY b�Íd�T¼ m¿ùàç�|dt ÂsÕ\T d�+K« m+Ôá?

kÍsTT   : d�eÖ#�sÁ uËsÁT¦ýË 4 ÂsÕÞø�ß ¿£�|¾d�TïH��sTT. V�²~¸jáÖ d�Ö|�sY b�Íd�T¼ m¿ùàç�|dt ÂsÕ\T d�+K« ÿ¿£{ì

Âs+&�T m�$T~ eTÖ&�T �sÁT (12836).

H�>·jáT« : � d�+K«qT kÍ�q$\Te\ÔÃ #á<�TeÚ kÍsTT.

kÍsTT � d�+K«qT ¿ì+~ $<ó�+>± #á~$ $e]+#á&�+ È]Ð+~.

¿±�{ì¼ 12,836qT »»|�Hî�+&�T yû\ m�$T~ e+<�\ eTT�|ÕÎÛ �sÁTµµ n� #á<�TeÚÔ�+.

12836 $d�ïsÁD sÁÖ|�+         R (1I10,000) G (2I1000) G (8I100) G (3I10) G (6I1)

R 10,000 G 2000 G 800 G 30 G 6

R 12,000 G 800 G 30 G 6

R 12 yû\T G 8 e+<�\T G 3 |�<�T\T G 6 ÿ¿£³T¢

|�~yû\T yû\T e+<�\T |�<�T\T ÿ¿£³T¢

1 2 8 3 6



6 Class - 5  Maths Magic

1) Write the following numbers in words.

a) 9        b) 37        c) 267       d) 607        e) 5298       f) 1307       g) 42689       h) 52006

2) Write the expanded form for the following numbers.

a)  62     b) 39        c) 792       d) 308        e) 3472       f) 9210       g) 61287       h) 20508

3) Write the place values of the underlined digits in the following numbers.

a) 48      b) 63        c) 834       d) 607        e) 2519       f) 6920       g) 12453       h) 52146

4) Find the sum of the place values of 6 in the following numbers.

a) 266    b) 616      c) 665      d) 6236     e) 64,624      f) 67,426     g) 86,216

5) Write the predecessor and successor for the following numbers.

a) 9       b) 99       c) 539       d) 621      e) 4001        f) 3210      g) 10000

6) Fill the following table.

d)  10000 + 3000 + 500 + 50 + 6 = ________

e)  50000 + 2000 + 800 + 50 + 7 = ________

f)  30,000 + 500 + 8 = _________________

7) Write the suitable numbers for the following.

a)  10 + 2  =__________________

b)  200 + 30 + 5 = _____________

c)  4000 + 500 + 70 + 4  = _______

8) Write the greatest 4-digit number by using 7,6,5and 2 = -------.

9) Write the smallest 4-digit number by using 2,0,8and 7=-------.

10) How many 100s are there in 1,000?

1-digit number 2-digit number 3-digit number 4-digit number 5-digit number
Smallest
number
Largest
number
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ºq� d�+K«

�|<�Ý d�+K«

1)  ¿ì+<� �ºÌq d�+K«\qT n¿£�s�\ýË s�jáT+&�.

n) 9 �) 37 �) 267 �) 607 �) 5298 }) 1307          �TT) 42689

2) ¿ì+<� �ºÌq  d�+K«\qT $d�ïsÁD sÁÖ|�+ýË s�jáT+&�.

n) 62 �) 39 �) 792   �) 308 �) 3472       }) 9210          �TT) 61287

3) ¿ì+~ �ºÌq d�+K«\ýË ^Ôá ^d¾q n+Â¿\ kÍ�q $\Te\T s�jáT+&�.

n) 48 �) 63 �) 834 �) 607  �) 2519 }) 6920 �TT) 12453  m) 52146

4) ¿ì+~ �ºÌq d�+K«\ýË 6 jîTT¿£Ø kÍ�q $\Te\ yîTTÔáï+ ¿£qT>=q+&�.

n) 266 �) 616 �) 665 �) 6236 �) 64,624 }) 67,426   �TT) 86,216

5) ¿ì+<�  �eÇ�&�q d�+K«\Å£� eTT+<�T d�+K«, ÔásÁTy�Ôá d�+K«\qT s�jáT+&�.

n) 9 �) 99 �) 539 �) 621 �) 4001 }) 3210 �TT) 10000

6) ¿ì+~ |�{ì¼¿£qT |�P]+#á+&�.

    nuó²«d�+  `   1

ÿ¿£ n+Â¿ d�+K« Âs+&�+Â¿\ d�+K« eTÖ&�+Â¿\ d�+K« H�\T>·T n+Â¿\ d�+K« ×<�T n+Â¿\ d�+K«

7) ¿ì+~ y�{ì¿ì d�ÂsÕq d�+K«\qT s�jáT+&�

n) 10 + 2 = ____________ �) 10000 + 3000 + 500 + 50 + 6 = __________

�) 200 + 30 + 5 = ____________ �) 50000 + 2000 + 800 + 50 + 7 = __________

�) 4000 + 500 + 70 + 4 = ____________ }) 30000 + 500 + 8 = __________

8) 7,6,5 eT]jáTT 2 \ÔÃ @sÁÎ&û 4 n+Â¿\ �|<�Ý d�+K«qT s�jáT+&� ____________________

9) 2,0,8 eT]jáTT 7 \ÔÃ @sÁÎ&û 4 n+Â¿\ ºq� d�+K«qT s�jáT+&� ____________________

10)  1000ýË m�� 100\T �H��sTT?
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Let's observe the transactions in a pass book:
Nagayya took his bank-pass book from his handbag to see his bank transactions. Sai was
very curious to see the bank-pass book. Grand father gave his pass-book to Sai. He
explained all the entries in the Pass Book.

Now answer the following questions:
1) When did Nagaiah have the highest balance amount? How much?
2) When did he have the lowest balance amount? How much?
3) Compare 9,843 and 143 with suitable symbols (> or < or =)
4) Write the amounts in the balance column in ascending order.
5) Write the amounts in the balance column in descending order.

Examp:   Then, Nagaiah explained, How to round-off given numbers to nearest thousand.

Available balance
Credit pension
Balaji grocery
House-rent
LIC-policy
Bank ATM charges

Name: Nagayya    PASS-BOOK
Date Details Debit Credit Balance

30-04-2019
02-05-2019
03-05-2019
10-05-2019
20-05-2019
31-05-2019

5,200
2,500
1,500

50

143
9,843
4,643
2,143

643
593

9,700

2,143

2,000 3,000

Exercise -  2

So, rounding off  2,143  to the nearest thousand = 2,000

1) Round off the following numbers to the nearest tens.
a) 32 b) 78 c) 123 d) 485 e) 2546 f) 5814 g) 25796

2) Round off the following numbers to the nearest hundreds.
a) 312 b) 956 c) 123 d) 485 e) 2546 f) 5814 g) 796

3) Round off the following numbers to the nearest thousands.
a) 5264 b) 7532 c) 1234 d) 4850 e) 25463 f) 5014 g) 95150
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u²«+Å£� bÍdt |�Úd�ï¿£+ýË� ý²y�<ûM\T |�]o*<�Ý+ :

H�>·jáT« Ôáq #ûÜ d�+ºýË� u²«+Å£� bÍdt |�Úd�ï¿£+ rd¾ ý²y�<ûM\qT #áÖd�TïH��&�T. kÍsTT � bÍdt |�Úd�ï¿±�� #áÖ&�{²�¿ì

�çÔáTÔá>± �H��&�T. Ô�ÔájáT« bÍdt |�Úd�ï¿±�� kÍsTT¿ì �#�Ì&�T. bÍdt |�Úd�ï¿£+ q+<�* qyîÖ<�T\qT $e]+#�&�T.

�|sÁT : H�>·jáT«     bÍdt |�Úd�ï¿£+

ÔûB $esÁeTT\T

n+<�T u²³TýË �q� �\Ç

�|qüH� ÈeT

u²ý²J ç>Ãd�̄

�+{ì n<îÝ

mýÙ.×.d¾ bÍ\dÓ

u²«+Å£� m.{ì.my�T #ó�¯̈

KsÁTÌ ÈeT �\Ç

¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

1) @ ÔûBq H�>·jáT«Å£� mÅ£�Øe �\Ç �q�~ ? m+Ôá �q�~?

2) @ ÔûBq nÔá�¿ì ÔáÅ£�Øe �\Ç �q�~ ? m+Ôá �q�~ ?

3) 9843 eT]jáTT 143 \qT d�ÂsÕq >·TsÁTï\qT (> ýñ<� < ýñ<� =) �|�jîÖÐ+º bþ\Ì+&�

4) �\ÇýË �q� kõeTT�\qT �sÃV�²D ç¿£eT+ýË neTsÁÌ+&�.

5) �\ÇýË �q� kõeTT�\qT nesÃV�²D ç¿£eT+ýË neTsÁÌ+&�.

�<�V�²sÁD:   H�>·jáT« �ºÌq d�+K«qT @ $<ó�+>± <�>·ZsÁ yîsTT«¿ì d�e]+#áTe#áTÌHÃ $e]+#�&�T.

n+<�Te\q 2143 qT <�� <�>·Z] yûsTT¿ì d�e]+#á>±  R 2000

nuó²«d�+ -  2

1) ¿ì+~ d�+K«\qT <�>·Z] |�<�T\Å£� d�e]+º s�jáT+&�.

n) 32 �) 78 �) 123 �) 485 �) 2546 }) 5814 �TT) 25796

2) ¿ì+~ d�+K«\qT <�>·Z] e+<�\Å£� d�e]+º s�jáT+&�.

n) 312 �) 956 �) 123 �) 485 �) 2546 }) 5814 �TT) 796

3) ¿ì+~ d�+K«\qT <�>·Z] yû\Å£� d�e]+º s�jáT+&�.

n) 5264 �) 7532 �) 1234 �) 4850 �) 25463 }) 5014 �TT) 95150

30-04-2019
02-05-2019
03-05-2019
10-05-2019
20-05-2019
31-05-2019

5,200
2,500
1,500

50

143
9,843
4,643
2,143

643
593

9,700

2,143

2,000 3,000
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4)      Use symbols (< , > or =) between the numbers.

a) 9 5 b) 21 39

c) 405 504 d) 1565 1565

e) 12578 25178 f) 90507 70503

g) 42179 42179 h) 81456 65899

5)     Write these numbers in ascending order:

a) 2,1,5,9,7 b) 27,46,10,29,72

c) 402,204,315,351,610 d) 3725, 7536, 7455, 7399, 2361

e) 25478, 25914,  25104, 25072 f) 46202, 10502, 60521, 81134

6)      Write these numbers in descending order:

a) 3,8,4,2,1 b) 97,69,96,79,90

c) 205,402,416,318,610 d) 8016, 916, 10219, 41205, 2430

e) 57832, 57823, 57830, 57820, 57825   f) 16342, 86620, 46241, 64721, 46820

Nagaiah tried to explain about the credits and debits in the pass book to Sai.
Example-1: Available balance as on 30-04-19 = `     143

Credited pension on 02-05-2019 = (+) `  9,700
The balance as on 02-05-2019 = `  9,843

       \ 143+ 9,700 = 9,843
Example-2: Balance as on 02-05-2019 = `  9,843

Debit at Balaji-grocery = (-) `  5,200
The balance  as on 03-05-2019 = `  4,643

      \ 9843 - 5200 = 4643
Let's check other debits and balance columns.

4 6 4 3
(-) 2 5 0 0

2 1 4 3
(-) 1 5 0 0

  6 4 3
(-)  5 0
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4) ¿ì+~ �eÇ�&�q ç|�Ü d�+K«\ ÈÔá eT<ó�« < , > ýñ<� = \qT �|�jîÖÐ+º y�{ì� bþ\Ì+&�.

n) 9 5 �) 21 39

�) 405 504 �) 1565 1565

�) 12578 25178 }) 90507 70503

�TT) 42179 42179 �TÖ) 81456 65899

5) ~>·Te �eÇ�&�q d�+K«\qT �sÃV�²D ç¿£eT+ýË  s�jáT+&�.

n) 2, 1, 5, 9, 7 �) 27, 46, 10, 29, 72

�) 402, 204, 315, 351, 610 �) 3725, 7536, 7455, 7399, 2361

�) 25478, 25914, 25104, 25072 }) 46202, 10502, 60521, 81134

6) ~>·Te �eÇ�&�q d�+K«\qT nesÃV�²D ç¿£eT+ýË s�jáT+&�.

n) 3, 8, 4, 2, 1 �) 97, 69, 96, 79, 90

�) 205, 402, 416, 318, 610 �) 8016, 916, 10219, 41205, 2430

�) 57832, 57823, 57830, 57820, 57825 }) 16342, 86620, 46241, 64721, 46820

H�>·jáT« u²«+Å£� bÍdt |�Úd�ï¿£+ýË� ÈeT KsÁTÌ\qT kÍsTT¿ì ¿ì+~ $<ó�+>± $e]+#�&�T.

�<�V�²sÁD-1 : 30-04-19 H�{ì¿ì n+<�Tu²³TýË �\Ç R `   143

                02-05-19 H�&�T ÈeT nsTTq �|qüH� R (G) ` 9,700

                02-05-19 H�{ì¿ì �\Ç R ` 9,843

\ 143 G 9,700 =  ` 9,843

�<�V�²sÁD-2 : 02-05-19 H�{ì �\Ç R ` 9,843

                03-05-19 u²ý²J ç>Ãd�̄  KsÁTÌ R (-) ` 5,200

 03-05-19 H�{ì �\Ç R ` 4643

       \ 9843- 5200 R ` 4,643

�|�Ú&�T �\ÇýË� $T>·Ô� KsÁTÌ\qT |�]o*<�Ý+.

4 6 4 3
(-) 2 5 0 0

2 1 4 3
(-) 1 5 0 0

  6 4 3
(-)  5 0
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1) Do the following.
a) 4 + 6 b) 9 + 5 c) 58 + 69 d) 45 + 27
e) 143 + 235 f) 539 + 709 g) 2,658 + 5,131 h) 2,056 +8,997

2) Do the following. Check your answer.
a) 8 - 5 b) 72 - 36 c) 82 - 37 d) 798 - 527
e) 850 - 456 f) 6527 - 2314 g) 4526 - 2398 h) 4005 - 2589

3) To get 5629, how much should we add to 1058?

4) To get 1250, how much should we subtract from 9658?

5) Mounika has `5270. Radhika has ` 550 more than Mounika. Then find the total money

with  Mounika and Radhika.

6) Kohli made 120 runs in a match. Rohit made 65 runs less than Kohli in the same match.

Find the total runs made by Kohli and Rohit.

The train arrived and the three got into the train. A person from pantry car
approached and took order for 3 meals at the rate of  ` 95 each.

Exercise - 3
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nuó²«d�+ - 3

1) �$ #ûjáT+&�.

n) 4 + 6 �) 9 + 5 �) 58 + 69 �) 45 + 27

�) 143 + 235 }) 539 + 709 �TT) 2,658+ 5,131 �TÖ) 2,056 + 8,997

2) ¿ì+~ ýÉ¿£Ø\qT #ûjáT+&�. MT d�eÖ<ó�q+ d�]#áÖ&�+&�.

n) 8 – 5 �) 72 - 36 �) 82 - 37 �) 798 - 527

�) 850 – 456 }) 6527 - 2314 �TT) 4526 - 2398 �TÖ) 4005 - 2589

3) 5629 � bõ+<�{²�¿ì 1058 Å£� m+Ôá ¿£\bÍ*?

4) 1250 � bõ+<�{²�¿ì 9658 qT+&� m+Ôá rd¾yûjáÖ*?

5) eTò�¿£ <�>·ZsÁ �q� kõeTT� ̀  5270. s�~ó¿£ e<�Ý eTò�¿£ e<�Ý ¿£+fñ ̀  550 mÅ£�Øe �H��sTT. nsTTÔû s�~ó¿£, eTò�¿£\

e<�Ý �q� yîTTÔáï+ kõeTT� m+Ôá?

6) ¿ÃVÓ²¢ ÿ¿£ eÖ«#Y ýË 120 |�sÁT>·T\T #ûkÍ&�T. sÃV¾²ÔY n<û eÖ«#Y ýË ¿ÃVÓ²¢ ¿£H�� 65 |�sÁT>·T\T ÔáÅ£�Øe #ûkÍ&�T.

nsTTÔû ¿ÃVÓ²¢ eT]jáTT sÃV¾²ÔY \T #ûd¾q yîTTÔáï+ |�sÁT>·T\T m�� ?

     ÂsÕ\T �+&� s�>±Hû eTT>·TZsÁÖ ÂsÕ\T m¿±ØsÁT. uóËÈqXæ\ qT+º ÿ¿£ e«¿ìï eºÌ 3 uóËÈH�\Å£� �sÁ¦sY rd�TÅ£�H��&�T.

ÿ¿=Ø¿£Ø uóËÈq+ K¯<�T ` 95.
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442-8324463 18463 31-05-2019 669 1 2 24486031

S10 9(LB) 60

150 1950S10 10 (MB) 10

S10 11 (UB) 8

PNR No. Train No. Date Km Adult Child Ticket No.

COACH SEAT / BERTH AGE    R.Charge T.CASH

Male

Male

Female

GENDER

HAPPY JOURNEY

95 x 3
285

1 5

72 x 12

144
+ 720

864

.......... (72 x 2)

.......... (72 x 10)

Total amount paid to meal:
 The cost of 1 meal is ` 95. How much will Nagaiah have to pay for 3 meals?

 Hence, Nagaiah paid ` 285 towards 3 meals.
Example: Total seats in this compartment are 72. If this train has 12 compartments, how
many seats are there in the train?

\ The total seats in the train are 864.
Cost of each ticket:

Meanwhile, T.C came and asked to show their ticket. The grand-father showed the
ticket to T.C. Then Sai and Valli are asked to watch the information given on the ticket.

Nagaiah: Total amount for 3 tickets is `1950 (This includes reservation charge ` 150).
What is the cost of 3 tickets without reservation charge?
Sai: Total amount         = ` 1950

Res. Charge (-)    = `  150
Amount  towards only tickets        = ` 1800

Vijayawada to Bengaluru
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uóËÈH�\Å£� �ºÌq yîTTÔáï+ kõeTT� :

1 uóËÈq+ K¯<�T ` 95. nsTTÔû 3 uóËÈH�\Å£� H�>·jáT« m+Ôá kõeTT� #î*¢+º �+{²&�T?

¿±�{ì¼ H�>·jáT« 3 uóËÈH�\Å£� #î*¢+ºq kõeTT� ` 285.

�<�V�²sÁD : � ÂsÕ\T �|fÉ¼ýË yîTTÔáï+ dÓ³T¢ 72. ÿ¿£yûÞø ÂsÕ\T �+&�¿ì 12 �|fÉ¼\T �+fñ, yîTTÔáï+ m�� dÓ³T¢ �+{²sTT.

\ ÂsÕ\T �+&�ýË� yîTTÔáï+ dÓ³T¢ 864.

ç|�Ü {ìÂ¿{Ù K¯<�T:

�+ÔáýË {ìÂ¿{Ù ¿£ýÉ¿£¼sY eºÌ {ìÂ¿{Ù #áÖ|¾+#áeT� n&�>±&�T. n|�Ú&�T H�>·jáT« {ìÂ¿{Ù rd¾, {ìÂ¿{Ù ¿£ýÉ¿£¼sÁTÅ£�

#áÖ|¾+#�&�T. kÍsTT, e*¢ �<�ÝsÁÖ Ô�ÔájáT« e<�Ý >·\ {ìÂ¿{Ù MT~ d�eÖ#�s��� #áÖ|�eT� n&�>±sÁT.

H�>·jáT« : eTÖ&�T {ìÂ¿{Ù\ yîTTÔáï+ kõeTT� ` 1950 (]È¹sÇw�H� #ó�¯̈ 150\ÔÃ ¿£*|¾) nsTTÔû ]È¹sÇw�H� #ó�¯̈

ýñÅ£�+&�, eTÖ&�T {ìÂ¿{Ù\ yîTTÔáï+ kõeTT� m+Ôá?

kÍsTT : {ìÂ¿{Ù yîTTÔáï+ kõeTT�

]È¹sÇw�H� #ó� ¨̄

¹¿e\+ {ìÂ¿³¢Å£� nsTTq kõeTT�

ç|�jáÖD+ Xø�uó�eT>·T>±¿£ $ÈjáTy�&� qT+&� uÉ+>·ÞøSsÁT

|¾mH��sY Hî+. ÂsÕ\T Hî+. ÔûB ¿ì.MT. �|<�Ý\T |¾\¢\T {ìÂ¿{Ù Hî+�sÁT

¿Ã#Y dÓ³T/uÉsYï �dÓï/|�ÚsÁTw� ejáTd�Tà ]È¹sÇw�H� #ó�¯̈ yîTTÔáï+ kõeTT�

|�ÚsÁTw�

|�ÚsÁTw�

�dÓï

442-8324463 18463 31-05-2019 669 1 2 24486031

S10 9(LB) 60

150 1950S10 10 (MB) 10

S10 11 (UB) 8

= `1950

  (-)  = `150

= `1800

95 x 3
285

1 5

72 x 12

144
+ 720

864

.......... (72 x 2)

.......... (72 x 10)
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Nagaiah:  How much amount is paid by each towards reservation and ticket?

Sai:        Total reservation charge =  ` 150 Total tickets amount =  ` 1800

       Res.charge for each =  ` 150 ÷ 3 Ticket charge for each =  ̀ 1800÷ 3

=  ` 50 =  ` 600
3 ) 1 5 0 ( 5 0 3 ) 1 8 0 0 ( 6 0 0
   - 1 5   -  1 8
       0 0         0 0
     - 0 0       - 0 0
       0 0  0 0

       -   0 0
                      0

1)  Do the following.
     a) 8×2      b)  24×8     c) 68×56      d) 386×7      e) 951×15      f) 253×14      g) 9685×20
2)  Do the following.
    a) 6 ÷ 2     b) 68 ÷ 7     c) 85 ÷ 3      d) 508 ÷ 4     e) 599 ÷ 13     f) 786 ÷ 16     g) 9501 ÷ 30
3)  In an apple box, there are 8 crates and in each crate there are 15 apples. How many
      apples are there in the box?
4) Product of two numbers is 560. One of the numbers is 10. Find the other number.
5) If ̀ 45000 are distributed equally among 20 old age pensioners, then how much amount
    will each get?
6) The cost 1 dozen books is `840. What is the cost of 1 book? (1 Dozen = 12)
7) Complete the table.

  Exercise   4

Item Price (per kg) in ̀ Quantity Total cost in `
Sugar

Ground nut

Red gram

Green gram

42 x 12 = 50442

135

90

75

12 kg

15 kg

8 kg

9 kg
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H�>·jáT« : ç|�Ü ÿ¿£Ø]¿ì njûT« ]È¹sÇw�H� #ó�¯̈ eT]jáTT {ìÂ¿{Ù #ó�¯̈ m+Ôá?

kÍsTT: yîTTÔáï+ ]È¹sÇw�H� #ó� ¨̄     R ` 150 {ìÂ¿{Ù #ó�¯̈ R ` 1800

ç|�r ÿ¿£Ø] ]È¹sÇw�H� #ó� ¨̄   R ` 150 ¸  3 ç|�r ÿ¿£Ø] {ìÂ¿{Ù #ó�¯¨ R ` 1800 ¸  3

    R ` 50 R ` 600

3 ) 1 5 0 ( 5 0 3 ) 1 8 0 0 ( 6 0 0

  - 1 5   - 1 8

   0 0 0 0

    - 0 0   - 0 0

     0 0   0 0

        - 0 0

        0

nuó²«d�+ -  4

1) �$ #ûjáT+&�.

n) 8×2 �) 24×8 �) 68×56 �) 386×7 �) 951×15  }) 253×14  �TT) 9685×20

2) �$ #ûjáT+&�.

n) 6÷2 �) 68÷7 �) 85÷3 �) 508÷4 �) 599÷13 }) 786÷16 �TT) 9501÷30

3) ÿ¿£ �|¾ýÙ u²Å£�à ýË 8 ç¹¿³T\T �H��sTT. ÿ¿ÃØ ç¹¿³TýË 15 �|¾ýÙà �H��sTT. nsTTÔû � �|¾ýÙ u²Å£�àýË �q�

yîTTÔáï+ �|¾ýÙà m�� ?

4) Âs+&�T d�+K«\ \�Æ+ 560. n+<�TýË ÿ¿£ d�+K« 10 nsTTÔû Âs+&�e d�+K«qT ¿£qT>=q+&�.

5) ` 45,000 \qT 20 eT+~ e�<�TÆ\Å£� |¾+#óáqT sÁÖ|�+ýË d�eÖq+>± |�+ºÔû, ÿ¿=Ø¿£Ø]¿ì eºÌq kõeTT� m+Ôá?

6) &�ÈqT |�Úd�ï¿±\ K¯<�T ` 840 nsTTq ÿ¿£ |�Úd�ï¿£+ K¯<�T m+Ôá? (1 &�ÈqT R12)

7) |�{ì¼¿£ |�P]ï #ûjáT+&�.

d�sÁTÅ£�  Kg <ó�sÁ (`) |�]eÖD+ yîTTÔáï+ kõeTT� (`)

#áÂ¿ØsÁ 42 12 ¿ì.ç>±. 42 x 12 = 504

 yûsÁTXèq>· 135 15 ¿ì.ç>±.

 ¿£+~|�|�ð 90 8 ¿ì.ç>±.

 �|d�sÁ|�|�ð 75 9 ¿ì.ç>±.
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Item Quantity Total cost in ` Cost  per kg in `

3kg 135

2kg 950

10kg 960

5kg 460

135 ÷ 3 = 45

8)   Complete the table.

Addition and subtraction of like fractions:

Jareena, Mary and Thanvi  are friends. Jareena has big chocolate. She distributed the chocolate
in the following way.

Mary       Thanvi      Jareena

Number of equal pieces in the big chocolate =   10

Number of  chocolate pieces Mary got =   3

Number of chocolate pieces Thanvi got =   3

Number of chocolate pieces Jareena got =   4

Fraction part taken by Mary = 3
10

Fraction part taken by Thanvi = 10
3

Fraction part taken by Jareena =  10
4

We know that!
If ‘ a

b ’ is fraction, then
‘a’ is called ‘numerator’

and ‘b’ is called
‘denominator’.

Jaggery

Ghee

Apples

Redgram



19ÔásÁ>·Ü ` 5  >·DìÔá+ÔÃ >·eT�ÔáTï

d�C²Ü _óH��\ d�+¿£\q+ eT]jáTT e«e¿£\q+ :

È¯H�, yûT¯ eT]jáTT Ôá�Ç eTT>·TZsÁÖ �d�V¾²ÔáT\T.È¯H� <�>·ZsÁ �|<�Ý #�Â¿¢{Ù �q�~. �yîT � #�Â¿¢{ÙqT ¿ì+~ $<ó�+>±

|�+º+~.

�|<�Ý #�Â¿¢{Ù ýË� d�eT uó²>±\ d�+K« R 10

yûT¯¿ì eºÌq #�Â¿¢{Ù eTT¿£Ø\ d�+K« R 3

Ôá�Ç¿ì eºÌq #�Â¿¢{Ù eTT¿£Ø\ d�+K« R 3

È¯H�¿ì eºÌq #�Â¿¢{Ù eTT¿£Ø\ d�+K« R 4

yûT¯ rd�TÅ£�q� _óq� uó²>·+ R 
3

10

Ôá�Ç rd�TÅ£�q� _óq� uó²>·+ R 10
3

È¯H� rqTÅ£�q� _óq� uó²>·+ R 10
4

eTqÅ£� Ôî\Td�T.

' a
b

' _óq�+ýË

'a' � \e+ n�

'b' � V�äsÁ+

n� n+{²sÁT.

8) |�{ì¼¿£qT |�P]ï #ûjáT+&�.

d�sÁTÅ£� |�]eÖD+ yîTTÔáï+ <ó�sÁ (`) 1 Kg. <ó�sÁ (`)

uÉ\¢+

 HîsTT«

 �|¾ýÙà

¿£+~ |�|�ð

yûT¯ Ôá�Ç È¯H�

3kg 135

2kg 950

10kg 960

5kg 460

135 ÷ 3 = 45
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We know that fractions with same denominators are called “like fractions”

3
10

 and 4
10  are like fractions

Can you give 3 more like fractions with denominator 10?

2.    Find the sums.

Do these:
Example:  1

10
 + 3

10
 = 1+3

10  = 4
10

1
3

1
3

+ =

+ =

+ =

1
4

2
4

+ =

+ =

+ =

+ =

+ =

a)

b)

1.  Shade and write the fraction in boxes given below.

a)

b)

c)

d)

e)

f)

g)

h)

i)

6 2
9 9
2 7

11 11
3 2
7 7

+ =

+ =

+ =

4 3
7 7
8 2

15 15
9 8
22 22

+ =

+ =

+ =

25 13
49 49
25 53
81 81
42 21
97 97

+ =

+ =

+ =

a)

b)
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   d�eÖq V�äs�\T >·\ _óH��\qT »»d�C²Ü _óH��\Tµµ n+{²sÁT.

¿±�{ì¼ 
3

10
 eT]jáTT 

4
10

 »»d�C²Ü _óH��\T.µµ

10 V�äsÁ+ >·\ eTsÃ 3 d�C²Ü _óH��\T #î|�Î>·\y�?

d�C²Ü _óH��\ d�+¿£\q+ :

�<�V�²sÁD :  1
10

 + 3
10

 = 1+3
10  = 4

10

1.  ¿ì+<� �eÇ�&�q �|fÉ¼\ýË _óH��\T s�jáT+&�. sÁ+>·T yûjáT+&�.

2.  yîTTÔ�ï�� ¿£qT>=q+&�.

�$ #ûjáT+&� :

n)

�)

1
4

2
4

+ =

1
3

1
3

+ =

n)

�)

�)

�)

�)

})

�TT)

�TÖ)

m)

6 2
9 9
2 7

11 11
3 2
7 7

+ =

+ =

+ =

4 3
7 7
8 2

15 15
9 8
22 22

+ =

+ =

+ =

25 13
49 49
25 53
81 81
42 21
97 97

+ =

+ =

+ =

+

+ =

+ =

+ =

=
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Do these:

1)  Do the following.
 a)   4578 +121 b)  897+9547 c)  9897+6027  d)   5240 + 253 + 32 + 5

2)    Yaswanth has `685, Srikrishna has 13 times more than Yaswanth’s amount. Find the
       amount with Srikrishna.

  Exercise   5

3
2

3
3

-

4
1

4
3

-

Subtraction of like fractions:-

3
4

3
3

=

=

=

=

Example: 8 7
10 10

-  = 8 7
1 0
- = 1

10

a)

b)

1.  Shade and write the fraction in boxes given below.

a)

b)

=

=

=

=

2.  Find the difference.

a) 9 2
11 11

-  =

b) 5 3
11 11

-  =

c) 8 4
9 9

-  =

d) 7 2
10 10

-  =

e) 11 3
16 16

-  =

f) 9 5
20 20

-  =

g) 13 10
30 30

-  =

h) 21 11
40 40

-  =
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d�C²Ü _óH��\ e«e¿£\q+ :

�<�V�²sÁD : 
8 7
10 10

-  = 8 7
1 0
- = 1

10

1.  _óH��\qT s�jáT+&�. sÁ+>·T yûjáT+&�.

2.  uóñ<��� ¿£qT>=q+&�.

nuó²«d�+  -   5

1) �$ #ûjáT+&�.

n ) 4578 + 121 �) 897 + 9547 �) 9897 + 6027 �) 5240 + 253 + 32 + 5

2) jáTXøÇ+ÔY e<�Ý `685 �H��sTT. l¿£�w�� e<�Ý jáTXøÇ+ÔY e<�Ý �q� kõeTT� ¿£+fñ 13 Âs³T¢ mÅ£�Øe>± �H��sTT.

nsTTq l¿£�w�� e<�Ý �q� kõeTT� m+Ôá?

�$ #ûjáT+&� :

n) 9 2
11 11

-  =

�) 5 3
11 11

-  =

�) 8 4
9 9

-  =

�) 7 2
10 10

-  =

�) 11 3
16 16

-  =

}) 9 5
20 20

-  =

�TT) 13 10
30 30

-  =

�TÖ) 21 11
40 40

-  =

n)

�)

=

=

=

=

3
2

3
3

-

4
1

4
3

-3
4

3
3

=

=

=

=

n)

�)
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3) In a village,  the number of  females is  250 more than that  of  males.  If  the number of
males is 1590, find the population in the village.

4) Sum of two numbers is 7680. One of the two numbers is 2519. Find the other number.

5) Do the following.

a)  342 x 12 b) 674 x 35 c) 704 x 67 d) 456 x 25 e) 508 x 68

6) The cost of a fan is ` 685 and a table is ` 2250. Find the total cost of  2 fans and 3
tables.

7) The cost of a paint bucket was `750. Lalitha wanted to paint her house, so she bought
5 buckets. How much amount did she pay for 5 buckets of paint?

8) A pair of shoes costs `250. A donar wants to donate shoes for 32 children in a school.
Find how much amount will he require to buy shoes?

9) Do the following.

a) 385 ÷  5 b) 406 ÷ 6 c) 790 ÷ 12

d) 500 ÷ 25 e) 786 ÷ 50 f) 901 ÷ 43

10) If 125 chocolates were distributed equally among 25 members, find how many choco-
lates will each get?

11) Do the following.

a) 10
4

10
3

+ b) 8
3

8
4

+ c) 8
2

8
7

- d) 9
1

9
4

-

12) Ravi read 1
4

  th of the pages in a book. How much part is yet to be completed in the
book?
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3) ÿ¿£ ç>±eT+ýË |�ÚsÁTw�§\ ¿£+fñ �dÓï\T 250 eT+~ mÅ£�Øe �H��sÁT. |�ÚsÁTw�§\ d�+K« 1590 nsTTÔû �  ç>±eT

ÈH�uó² m+Ôá?

4) Âs+&�T d�+K«\ yîTTÔáï+ 7680. Âs+&�T d�+K«ýË ÿ¿£ d�+K« 2519. nsTTq Âs+&�e d�+K« m+Ôá?

5) �$ #ûjáT+&�.

n)  342 I 12 �)   674 I 35 �)  704 I 67

�) 456 I 25 }) 508 I 68

6) ÿ¿£ b�Í«H� K¯<�T ` 685. fñ�TýÙ K¯<�T ` 2250. nsTTq 2 b�Í«qT¢, 3 fñ�TýÙà yîTTÔáï+ K¯<�T m+Ôá?

7) ÿ¿£ sÁ+>·T �Â¿{Ù K¯<�T ̀  750. \*Ôá Ôáq �\T¢ n+Ôá{ì¿¡ sÁ+>·T yûjáT<�\#áT¿=q�~. 5 sÁ+>·T �Â¿{Ù\qT ¿=H�\+fñ

�yîT #î*¢+#áe\d¾q kõeTT� m+Ôá?

8) ÿ¿£ ÈÔá �Ö³¢ $\Te `250. ÿ¿£ <�Ôá 32 eT+~ $<�«sÁT�\Tq� ÿ¿£ bÍsÄÁXæ\ýË �Ö³T¢ �y�Ç\qTÅ£�H��&�T.

nsTTÔû y�{ì� ¿=q&��¿ì m+Ôá kõeTT� ¿±y�*?

9) �$ #ûjáT+&�.

n) 385 ÷ 5 �)  406 ÷ 6 �)  790 ÷ 12

�) 500 ÷ 25 � 786 ÷ 50 }) 901 ÷ 43

10) 125 #�Â¿¢³¢qT 25 eT+~¿ì d�eÖq+>± |�+ºÔû, ÿ¿=Ø¿£Ø]¿ì m�� #�Â¿¢³T¢ ekÍïsTT?

11) �$ #ûjáT+&� :

n) 10
4

10
3

+ �) 8
3

8
4

+ �) 8
2

8
7

- �) 9
1

9
4

-

12) sÁ$ ÿ¿£ |�Úd�ï¿£+ýË 
1
4
 uó²>·+ �|J\T #á~y�&�T. nsTTÔû sÁ$ � |�Úd�ï¿£+ýË �+¿£qÖ #á<�ee\d¾q uó²>·+ m+Ôá?
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5Chapter
My number world

Population of
Katarupalli Village = 3,391
Gandlapenta Mandal = 24,118
Anantapuram Dist. = 40,83,315

One lakh = 1,00,000

2
Rekha and Harsha are studying 5th class. Their class teacher asked them to collect the

information of population of their Village/ward, Mandal and District from their Village
Panchayat. They went to the village Panchayat and collected the information.

Grama Panchayat
Katarupalli

Collect and write the
population of your

Village: ..................

Mandal: ..................

District: ..................

What is the population of Katarupalli village?
What is the population of Gandlapenta mandal?
Can anyone say the population of Anantapuramu district?

It has more than five digits. You have learned up to 5-digit numbers only in your
previous class. Now you will learn numbers with 6-digits and more.
Lakh:
Teacher: What is the greatest 5-digit number?
Student: It is ninety nine thousand nine hundred and ninety nine.
Teacher: What is one more than 99,999?
Student: It is hundred thousand.
Teacher: It is also called as One lakh.
              In the same way, 2,00,000 is read as two lakhs,

99,999
+1

100,000

No sir!
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5n<ó�«jáT+

H� d�+U²« ç|�|�+#á+

¹sK eT]jáTT V�²sÁü\T 5e ÔásÁ>·Ü #á<�TeÚÔáTH��sÁT. y�Þøß ÔásÁ>·Ü �bÍ<ó�«jáTT&�T MT ç>±eT/y�sÁT¦/ eT+&�\

eT]jáTT �ý²¢ ÈH�uó² d�eÖ#�s��� ç>±eT |�+#�sTTr qT+&� �d¿£]+#áeT� #îbÍÎ&�T. y�]<�ÝsÁÖ ç>±eT |�+#�sTTÜ

yî[ß ÈH�uó² $es�\qT �d¿£]+#�sÁT. MTsÁT Å£L&� |�]o*+#á+&�.

¿ì+~ y�{ì ÈH�uó² $es�\T

�d¿£]+º s�jáT+&�.

MT ç>±eT+ : ..................

MT eT+&�\+: ..................

MT �ý²¢ : ..................

ÈH�uó²
¿£{²sÁT|�*¼ R 3391
>±+&�¢�|+³ R24,118
nq+Ôá |�ÚsÁ+ �ý²¢
             R 40,83,315

ç>±eT |�+#�sTTÜ
¿£{²sÁT|�*¢

¿£{²sÁT|�*¢ ç>±eT ÈH�uó² m+Ôá ?

>±+&�¢�|+³ eT+&�\ ÈH�uó² m+Ôá ?

MTýË meÂsÕH� nq+Ôá|�ÚsÁ+ �ý²¢ ÈH�uó² m+ÔÃ #î|�Î>·\s� ?

B�ýË ×<�T n+Â¿\ ¿£H�� mÅ£�Øe �H��sTT.

�+ÔáÅ£�  eTT+<�T ÔásÁ>·ÔáT\ýË eTq+ H�\T>·T n+Â¿\T, eT]jáTT, ×<�T n+Â¿\ d�+K«\ >·T]+º Ôî\Td�TÅ£�H��eTT.

�|�ð&�T eTq+ �sÁT n+Â¿\ d�+K«\T eT]jáTT n+Ôá¿£+fñ �|<�Ý d�+K«\ >·T]+º

Ôî\Td�TÅ£�+<�+.

\¿£�:

{¡#ásY : ×<�T n+Â¿\ $T¿£Ø* �|<�Ýd�+K« @~?

$<�«]Æ : Ô=+uóÉÕ Ô=$T�~ yû\ Ô=$T�~ e+<�\ Ô=+uóÉÕ Ô=$T�~.

{¡#ásY : 99,999 ¿£H�� 1 mÅ£�Øe >·\ d�+K« @~.

$<�«]Æ : qÖsÁT yû\T

{¡#ásY : B�Hû ÿ¿£ \¿£� n+{²sÁT.

�<û $<ó�+>± 2,00,000 Âs+&�T \¿£�\T n� #á<�TeÚÔ�+.

ÿ¿£ \¿£�  = 1,00,000

¿±<�T kÍsY!

99,999
+1

100,000

2
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3,00,000 is read as ___________ 4,00,000 is read as ___________
5,00, 000 is read as ___________ 6,00,000  is read as ___________
7, 00,000 is read as ___________ 8,00,000  is read as ___________
9,00,000 is read as ___________ 4,50,000 read as ______________

We read 4,53,258 as Four lakh, fifty three thousand, two hundred and fifty eight.
               7,49,192 is read as ______________________________________

Do these

1) Read the numbers 3,51,645 and 9,38,715.
2) Write any five 6-digit numbers and read.

Tenlakh= 10,00,000

Do these

1) Read the numbers 65,14,852 and 29,36,429.
2) Write any five 7-digit numbers and read.

Activity-   1

Let us draw seven concentric circles on the floor.
Name the circles as ‘ones’, ‘tens’, ‘hundreds’,... from inner most to outer most circles.
Each time a student comes and keeps
one stone - in ‘ones’ circle
five stones - in ‘tens’ circle
two stones - in ‘hundreds’ circle
Eighth student has to say the number.

Ten-lakh:  We know that 9,99,999 is the largest six digit number.
If we add one more to this one, we will get 10,00,000.
It is the smallest 7-digit number and read as ten lakh.
20,00,000 read as __________ 30,00,000 read as __________
40,00,000 read as __________ 50,00,000 read as __________
60,00,000 read as __________ 70,00,000 read as ___________

Example: We read the number 75,29,386  as seventy five lakh twenty nine thousand three
                hundred and eighty six.

9,99,999
+1

10,00,000
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1) � d�+K«\qT #á<�e+&� 3,51,645 eT]jáTT 9,38,715

2) @yîÕq ×<�T, �sÁT n+Â¿\ d�+K«\T s�jáT+&�, #á<�e+&�.

|�~ \¿£�\T : �sÁ+Â¿\ $T¿ìØ* �|<�Ý d�+K« 9,99,999 n� eTqÅ£� Ôî\Td�T.

B�¿ì 1 ¿£*|¾q 10,00,000 bõ+<�e#áTÌ. �~ @&�+Â¿\ $T¿ìØ* ºq� d�+K«.

B�� |�~ \¿£�\T n� #á<�TeÚÔ�+.

¿ì+~ y�{ì� #á<�e+&�.

20,00,000 �ý² #á<�y�* R  ........................... 30,00,000 �ý² #á<�y�* R ...........................

40,00,000 �ý² #á<�y�* R ........................... 50,00,000 �ý² #á<�y�* R ...........................

60,00,000 �ý² #á<�y�* R ........................... 70,00,000 �ý² #á<�y�* R ...........................

3,00,000 R ........................... 4,00,000 R ...........................

5,00,000 R ........................... 6,00,000 R ...........................

7,00,000 R ........................... 8,00,000 R ...........................

9,00,000 R ........................... 4,50,000 R ...........................

4,53,258 qT H�\T>·T \¿£�\ jáÖuóÉÕeTÖ&�Tyû\ Âs+&�T e+<�\ jáÖuóÉÕ m�$T~ n� #á<�TeÚÔ�eTT.

7,49,192 qT �ý² #á<�TeÚÔ� ...........................................................................

�<� :` 75,29,386 »»&îuóÉÕÒ ×<�T \¿£�\ �sÁyîÕ Ô=$T�~ yû\ eTÖ&�T e+<�\ mquóÉÕ �sÁTµµ n� #á<�TeÚÔ�eTT.

1) � d�+K«\qT #á<�e+&� 65,14,825 eT]jáTT 29,36,429

2) @yîÕq ×<�T @&�T n+Â¿\ d�+K«\qT s�jáT+&�, #á<�e+&�.

|�³+ýË #áÖ|¾q $<ó�+>± @&�T e�Ô�ï\qT ^jáT+&�.

� e�Ô�ï\Å£� esÁTd�>± »ÿ¿£³T¢µ |�<�T\T, e+<�\T ................ n� �|sÁT¢ �|³¼+&�.

ÿ¿=Ø¿£Ø $<�«]� ÿ¿=Ø¿£ØkÍ] eºÌ s�ÞøßqT ÿ¿=Ø¿£Ø e�Ôáï+ýË (|�³+ýË #áÖ|¾q $<ó�+>±) �+º yîÞ²ï&�T.

ÿ¿£³¢ e�Ôáï+ýË ÿ¿£ s�sTT�, |�<�T\ e�Ôáï+ýË ×<�T s�ÞøßqT, e+<�\ e�Ôáï+ýË Âs+&�T s�ÞøßqT ........ �ý² �|sÁTÌÔáÖ

bþÔ�sÁT. � ÔásÁTy�Ôá 8 e $<�«]� � d�+K«qT #á<�TeÚÔ�&�T.

�$ #ûjáT+& �

�$ #ûjáT+& �

eTÖ&�T \¿£�\T

|�~ \¿£�\T : 10,00,000

¿£�Ôá«+  `     1

9,99,999
+1

10,00,000
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Twenty two lakh, forty two thousand, two hundred and fifty one

1) Write the following numbers in words.

a)  1,25,602         b) 4,50, 536          c)  80,00,005    d) 5,58,942      e) 95,75,240

2) Write in number for the following.

a) Five lakh, twenty four thousand, three hundred and ninety six = _______________

b) Fourteen lakh, thirty five thousand and fifteen = __________________________

c) Seventy four lakh, sixty two thousand, four hundred and sixty five  = ___________

3) Read the following and answer.

Vemanna bought a house for `45,87,000 and a plot beside it, at `18, 56,000. He paid
a total amount of  `64,43,000.

The cost of house  (in words): ` ________________________________________

__________________________________________________________________

The cost of the plot (in words): `_______________________________________

__________________________________________________________________

The total cost of house and plot is (in words): ` ____________________________

__________________________________________________________________

  Exercise   1

ones

tens

hundred

thousand

ten thousand

lakh

ten lakh
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�sÁyîÕ Âs+&�T \¿£�\ q\uóÉÕ Âs+&�T yû\ Âs+&�T e+<�\ jáÖuóÉÕ ÿ¿£{ì.

1) � ¿ì+~ d�+K«\qT n¿£�s�\ýË s�jáT+&�.

n)  1,25,602 �) 4,50, 536 �)  80,00,005 �) 5,58,942 �) 95,75,240

2) � ¿ì+~ y�{ì� d�+K«\ýË s�jáT+&�.

n) ×<�T \¿£�\ �sÁyîÕ H�\T>·T yû\ eTÖ&�T e+<�\ Ô=+uóÉÕ �sÁT R ................

�) |�<ó��\T>·T \¿£�\ eTT�|ÕÎÛ ×<�Tyû\ |�~�V²qT R .................

�) &îuÉíÒÛ H�\T>·T \¿£�\ nsÁyîÕ Âs+&�T yû\ H�\T>·T e+<�\ nsÁyîÕ ×<�T R ........................

3) #á~$ d�eÖ<ó�H�\T s�jáT+&�.

yûeTq ÿ¿£ �+{ì� ̀  45,87,000 Å£� eT]jáTT |�¿£ØHû �q� U²° d��ý²�� ̀  18,56,000 Å£� ¿=H��&�T. �+<�TÅ£�

>±qT ` 64,43,000 #î*¢+#�&�T.

� �+{ì $\Te n¿£�s�\ýË `...........................................................................................

..................................................................................................................................

U²° d��\+ $\Te n¿£�s�\ýË `.........................................................................................

...................................................................................................................................

�\T¢ eT]jáTT U²° d��ý²\ yîTTÔáï+ <ó�sÁ n¿£�s�\ýË `..................................................................

................................................................................................................................

nuó²«d�+ -  1

ÿ¿£³T¢

|�<�T\T

e+<�\T

yû\T

|�~yû\T

\¿£�

|�~\¿£�\T
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Crore: What is the
greatest 7

digit
number ?

What is
one more
than this
number ?

It is one Crore.
And  One crore
is the smallest 8

digit number.

The greatest 8-digit number is ____________________

What happens when 1 is added to this?

And Ten crore is the smallest 9-digit number.

What is the biggest 9-digit number?

In the same way we can have  Hundred Crore, Thousand Crore……..etc.

Children, ones, tens, hundreds, thousands, ten-thousands, lakhs….etc are the places
in Indian Arabic system of numeration or Indian system of numeration which is
widely used in our country.

Ten crore:

Ten crore = 10,00,00,000

99,99,999
+1

1,00,00,000

99,99,999

9, 99, 99, 999
+1

10, 00, 00, 000
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¿Ã{ì

@&�T n+Â¿\

$T¿ìØ* �|<�Ý

d�+K« @~ ?

� d�+K«Å£�  1

mÅ£�Øe nsTTq

d�+K« @~?

   B�� ÿ¿£ ¿Ã{ì n+{²sÁT.

ÿ¿£¿Ã{ì m�$T~ n+Â¿\

    $T¿ìØ* ºq� d�+K«.

|�~ ¿Ã³T¢

m�$T~ n+Â¿\ $T¿ìØ* �|<�Ýd�+K« 

<��¿ì ÿ¿£{ì ¿£*|¾Ôû m+Ôá ?

eT]jáTT |�~¿Ã³T¢ nHû~ Ô=$T�~ n+Â¿\ $T¿ìØ* ºq�d�+K«

Ô=$T�~ n+Â¿\ $T¿ìØ* �|<�Ýd�+K« @~ ?

�<û $<ó�+>± e+<� ¿Ã³T¢, yîsTT«¿Ã³T¢ ... yîTT<�ýÉÕq$ �+{²sTT.

|¾\¢\Ö! ÿ¿£³T¢, |�<�T\T, e+<�\T, yû\T, |�~yû\T, \¿£�, |�~ \¿£�\T ... yîTT<�ýÉÕq kÍ�H�\qT, V¾²+<�Ö nsÁ_¿ù

d�+U²« eÖq+ ýñ<� uó²sÁrjáT d�+U²« eÖq+ ýË �|�jîÖÐkÍïeTT. � d�+U²« eÖH��� eTq<ûXø+ýË mÅ£�Øe>±

�|�jîÖÐkÍïeTT.

|�~ ¿Ã³T¢ = 10,00,00,000

99,99,999

99,99,999
+1

1,00,00,000

9, 99, 99, 999
+1

10, 00, 00, 000
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Do you know?

1) The Hindu Arabic system contains not only upto Ten crores but also it contin-
ued to Hundred crores, thousand crores… etc.

2) We commonly put comma after hundreds at first, next ten-thousands, next ten-
lakhs... etc to read any number easily in Indian system.

2.2:- Indian-Arabic system of numeration (Indian system of numeration):-

From the above discussion, we can form a table of places according to Indian system of
numeration as follows…..

In words:- Fourteen crore ninety five lakh ninety seven thousand eight hundred and seventy
two.
Standard form ( Short form) :-  14, 95, 97, 872

The following place value chart can help to explain what the number means in Indian system

10,00,00,000 1,00,00,000 10,00,000 1,00,000 10,000 1,000 100 10 1

Ten Crore Crore Ten Lakh Lakh
Ten

Thousand Thousand Hundred Ten One

Place

10,00,00,
000

1,00,00,
000 10,00,000 1,00,000 10,000 1,000 100 10 1

1 4 9 5 9 7 8 7 2
1x10,00,0

0,000
4x1,00,0

0,000
9x10,00,

000
5x1,00,0

00 9x10,000 7x1,000 8x100 7x10 2x1

10,00,00,
000

4,00,00,
000

90,00,00
0 5,00,000 90,000 7,000 800 70 2

14,00,00,000 95,00,000 97,000 872

Ten Crore Crore Ten Lakh Lakh Ten thousand Thousand Hundred Ten One

Fourteen crore Ninety five lakh Ninety seven
thousand

Eight hundred and
seventy two

Place

Number

Place value
of each

digit

Number in
words
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2.2 V¾²+<�Ö d�+U²« eÖq+ (uó²sÁrjáT d�+K« eÖq+)

V¾²+<�Ö d�+U²« eÖq+(uó²sÁrjáT d�+U²« eÖq+) ýË� kÍ�H�\ $\Te\qT |�{ì¼¿£ýË �q� $<ó�+>± #áÖ|�ÚÔ�+.

MTÅ£� Ôî\TkÍ ?
1. ¿Ã³T¢, |�~ ¿Ã³¢ kÍ�H�\ÔÃ eTTÐjáTÅ£�+&� e+<�¿Ã³T¢, yû\¿Ã³T¢, \¿£�¿Ã³T¢ ................... �ý²¹>

�+{²sTT.

2. �|<�Ý d�+K«\qT Ôû*¿£>± #á<�e&��¿ì d�+K«\ eT<ó�«ýË ¿±eÖ\qT �+#áTÔ�eTT. yîTT<�{ì>± e+<�\ kÍ�q+,

ÔásÁTy�Ôá, |�~yû\kÍ�q+ e<�Ý �|�jîÖÐkÍïeTT. ÔásÁTy�Ôá, |�~ \¿£�\ kÍ�q+, ÔásÁTy�Ôá ............. ¿±eÖ\qT

(,) �|�jîÖÐkÍïeTT.

V¾²+<�Ö d�+U²« eÖq+ ç|�¿±sÁ+ ÿ¿£ d�+K«qT kÍ�q $\Te\ |�{ì¼¿£ �<ó�sÁ+>± ¿ì+~ $<ó�+>± $e]kÍïeTT.

|�~

¿Ã³T¢

k
Í�q

+

¿Ã{ì
|�~

\¿£�\T
\¿£�

yû\T
e+<�\T

|
�<
�T\

T

ÿ
¿
£³
T¢|�~

yû\T

|�~ yû\T

kÍ�q+

|�~ ¿Ã³T¢ ¿Ã{ì |�~ \¿£�\T \¿£� yû\T |�<�T\T ÿ¿£³T¢e+<�\T

d�+K«

ÿ¿=Ø¿£Ø n+Â¿

jîTT¿£Ø kÍ�q

$\Te

 d�+K«ýË

n¿£�s�\ýË |�<��\T>·T ¿Ã³T¢ Ô=+uóÉÕ ×<�T \¿£�\T Ô=+uóÉÕ @&�T yû\T m�$T~ e+<�\ &îuÉíÒÛ Âs+&�T

|�<��\T>·T ¿Ã³¢ Ô=+uóÉÕ ×<�T \¿£�\ Ô=+uóÉÕ @&�Tyû\ m�$T~ e+<�\ &îuÉíÒÛ Âs+&�T n� #á<�TeÚÔ�+.

çbÍeÖDì¿£ sÁÖ|�+/ d�+¿ì�|�ï sÁÖ|�+: 14,95,97,872

10,00,00,000 1,00,00,000 10,00,000 1,00,000 10,000 1,000 100 10 1

10,00,00,
000

1,00,00,
000 10,00,000 1,00,000 10,000 1,000 100 10 1

1 4 9 5 9 7 8 7 2
1x10,00,0

0,000
4x1,00,0

0,000
9x10,00,

000
5x1,00,0

00 9x10,000 7x1,000 8x100 7x10 2x1

10,00,00,
000

4,00,00,
000

90,00,00
0 5,00,000 90,000 7,000 800 70 2

14,00,00,000 95,00,000 97,000 872
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Number in standard form:- 36, 54, 36, 123
Expanded form:-
30,00,00,000 + 6,00,00,000 + 50,00,000 + 4,00,000 + 30,000 + 6,000 + 100 + 20 + 3

Number in words:-
Thirty six crore fifty four lakh thirty six thousand one hundred and twenty three.

Expanded form:-

(1x10,00,00,000) + (4x1,00,00,000) + (9x10,00,000) + (5x1,00,000) + (9x10,000) +
(7x1,000) + (8x100) + (7x10) + (2x1)
= 10,00,00,000 + 4,00,00,000 + 90,00,000 + 5,00,000 + 90,000 + 7,000 + 800 + 70 + 2
=  One ten crore + four crores +  nine ten lakhs + five lakhs + nine ten thousands +
    seven thousands + eight hundreds + seven tens + two

Do these

   1) Write the following numerals in standard form and also write in words.
a)  721594 b)  4632584 c) 73156324 d) 407523436

   2) Express the following numbers in expanded form.
a)  7,34,254 b)  42, 63, 456 c) 40,63,52,456 d) 73,45,46,800

a) Observe the following representation of a number on  spike-abacus.
Example:-

Activity - 2

TC Cr TL L TTh Th H T O
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$d�ï�ÔásÁÖ|�+ :

1) ¿ì+~ d�+K«\qT çbÍeÖDì¿£ sÁÖ|�+ eT]jáTT n¿£�sÁ sÁÖ|�+ýË s�jáT+&�.

n)  721594 n)  4632584 �)  73156324 �)  407523436
2) ¿ì+~ d�+K«\qT $d�ï�ÔásÁÖ|�+ýË s�jáT+&�.

n)  7,34,254 �)  42, 63, 456 �) 40,63,52,456 �) 73,45,46,800

n) ¿ì+~ çbÍÜ�<ó�«|�sÁºq |�Pd�\ #áç³+ýË� d�+K«\qT |�]o*+#á+&�.

    �<� :`

d�+U²« çbÍeÖDì¿£ sÁÖ|�+ : 36,54,36,123

$d�ï�Ôá sÁÖ|�+ :  30,00,00,000 G 6,00,00,000 G 50,00,000 G 4,00,000 G 30,000 G 6,000 G

100 G 20 G 3

n¿£�sÁ sÁÖ|�+ : eTT�|íÎÛ �sÁT ¿Ã³T¢ jáÖuóÉÕH�\T>·T \¿£�\ eTT�|íÎÛ �sÁT yû\ qÖ³ �sÁyîÕ eTÖ&�T.

¿£�Ôá«eTT 2

�$ #ûjáT+&� :

¿£�Ôá«+  `     2

|
�~

¿
Ã³

T¢

¿
Ã{

ì

|
�~

\
¿
£�\
T

\
¿
£�

|
�~

y
û\
T

 y
û\
T

e
+
<
�\
T

|
�<
�T\

T

ÿ
¿
£³
T¢

(1x10,00,00,000) + (4x1,00,00,000) + (9x10,00,000) + (5x1,00,000) + (9x10,000) +
(7x1,000) + (8x100) + (7x10) + (2x1)
= 10,00,00,000 + 4,00,00,000 + 90,00,000 + 5,00,000 + 90,000 + 7,000 + 800 + 70 + 2
=  1 |�~ ¿Ã³T¢ G 4 ¿Ã³T¢ G 9 |�~ \¿£�\T G 5 \¿£�\T G 9 |�~ yû\T G 7 yû\T G 8 e+<�\T G 7 |�<�T\T G Âs+&�T ÿ¿£³T¢
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b)  Write the standard form, expanded form and number name for the number represented
     on spike-abacus.

Number in standard form:  ........................................................................................................

...........................................................................................................................................

Expanded form: .....................................................................................................................

...........................................................................................................................................

Number in words:  .................................................................................................................

...........................................................................................................................................

1) Draw the spike-abacus for the following numbers in your notebook.
1) 54,56,705              2) 6,27,00,045              3) 72,61,50,305

2) Write the numerals in standard form for the following number names.
a) Twenty five lakh five thousand eight hundred and forty one.

................................................................................................
b) Five crore twenty lakh six thousand two hundred and five.

................................................................................................
c) Ninety one crore sixty seven lakh thirty five thousand eight hundred

and forty two.
................................................................................................

3) Write the numerals in standard form for the following expanded forms.
a) 60,00,000 + 0 + 50,000 + 1,000 + 0 + 0 + 8 = ......................................
b) 70,00,00,000 + 30,000 + 5,000 + 400 + 3 = ......................................
c) 20,00,00,000 + 80,00,000 + 40,000 + 500 + 1 = ......................................

Do these

TC Cr TL L TTh Th H T O
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�) |�Pd�\ #áç³+ýË |�Pd�\ �<ó�sÁ+>± $d�ï�Ôá, d�+¿ì�|�ï eT]jáTT n¿£�sÁ sÁÖbÍ\qT s�jáT+&�.

çbÍeÖDì¿£  sÁÖ|�+ : .................................................................................................................

...........................................................................................................................................

$d�ï�Ôá sÁÖ|�+ : ....................................................................................................................

........................................................................................................................................

n¿£�sÁsÁÖ|�+ : .......................................................................................................................

........................................................................................................................................

(1) ¿ì+~ d�+K«\Å£� d�]bþjûT |�Pd�\ #áç³+ MT HÃ³T |�Úd�ï¿£+ýË ^jáT+&�.

n) 54,56,705        �) 6,27,00,045         �) 72,61,50,305

(2) ¿ì+~ n¿£�sÁ sÁÖ|�+ýË� d�+K«\qT çbÍeÖDì¿£ sÁÖ|�+ýË s�jáT+&�.

n) �sÁyîÕ ×<�T \¿£�\ ×<�T yû\ m�$T~ e+<�\ q\uóÉÕ ÿ¿£{ì.

................................................................................................

�) ×<�T ¿Ã³¢ �sÁyîÕ \¿£�\ �sÁT yû\ Âs+&�T e+<�\ ×<�T.

................................................................................................

�) Ô=+uóÉÕ ÿ¿£Ø ¿Ã³T¢ nsÁyîÕ @&�T \¿£�\ eTT�|íÎÛ ×<�T yû\ m�$T~ e+<�\ q\uóÉÕ Âs+&�T.

................................................................................................

(3) ¿ì+~ $d�ï�Ôá sÁÖ|�+ýË �q� d�+K«\qT çbÍeÖDì¿£ sÁÖ|�+ýË s�jáT+&�.

n) 60,00,000 G 0 G 50,000 G 1,000 G 0 G 0 G 8 R ......................................

�) 70,00,000 G 30,000 G 5,000 G 400 G 3 R ......................................

�) 20,00,00,000 G 80,00,000 G 40,000 G 500 G 1 R ....................................

�$ #ûjáT+&� :

|
�~

¿
Ã³

T¢

¿
Ã{

ì

|
�~

\
¿
£�\
T

\
¿
£�

|
�~

y
û\
T

 y
û\
T

e
+<

�\
T

|
�<
�T\

T

ÿ
¿
£³
T¢
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Let's draw a table as shown above on the black board. Now come and write the
digits in the boxes one after one starting from ones place as you desired with students.
As soon as the ninth child writes his digit in ten-crores box, he has to read out the
number so formed. Let all should continue the play. This game can also be played with
two groups.

1) Write the following numerals in standard form using commas (,) in Indian Arabic system.
a) 24536192 b) 512483427 c) 205030401 d) 900000100

2) Write the following numerals in words.
a) 7,29,47,542  b) 93,53,26,491      c) 70,30,10,400      d) 30,00,02,000

3) Write expanded form for the following numerals.
a) 3, 49,85,294            b) 72,47,27,144      c) 50,23,80,050 d) 90,07,00,020

4) Write the number in standard for the following.
a) Forty five lakh thirty three thousand six hundred and eighty four.
b)Twenty five core seventy thousand five hundred.
c)5crore+ 2 ten lakh+ 9 lakh+ 4 ten thousand+ 2 thousand+ one hundred+ 2 ten+ 8one
d)9 ten crore + 7 crore + 8 ten lakh + 5 ten thousand + 4 hundred + 1 one.
e) 20,00,00,000 + 4,00,00,000 + 50,00,000 + 3,00,000 + 40,000 + 5,000 + 300 +70 +9
f) 80,00,00,000 + 5,000 + 3

5) Read the following and answer the questions.
a)The female population of Uttar Pradesh state is 9,49,85,062 and the male population
is 10,45,96,415 according to 2011 census, and the total population is 19,95,81,477.
a)Write number-name of the female population of Uttar Pradesh state.
b)Write expanded form of the male population of the state.
c)Write number-name and expanded forms of the total population of the state.

6) The distance between Sun to our planet Earth is fourteen crore, ninety five lakh, ninety
seven thousand, eight hundred and seventy kilo- meters.
Write the above number-name form as standard form and also write in expanded form.

  Exercise   2

TC Cr LTL TTh Th H T O
Let’s Play
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1) ¿ì+~ d�+K«\qT ¿±eÖ\qT (,) �|�jîÖÐ+º çbÍeÖDì¿£ sÁÖ|�+ýË V¾²+<�Ö d�+U²«eÖq çbÍeÖDì¿£sÁÖ|�+ýË

s�jáT+&�.

n) 24536192 �) 512483427 �) 205030401 �) 900000100

2) ¿ì+~ d�+K«\qT n¿£�sÁ sÁÖ|�+ýË s�jáT+&�.

n) 7,29,47,542 �) 93,53,26,491 �) 70,30,10,400 �) 90,07,00,020

3) ¿ì+~ d�+K«\qT $d�ïsÁD sÁÖ|�+ýË s�jáT+&�.

n) 3,49,85,249 �) 72,47,27,144 �) 50,23,80,050 �) 90,07,00,020

4) ¿ì+~ d�+K«\qT çbÍeÖDì¿£ sÁÖ|� d�+K«\T>± s�jáT+&�.

n) q\uóÉÕ ×<�T \¿£�\ eTT�|íÎÛ eTÖ&�T yû\ �sÁTe+<�\ mquóÉÕ H�\T>·T

�) �sÁyîÕ ×<�T¿Ã³¢ &îuÉíÒÛ yû\ ×<�Te+<�\ sÁÖbÍjáT\T

�) ×<�T ¿Ã³T¢ G 20 \¿£�\T G 9 \¿£�\T G 40 yû\T G 2 yû\T G 1 e+<� G 2 |�<�T\T G 8 ÿ¿£³T¢

�) 90 ¿Ã³T¢ G 7 ¿Ã³T¢ G 80 \¿£�\T G 50 yû\T G 4 e+<�\T G ÿ¿£{ì

�) 20,00,00,000 G 4,00,00,000 G 50,00,000 G 3,00,000 G 40,000 G 5,000 G 300 G 70 G 9

}) 80,00,00,000 G 5,000 G 3

¿ì+~ y�{ì� #á~$ d�eÖ<ó�H�\T s�jáT+&�.

5) �ÔáïsÁ ç|�<ûXÙ s�h+ýË �dÓï\ ÈH�uó² 9,49,85,062. |�ÚsÁTw� ÈH�uó² 10,45,96,415. (2011 ÈH�uó² ýÉ¿£Ø\

ç|�¿±sÁ+) s��w�¼ yîTTÔáï+ ÈH�uó² 19,95,81,477.

n) �ÔáïsÁç|�<ûXÙ s�h+ýË� �dÓï\ ÈH�uó²qT n¿£�sÁ sÁÖ|�+ýË s�jáT+&�.

�) |�ÚsÁTw� ÈH�uó²qT $d�ïsÁD sÁÖ|�+ýË s�jáT+&�.

�) s�h+ yîTTÔáï+ ÈH�uó²qT n¿£�sÁ sÁÖ|�+ýËqT, $d�ïsÁD sÁÖ|�+ýËqT s�jáT+&�.

6) d�ÖsÁT«�¿ì uó�Ö$T¿ì eT<ó�« <�ÖsÁ+ |�<��\T>·T ¿Ã³¢ Ô=+uóÉÕ ×<�T \¿£�\ Ô=+uóÉÕ @&�T yû\ m�$T~ e+<�\ &îuÉíÒÛ

¿ìýË MT³sÁT¢.

�|Õ d�+K«\qT çbÍeÖDì¿£ sÁÖ|�+ýËqT, $d�ïsÁD sÁÖ|�+ýËqT s�jáT+&�.

�³ �&�TÅ£�+<�+.

�|Õ |�{ì¼¿£qT q\¢�\¢ MT<� ^d¾ ÿ¿=Ø¿£Ø  $<�«]Æ� |¾*º ÿ¿=Ø¿£Ø >·&�ýË ÿ¿=Ø¿£Ø d�+K«qT ÿ¿£³¢ kÍ�q+

qT+º $<�«]�¿ì qºÌq  d�+K«qT s�jáTeT� #îbÍÎ*. 9 e, $<�«]� esÁÅ£� (|�~¿Ã³¢ >·&� esÁÅ£�)  s�sTT+#�*.

s�d¾q n+Â¿\#û @sÁÎ&�q d�+K«\qT #á~$+#�*. � �³qT $<�«sÁT�\qT Âs+&�T ç>·Ö|�Ú\T>± #ûd¾ ÿ¿£ ç>·Ö|�Ú#û

n+Â¿\qT s�sTT+º, �+¿=¿£ ç>·Ö|�Ú#û #á~$+#�*.

    nuó²«d�+ `  2

|�. ¿Ã³T¢ ¿Ã{ì \¿£�|�. \¿£�\T |�. yû\T yû\T e+<�\T |�<�T\T ÿ¿£³T¢
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3 is in ten
crores place

7 is in crores
place

5 is in ten
lakhs place

2 is in
lakhs place

6 is in ten
thousands

place

3 is in
thousands

place
7 is in

hundreds
place

4 is in tens
place

9 is in
ones place

Fun activity:- Let's do Sankhyavadhanam

2.3:- Place value and Face values of a digit in a number:-
Place of digit:-
Ex:  In 5,46, 739, the place of  4 is ten thousands place.
Place value of digit:-
Ex: In 5,46,739, the place-value of 4 is  4x10 000 = 40 000, since 4 is in ten thousands place.
Face-value of digit:-
Ex: In 5, 46, 734, the face-value of 4 is 4.

The number is
......................

Place Ten thousands

Place- value

Face -value

40,000

4
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3 |�~ ¿Ã³¢

  kÍ�q+ýË �+~

7 ¿Ã³¢

kÍ�q+ýË �+~

5 |�. \¿£�\

  kÍ�q+ýË �+~

2 \¿£�\

  kÍ�q+ýË �+~

6 |�~. yû\

  kÍ�q+ýË �+~

  3 yû\

   kÍ�q+ýË �+~

 7 e+<�\

   kÍ�q+ýË �+~

 4 |�<�T\

   kÍ�q+ýË �+~

 9 ÿ¿£³¢

   kÍ�q+ýË �+~

 d�+K«

.........................

2.3 d�+K«ýË� ÿ¿£ n+Â¿ kÍ�q$\Te eT]jáTT d�V�²È$\Te:

n+Â¿ jîTT¿£Ø kÍ�q+ :`

�<� : 5,46, 739, d�+K«ýË 4 jîTT¿£Ø kÍ�q+ |�~yû\T.

n+Â¿ jîTT¿£Ø kÍ�q$\Te :`

�<� : 5,46, 739, d�+K«ýË 4 jîTT¿£Ø kÍ�q $\Te 4 I 10,000 R 40,000

 4 |�~ yû\ kÍ�q+ýË �+~.

n+Â¿ jîTT¿£Ø d�V�²È$\Te :`

�<� : 5,46, 739, d�+K«ýË 4 jîTT¿£Ø d�V�²È $\Te 4

 n+Â¿\ jîTT¿£Ø d�V�²È$\Te m|�ð&�Ö eÖsÁ<�T.

kÍ�q+

kÍ�q$\Te

d�V�²È$\Te

|�~ yû\T

ne<ó��

40,000

4

$HÃ<� ¿£�Ôá«+ : d�+U²«e<ó�q+



44 Class - 5  Maths Magic

Write place, place-value and face-value of the digit underlined in the following numbers.
      a) 43, 84,304           b) 43, 67,245          c) 68,98,23,052    d) 47, 63, 05, 100

Let's prepare flash-cards having digits from 0 to 9, 10, 20… 90, 100, 200… 900,
1000, 2000,… 9000 like this up to 90,00,00,000  (put commas in appropriate places).

Now write a number on board (ex: 43,52,16,978) and form the expanded form of
the number using the above flash cards as well as short form could also be formed using
the commas. (This activity can be used as group activity or individual activity.)

For example:
Write 43,52,16,978 on blackboard, students will select the cards as shown below and
arrange them for expanded form as well as standard form.

2.4:- Formation of numbers from given digits:-
v Forming greatest number, using given digits without repeating:-

To form the greatest number, we arrange the given digits in descending order.
Example:- Form the greatest 7-digit number by using the digits 0, 7, 4, 1, 3,6 and 2.
Sol:-  The descending order of digits is 7,6,4,3,2,1,0
Hence the greatest 7-digit number is 76,43,210.

v Forming the smallest number from the given digits without repetition:-
Case-1:- When none of the given digits is zero, we arrange the given digits in
ascending order to form smallest number.
Example:The smallest 8-digit number formed by using the digits 7, 1, 5, 2, 8,3,4 and 9
The ascending order of digits is 1,2,3,4,5,6,7,8,9
The smallest number is 1,23,45,789
Case-2:- When one of the given digits is zero in this case we put ‘0' at the second
place from left. We can fill the remaining places from left to right by the remaining
digits in ascending order.

Activity - 3

Do these

40,00,00,000 3,00,00,000 50,00,000 2,00,000 10,000 6,000 900 70 8
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¿ì+~ d�+K«ýË ^Ôá ^jáT�&�q n+Â¿\ jîTT¿£Ø kÍ�q+, kÍ�q$\Te, d�V�²È$\Te\qT s�jáT+&�.

n) 4384,304 �) 43,67,245

�) 68,9 8,23,052 �) 47,63,05,100

0 q+º 9,10,20,30,.......90,100,200,.....900,1000,2000....9,000 �ý² 90,00,00,000 ¿Ã³¢

esÁÅ£� cÍ¢wt ¿±sÁT¦\qT ÔájáÖsÁT #ûd�T¿Ãy�*.

q\¢�\¢�|Õq ÿ¿£ d�+K«qT (�<�: 43,52,16,978) s�d¾ $<�«sÁT�\#û bÍ¢wt ¿±sÁT¦\qT �|�jîÖÐ+º $d�ïsÁD

sÁÖ|�+ýËqT, çbÍeÖDì¿£ sÁÖ|�+ýË (d�+¿ì�|�ï sÁÖ|�+ýË) ¿±eÖ\qT �|�jîÖÐ+º ¿±sÁT¦\qT �|sÁÌeýÉqT. (� ¿£�Ôá«+qT

e«¿ìï>·Ôá, È³T¼ ¿£�Ôá«+>± #ûsTT+#áe#áTÌ)

�<� :` 43,52,16,978 d�+K«qT uËsÁT¦ MT<� s�d¾ $<�«sÁT�\T bÍ¢wt ¿±sÁT¼\qT �|�jîÖÐ+º $d�ïsÁD sÁÖ|�+ýËqT,

çbÍeÖDì¿£ sÁÖ|�+ (d�+¿ì�|�ïsÁÖ|�+) ýËqT ¿±sÁT¦\qT neT¹sÌ $<ó�+>± çbþÔáàV¾²+#á+&�.

2.4 �ºÌq n+Â¿\#û d�+K«\qT ÔájáÖsÁT#ûjáTT³.

v �ºÌq n+Â¿\qT �|�jîÖÐ+º �|<�Ýd�+K«\qT ÔájáÖsÁT#ûjáTT³ (y�&�q n+Â¿\qT Ü]Ð y�&�Å£�+&�)

�|<�Ý d�+K«\qT ÔájáÖsÁT #ûjáTT³, �ºÌq n+Â¿\qT nesÃV�²D ç¿£eT+ýË s�jáÖ*.

�<� :` 0,7,4,1,3,6 eT]jáTT 2 \ÔÃ @sÁÎ&û $T¿ìØ* 7 n+Â¿\ �|<�Ý d�+K«qT s�jáT+&� ?

kÍ<ó�q :` �ºÌq n+Â¿\ jîTT¿£Ø nesÃV�²D ç¿£eT+7,6,4,3,2,1,0 ¿±eÚq �ºÌq n+Â¿\ÔÃ @sÁÎ&û 7 n+Â¿\

$T¿ìØ* �|<�Ý d�+K« 76,43,210

v �ºÌq n+Â¿\qT �|�jîÖÐ+º ºq�d�+K«\qT ÔájáÖsÁT#ûjáTT³ (y�&�q n+Â¿\qT Ü]Ð y�&�Å£�+&�)

d�+<�sÁÒÛ+ ̀  1 �ºÌq n+Â¿ýË »»0µµ (d�TH��) ýñ¿£bþÔû �ºÌq n+Â¿\qT neT]Ì $T¿ìØ* ºq� d�+K«qT @sÁÎsÁT#áTÔ�eTT

�<� :` 7,1,5,2,8,3,4 eT]jáTT 9 \ÔÃ msÁÎ&û 8 n+Â¿\ $T¿ìØ* ºq� d�+K«.

kÍ<ó�q :` �ºÌq n+Â¿\ jîTT¿£Ø �sÃV�²D ç¿£eT+ :1,2,3,4,5,6,7,8,9 ¿±eÚq �ºÌq n+Â¿\ÔÃ @sÁÎ&û 8

n+Â¿\ $T¿ìØ* ºq� d�+K« 12,34,56,789

d�+<�sÁÒÛ+ ` 2 �ºÌq n+Â¿\ýË d�Tq� (0) �+fñ � d�Tq�qT m&�eT qT+º Âs+&Ã kÍ�q+ýË �+º ÔásÁTy�Ôá

n+Â¿\qT m&�eT qT+º Å£�&�¿ì �sÃV�²D ç¿£eT+ýË s�jáÖ*.

�$ #ûjáT+&� :

¿£�Ôá«+  `     3

40,00,00,000 3,00,00,000 50,00,000 2,00,000 10,000 6,000 900 70 8
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Do these

Example:- a) The smallest seven digit number formed by using the digits 1, 0, 3, 5, 6, 9
and 7 is 1035679.
b) The smallest 8- digit number formed by using the digits 7, 3, 0, 4, 2, 8, 6
and 9 is 2,03,46,789.

v Forming the smallest or the greatest number using given digits when repeating of
digits allowed:-
To write greatest number, form greatest number using the given digits each only

once without repeating. Then in the number so formed, now repeat highest digit in highest
places as allowed number of times to form the desired greatest number.
To write smallest number, form smallest number using the given digits each only once
without repeating. Then in the number so formed, now repeat the smallest digit in highest
places as allowed number of times to form the desired smallest number.
Example:- Write the greatest and smallest 5-digit numbers formed by using all the
digits 1, 6 and 9 if repeating allowed.
Sol: The greatest number = 99,961

The smallest number = 11,169

1)  Write greatest and smallest 7-digit numbers using the digits 4, 0, 3, 6, 2,
      5 and 9 without repeating.
2)  Write greatest and smallest 6-digit numbers using digits 4, 1, 0 and 3 by
     allowing any digit, any times repeat but use each digit at least once.

2.5:- Comparing and Ordering:-
Comparing large numbers.
1)  The number with more number of digits is greater (and the number with less number of
     digits is smaller.)
For example:  1)7,35,84,242 > 94,85,096

   2) 52,61,239 < 5,26,12,390
2) If the number of digits is same, compare the digits in the left most place. The number
    with the greatest left most digit is greater and the number with smallest left most digit is
    smaller.
For example:  1) 83,45,63,245 > 61,25,61,100

   2) 48,65,41,254 < 68,65,41,254
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�<� :` n) 1,0,3,5,6,9 eT]jáTT 7 n+Â¿\ÔÃ @sÁÎ&û $T¿ìØ* ºq� d�+K« 10,35,679

�) 7,3,0,4,2,8,6 eT]jáTT 9 n+Â¿\ÔÃ @sÁÎ&û 8 n+Â¿\ $T¿ìØ* ºq� d�+K« 2,03,46,789

v �ºÌq n+Â¿\qT |�Úqs�e�Ôá+ #ûd�Öï $T¿ìØ* ºq�, �|<�Ýd�+K«\qT @sÁÎsÁT#áT³

�|<�Ý d�+K«\qT s�jáT&��¿ì, �ºÌq n+Â¿\qT �|�jîÖÐ+º ÿ¿£kÍ] eÖçÔáyûT |�Úqs�e�Ôá+ #ûjáTÅ£�+&�

yîTT<�{ì>± �|<�Ýd�+K«qT @sÁÎsÁT#áT¿Ã+&�. n|�Ú&�T @sÁÎ&�q d�+K«ýË ¿±e\d¾q �|<�Ýd�+K«qT @sÁÎsÁ#á&��¿ì nÔá«~ó¿£

kÍ�H�\ÔÃ nÔá«~ó¿£ n+Â¿\qT nqTeTÜ+ºq�� kÍsÁT¢ |�Úqs�e�Ôá+ #ûjáÖ*. nÜ ºq�d�+K«qT s�jáT&��¿ì �ºÌq

n+Â¿\qT �|�jîÖÐ+º |�Úqs�e�Ôá+ #ûjáTÅ£�+&� ºq�d�+K«qT  sÁÖbõ+~+#�*. n|�ð&�T @sÁÎ&�q d�+K«ÔÃ ¿±e\d¾q

nÜ ºq�d�+K«qT @sÁÎsÁ#á{²�¿ì nÔá«~ó¿£ kÍ�H�\ýË nÜ ºq�d�+K«qT nqTeTÜ+ºq�� kÍsÁT¢ |�Úqs�e�Ôá+ #ûjáÖ*.

�<� :` 1,6 eT]jáTT 9 \qT �|�jîÖÐ+º 5 n+Â¿\ nÜ �|<� d�+K«qT s�jáT+&�.

kÍ<ó�q :` nÜ �|<�Ýd�+K« R 99,961

nÜ ºq�d�+K« R 11,169

n) 4,0,3,6,2,5 eT]jáTT 9\qT �|�jîÖÐ+º 7 n+Â¿\ nÜ �|<�Ýd�+K« eT]jáTT nÜ

ºq�d�+K«qT s�jáT+&�.

�) 4,1,0, eT]jáTT 3 \qT �|�jîÖÐ+º 6 n+Â¿\ nÜ �|<�Ý eT]jáTT nÜ ºq�d�+K«qT

s�jáT+&�. (ç|�Ü n+Â¿qT ¿£úd�+ ÿ¿£kÍÂsÕq �|�jîÖÐ+#�*)

2.5 bþ\Ì&�+ eT]jáTT ç¿£eT |�<�ÝÜ

�|<�Ýd�+K«\qT bþ\Ì&�+ :`

1) mÅ£�Øe n+Â¿\T �q� d�+K« �|<�Æ~. ÔáÅ£�Øe n+Â¿\T �q� d�+K« ºq�~.

�<� :` n) 7,35,84,242 >  94,85,096

 �) 52,61,239 <  5,26,12,390

2) n+Â¿\ d�+K« ÿ¹¿ý²>± �q�|�ð&�T, m&�eT yîÕ|�Úq �q� n+Â¿qT �|<�Ý kÍ�q+ÔÃ bþ\Ì+&�. n|�Ú&�T �|<�Ý n+Â¿ �q�~

�|<�Ýd�+K« ºq� n+Â¿ �+fñ ºq�d�+K« neÚÔ�sTT.

�<� :` n) 83,45,63,245 >  61,25,61,100

 �) 48,65,41,254 <  68,65,41,254

�$ #ûjáT+&� :
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My number is 32,54,62,419

My number is 74,00,52,103

Which is the biggest number ?

Ordering large numbers:
Let's understand the ordering of large numbers.
Example: Arrange the following numbers in the ascending and the descending orders.

 7,36,01,295;    80,34,51,276;    3,04,63,589;     81,72,345;    91,00,32,947
Solution:

Step-1:- Arrange the numbers by place-values.
Step-2:- Arrange the given numbers in descending order.

Hence, the numbers written in the ascending order is

81,72,345       3,04,63,589        7,36,01,295       80,34,51,276       91,00,32,947

The numbers written in the descending order is...

91,00,32,947   80,34,51,276     7,36,01,295         3,04,63,589        81,72,345

73601295

803451276

30463589

8172345

910032947

TC C TL L TTh Th H T o

7 3 6 0 1 2 9 5

8 0 3 4 5 1 2 7 6

3 0 4 6 3 5 8 9

8 1 7 2 3 4 5

9 1 0 0 3 2 9 4 7

Numbers
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H� d�+K« 32,54,62,419

H� d�+K« 74,00,52,103

@ d�+K« �|<�Ý~ ?

�|<�Ýd�+K«\qT esÁd� ç¿£eT+ýË s�jáT&�+.

�|<�Ýd�+K«\ ç¿£eÖ�� nsÁ�+ #ûd�TÅ£�+<�+!

�<� :` �ºÌq d�+K«\qT �sÃV�²D eT]jáTT nesÃV�²D ç¿£eT+ýË s�jáT+&�.

 7,36,01,295,    80,34,51,276,   3,04,63,589,     81,72,345,    91,00,32,947

kÍ<ó�q

kþbÍq+-1: kÍ�q$\Te ç|�¿±sÁ+ d�+K«\qT neTs�Ì*.

kþbÍq+-2: �ºÌq d�+K«\qT nesÃV�²D ç¿£eT+ýË neTs�Ì*.

�|�ð&�T d�+K«\qT �sÃV�²D ç¿£eT+ýË s�jáT>±.

81,72,345       3,04,63,589        7,36,01,295       80,34,51,276       91,00,32,947

d�+K«\qT nesÃV�²D ç¿£eT+ýË s�jáT>±.

91,00,32,947   80,34,51,276     7,36,01,295         3,04,63,589        81,72,345

|�~ ¿Ã³T¢ ¿Ã³T¢ |�~ \¿£�\T \¿£�\T |�~ yû\T yû\T e+<�\T   |�<�T\T      ÿ¿£³T¢d�+K«\T

7 3 6 0 1 2 9 5

8 0 3 4 5 1 2 7 6

3 0 4 6 3 5 8 9

8 1 7 2 3 4 5

9 1 0 0 3 2 9 4 7

73601295

803451276

30463589

8172345

910032947
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Do these

  Exercise    3

1. Compare the following numbers using the symbols < or  > in the blanks.

1) 48,34,635 ____2,84,00,000

2) 9,63,84,312 _____ 9,24,94,989

3) 42,35,68,943 _____ 42,35,19,045

4) 25, 25,25,252 ____ 25, 25, 25, 525

2. Arrange the following numbers in ascending and descending orders.

2345678      607810542       694317       84120079       498900351       902347016

1) Workout the following.

a) Write place, place-value and face-value for the underlined digits in the follow
ing numbers in Indian system.

1) 73,58, 942          2) 40,73,35,536            3) 82,45,63 125           4) 64,63,98,524

b) Which digit can be filled in the blank given in the number (47,_5,63,251) whose
place-value is 90,00,000?

c) Find five numbers such that the digit in tens place, lakhs place and ten crores
place, is 3 and remaining places have the same digit.

d) I am a 9 digit number. My ten crores place digit is two more than the digit in my
hundreds place and the digit in my thousands place is 5 more than the digit in my
hundreds place. If 3 is in my hundreds place and in remaining places are 1. who
am i?

2) Do the following problems.

1) Form the greatest and the smallest 5-digit numbers using the digits 8, 3, 9, 2 and
5 without repeating.

2) Form the greatest and the smallest 6-digit numbers using the digits 4, 5, 8, 7, 2
and 6 without repeating.



51ÔásÁ>·Ü ` 5  >·DìÔá+ÔÃ >·eT�ÔáTï

1. �ºÌq  d�+K«\qT >·TsÁTï\qT (< ýñ<� >) �|�jîÖÐ+º U²°\qT |�P]+#á+&�.

n)  48,34,635 ____2,84,00,000

�)  9,63,84,312 _____ 9,24,94,989

�)  42,35,68,943 _____ 42,35,19,045

�) 25, 25,25,252 ____ 25, 25, 25, 525

2. ¿ì+~ d�+K«\qT �sÃV�²D eT]jáTT nesÃV�²D ç¿£eT+ýË neTsÁÌ+&�.

2345678 607810542 694317 84120079 498900351      902347016

1. ¿ì+~ y�{ì� #ûjáT+&�.

n) ¿ì+<� ^Ôá ^d¾q n+Â¿\ jîTT¿£Ø kÍ�q+, kÍÆq$\Te eT]jáTT d�V�²È$\Te\qT s�jáT+&�. (V¾²+<�Ö

nsÁ_¿ù d�+U²«eÖq+ýË)

n) 73,58,942 �) 4073,35,536 �) 82,45,63,125 �) 64,63,98,524

�) 47,  5,63,251 d�+K«ýË� U²°ýË d�]jî®Tq n+Â¿qT |�P]+#á+&�. <�� kÍ�q $\Te 90,00,000.

�) |�~ ¿Ã³¢kÍ�q+ýË, \¿£�\ kÍ�q+ýË eT]jáTT |�<�T\ kÍ�q+ýË 3 n+Â¿qT �|�jîÖÐ+º, $TÐ*q kÍ�H�\ýË

@<îÕq ÿ¹¿ n+Â¿qT �|�jîÖÐ+º ×<�T d�+K«\qT s�jáT+&�.

�) HûH=¿£ 9 n+Â¿\ d�+K«qT. H� |�~ ¿Ã³¢ kÍ�q+ýË n+Â¿ e+<�\ kÍ�q+ýË� �q� n+Â¿¿£+fñ Âs+&�T

mÅ£�Øe eT]jáTT yû\kÍ�q+ýË �q� n+Â¿ e+<�\ kÍ�q+ýË� n+Â¿ ¿£H�� 5 mÅ£�Øe. H� e+<�\ kÍ�q+

ýË� n+Â¿ 3 $TÐ*q kÍ�H�\ýË ÿ¿£{ì ¿£\<�T. nsTTÔû HûHûe]� ?

2. ¿ì+~ d�eTd�«\qT kÍ~ó+#á+&�.

n) 8,3,9,2 eT]jáTT 5 n+Â¿\qT |�Úqs�e�Ôá+ #ûjáTÅ£�+&� 5 n+Â¿\ $T¿ìØ* �|<�Ýd�+K« eT]jáTT

ºq�d�+K«\qT s�jáT+&�.

�) 4,5,8,7,2 eT]jáTT 6 n+Â¿\qT |�Úqs�e�Ôá+ #ûjáTÅ£�+&� 6 n+Â¿\ $T¿ìØ* �|<�Ýd�+K«qT eT]jáTT

ºq�d�+K«\qT s�jáT+&�.

�$ #ûjáT+&� :

    nuó²«d�+  `   3
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3) Form the smallest and the greatest 8-digit numbers using the digits 1, 5, 3, 8,
6, 4, 7 and 2 without repeating.

4) Form the greatest and the smallest 7-digit numbers using the digits 5, 0, 8, 4,
3 and 7 (by repeating any one digit but use all digits at least once.)

5) Form the greatest and the smallest 6-digit even numbers using 5, 0, 2
and1(allowing any digit two times but use each digit at least once.)

3)      Compare the following numbers using  > or < or = in the blanks.

1) 87 83 93 790 ________ 8 29 80 7 58

2) 792849758 ________ 46758490

3) 90020403 ________ 400953400

4) 58694658 ________ 45100857

4) Arrange the following sets of numbers in the ascending order.

1)  2828335,  3537286,  1995764,   2989632,  42,86371

2)  1643468735,   102947026,   19385702,   148927131,  109125456

5) Arrange the following sets of numbers in the descending order.

1)  2003563,   19872003,   279868,   20016930

2)  748932165,   482930456,   69539821,   984326834,   289354124

2.6:- International system of numeration (British system of numeration):-

Now let's learn International system or British system of numeration, which is
slightly different from Indian system. It is widely used in International communications.

Places of International system of numeration.

Hundred
million

Ten mil-
lion Million Hundred

thousand
Ten

thousand
Thou-
sand

Hun-
dred Ten One or

Units

Pl
ac

e

100000000 10000000 1000000 100000 10000 1000 100 10 1



53ÔásÁ>·Ü ` 5  >·DìÔá+ÔÃ >·eT�ÔáTï

�) 1,5,3,8,6,4,7 eT]jáTT 2 n+Â¿\qT |�Úqs�e�Ôá+ #ûjáTÅ£�+&� 8 n+Â¿\ �|<�Ýd�+K«qT, ºq�d�+K«qT

s�jáT+&�.

�) 5,0,8,4,3 eT]jáTT 7 \ýË @<îÕq ÿ¿£ n+Â¿qT |�Úqs�e�Ôá+ #ûd¾, $TÐ*q n+Â¿\qT ÿ¿£kÍ] eÖçÔáyûT

�|�jîÖÐ+º, 7 n+Â¿\ $T¿ìØ* �|<�Ýd�+K« eT]jáTT ºq�d�+K«qT s�jáT+&�.

�) 5,0,2 eT]jáTT 1 \qT �|�jîÖÐ+º 6 n+Â¿\ $T¿ìØ* �|<�Ý d�]d�+K« eT]jáTT ºq� d�]d�+K«\qT

s�jáT+&�. ç|�Ü n+Â¿qT ÿ¿£kÍ] nsTTH� �|�jîÖÐ+#�*.

3.  U²°ýË d�]jî®Tq >·TsÁTï\qT (> ýñ<� <  ýñ<� R) �|�jîÖÐ+º ç¿ì+~ d�+K«\qT bþ\Ì+&�.

�)   878393790 82980758

�)   792849758 46758490

�)   90020403 400953400

�) 58694658 45100857

4. ¿ì+~ d�+K«\qT �sÃV�²D ç¿£eT+ýË s�jáT+&�.

�)   2828335, 3537286, 1995764, 2989632, 42,86371

�)   1643468735, 102947026, 19385702, 148927131, 109125456

5. ¿ì+~ d�+K«\qT nesÃV�²D ç¿£eT+ýË s�jáT+&�.

�)    2003563, 19872003, 279868, 20016930

�) 748932165, 482930456, 69539821, 984326834, 289354124

2.6 n+Ôás�¨rjáT d�+U²«eÖq+ (ç_{ìwt d�+U²«eÖq+)

�|�ð&�T n+Ôás�̈rjáT d�+U²«eÖq+ (ç_{ìwt d�+U²«eÖq+) HûsÁTÌ¿=+<�+. �~ V¾²+<�Ö` nsÁ_¿ù d�+U²«eÖH��¿ì

¿=~Ý>± _óq�+>± �+³T+~. �~ n+Ôás�̈rjáT d�eÖ#�sÁ eÖsÁÎ&�ýË $d�ï�Ôá+>± �|�jîÖÐ+#á�&�TÔáT+~.

n+Ôás�¨rjáT d�+U²«eÖq+ýË� kÍ�H�\T

k
Í�H

�\
T

e+<�

$T*jáTH�\T

e+<�

yû\T
|�~ yû\T |�<�T\Te+<�\T ÿ¿£³T¢

|�~

$T*jáTH�\T
$T*jáTH�\T yû\T

100000000 10000000 1000000 100000 10000 1000 100 10 1
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Note: We notice that up to ten thousands place, both the systems are alike. But there are

changes from lakhs place. (Here lakh is taken as Hundred thousand, ten lakh is taken as

Million, crore is taken as Ten million, ten crore is taken as Hundred million and so on.)

1) In the same way, we have Billions, trillions… etc followed by Millions.

2) We commonly put comma, firstly after hundreds, next hundred-thousands, next hundred-

millions, next hundred-billions…. etc to read any number easily in International system.

For example:  Numeral 735632150 is written in the International system as 735, 632, 150

and read as Seven hundred thirty five million six hundred thirty two thousand one  hundred

and  fifty. The number expanded as follows…

Example: Write standard form and number name for 720563042 in International system.

Sol: 720, 563, 042

Number in words: Seven hundred twenty million five hundred sixty three thousand and  forty
two.

Project work:

Collect the news papers of last week and pick out any ten large numbers.
Then write their standard forms, number in words and expanded forms
for them in both the systems of numeral.

7 3 5 6 3 2 1 5 0

7x100
000 000

3x10
000 000

5x1 000
000

6 x 100
000

3 x 10
000

2x1
000 1 x 100 5 x 10 0 x 1

700
000 000

30
000 000

5 000
000 600 000 30 000 2 000 100 50 0

Hundred
million

Ten
million Million

Hundred
thousand

Ten
thousand

Thou-
sand

Hun-
dred Ten

One or
UnitsPlace

Number

Place
Value

Number
in words

Seven hundred and thirty
five million

Six hundred and thirty two
thousand One hundred and fifty
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>·eT�¿£ :` n+Ôás�¨rjáT d�+U²«eÖq+, V¾²+<�Ö ` nsÁ_¿ù d�+U²«eÖH�ýË¢ |�~yû\ kÍ�q+ esÁÅ£� Âs+&�T |�<�ÆÔáT\ýË

ÿ¹¿ $<ó�+>± �+³T+~. \¿£�\ kÍ�q+ qT+º Âs+&�T d�+U²«eÖH�\Å£� Ôû&� ¿£q�&�TÔáT+~. n+Ôás�̈rjáT d�+U²«eÖq+ýË

\¿£�\ kÍ�q+ýË e+<�\ yû\T, |�~\¿£�\ kÍ�q+ýË $T*jáTH�, ¿Ã³¢ kÍ�q+ýË |�~ $T*jáTqT¢, |�~ ¿Ã³¢ kÍ�q+ýË e+<�

$T*jáTqT¢ .... yîTT öö >·eT�kÍï+.

1. n<û$<ó�+>± _*jáTqT¢ ç{ì*jáTqT¢ ............... yîTT öö �+{²sTT.

2. n+Ôás�¨rjáT d�+U²«eÖq+ýË ¿±eÖ\qT e+<�\ kÍ�q+ ÔásÁTy�Ôá. e+<�yû\T kÍ�q+ ÔásÁTy�Ôá, e+<�

    $T*jáTqT¢ ÔásÁTy�Ôá ¿±eÖ\qT �+#á&�+ e\¢ @ d�+K«HîÕH� d�T\uó�+>± #á<�e>·\eTT.

�<� : 735632150 nqT d�+K«qT n+Ôás�̈rjáT d�+U²«eÖq+ýË 735,632,150 @&�Te+<�\ eTT�|íÎÛ ×<�T $T*jáTq¢,

�sÁT e+<�\ eTT�|íÎÛ Âs+&�T yû\, ÿ¿£ e+<� jáÖuóÉÕ. n� #á<�TeÚÔ�eTT 735,632,150 qT $d�ïsÁD sÁÖ|�+ýË ¿ì+~

$<ó�+>± s�kÍïeTT.

kÍÆH�\T
   |�~

$T*jáTH�\T

e+<�

$T*jáTH�\T
$T*jáTH�\T

e+<�

yû\T
|�~ yû\T e+<�\Tyû\T |�<�T\T

n+Â¿

kÍÝq

$\Te

d�+K«

n¿£�sÁ sÁÖ|�+
@&�T e+<�\ eTT�|íÎÛ ×<�T

      $T*jáTH�
�sÁT e+<�\ eTT�|íÎÛ Âs+&�T yû\   ÿ¿£ e+<� jáÖuóÉÕ

�<� : 720563042 d�+K«qT n+Ôás�r̈jáT d�+U²«eÖH��� �|�jîÖÐ+º n¿£�sÁ sÁÖ|�+ýË s�jáT+&�.

¿±eÖ\qT �|�jîÖÐ+º : 720,563,042

n¿£�sÁ sÁÖ|�eTT : @&�T e+<�\ �sÁyîÕ $T*jáTq¢, ×<�T e+<�\ nsÁyîÕ eTÖ&�T yû\ q\uóÉÕ Âs+&�T.

çbÍCÉÅ£�¼ |�� :

¿ì+<�{ì y�sÁ+ y�s�ï |�çÜ¿£\ qT+º |�~ �|<�Ý d�+K«\qT �d¿£]+#á+&�. y��� çbÍeÖDì¿£

sÁÖ|�+ýËqÖ, eT]jáTT n¿£�sÁ sÁÖ|�+ýËqT V¾²+<�Ö nsÁ_¿ù d�+U²«eÖq+ eT]jáTT

n+Ôás�̈rjáT d�+U²«eÖH�\ýË s�jáT+&�.

7 3 5 6 3 2 1 5 0

7x100
000 000

3x10
000 000

5x1 000
000

6 x 100
000

3 x 10
000

2x1
000 1 x 100 5 x 10 0 x 1

700
000 000

30
000 000

5 000
000 600 000 30 000 2 000 100 50 0

ÿ¿£³T¢
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 ` 1500000House for sale

Do these

Activity   4

1) Write the following numerals in standard forms in International system and
write the number names.
a) 4753625    b) 700400300      c) 4250431       d) 147235857

2) Write the following numerals in the International system.
a. Three hundred thousands = ________________________
b. 5 millions = ____________________________________
c. Seventy millions = _______________________________
d. Four hundred millions = ___________________________

Comparison of  the Indian system and the  International systems

The cost of this house
is 1million and 5
hundred thousand

rupees.

The cost of this
house is 15 lakh

rupees.
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1. ¿ì+~ d�+K«\qT çbÍeÖDì¿£ sÁÖ|�+ýË s�jáT+&�.  n+Ôás�¨rjáT d�+U²«eÖq+ýË n¿£�s�\ýË s�jáT+&�.

n) 4753625 �) 700400300

�) 4251431 �) 147235857

2. ¿ì+~ y�{ì� n+Ôás�̈rjáT d�+U²«eÖq+ýË s�jáT+&�.

n) eTÖ&�T e+<�\ yû\T R .........................................

�) 5 $T*jáTqT¢ R ..............................

�) &îuÉíÒÛ $T*jáTqT¢ R .........................

�) H�\T>·T e+<�\ $T*jáTqT¢ R ...............................

uó²sÁrjáT d�+U²«eÖH���, n+Ôás�¨rjáT d�+U²«eÖq+ÔÃ bþ\TÌ³.

ÿ¿£ �+{ì $\Te

1 $T*jáTH� eT]jáTT

5 e+<�\ yû\ sÁÖbÍjáT\T.

�+{ì $\Te 15 \¿£�\T

       sÁÖbÍsTT\T.

�+{ì $\Te ` 1500000

�$ #ûjáT+&� :

¿£�Ôá«+  `     4
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Think and say:

From the above discussion, one million is ________________ lakhs.

Indian system of numeration International system of numeration
(Indian-Arabic system of numeration) (British system of numeration)

10 00 00 000
 100 00 000

 10 00 000
 100 000

 10 000
 1000

 100 100
 10
 1

10 00 00 000
 100 00 000
 10 00 000

 100 000
 10 000

 1000
 100

 10
 1

Do you Know?
The largest number commonly known as one Googol-flex. It is 10 raised to the power
of Googol. (Googol is 1 followed by 100 zeros)

1) Write the following numerals in standard forms by putting commas, according to Inter-
national system of numeration.
1) 4528973            2) 53547652            3) 901247381              4) 200200200
Write the number names for the following numbers in British system.
1) 700,000     2) 1,200,000 3) 2,524,000      4) 7,521,256 5) 475,562,125

2) Answer the following questions.
1) 1 lakh = ________________ thousands.
2) 1 million =__________________ lakhs.
3) 1 crore = __________________ millions.
4) 1 hundred million = __________________ crores.
5) 1 million = ___________________ thousands.

3) The distance between Sun to our planet Earth is 149597870 kilometres.
Write this number in standard-form and number-name in International system.

  Exercise   4

Place Place

Ones
Ones

Tens
Hundreds
Thousand

Ten Thousands
Lakhs
Ten Lakhs
Crores
Ten Crore

Ones

Tens
Hundreds
Thousands

Ten Thousands
Hundred Thousands
Millions
Ten Millions
Hundred Millions

Thousands

Millions

Thousands

Ones

Crores

Lakhs
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�ýËº+º #î|�Î+&�.

eTqÅ£� Ôî*d¾q nÜ�|<�Ý d�+K« >·Ö>·TýÙ�|¢¿ùà. n~ >·Ö>·TýÙ jîTT¿£Ø 10e |��ÖÔ��¿ì d�eÖq+.

>·Ö>·TýÙ n+fñ 1 ç|�¿£Øq 100 d�TH��\T �+&û d�+K«.

(1) ¿ì+~ d�+K«\Å£� n+Ôás�¨rjáT d�+U²«eÖq+ ç|�¿±sÁ+ çbÍeÖDì¿£ sÁÖ|�+ýË s�d¾ ¿±eÖ (,) �+#á+&�.

n) 4528973       �) 53547652         �) 901247381       �) 200200200

(2) n+Ôás�¨rjáT d�+U²«eÖq+ ç|�¿±sÁ+ ¿ì+~ d�+K«\qT n¿£�s�\ýË s�jáT+&�.

n) 700,000 �) 1,200,000         �) 2,524,000

�) 4,75,21,256 �) 475,562,125

(3)  ¿ì+~ y�{ì¿ì d�eÖ<ó�H�\T �eÇ+&�.

n) ÿ¿£ \¿£� R...................... yû\T .

�) ÿ¿£ $T*jáTH� R .................... \¿£�\T

�) ÿ¿£ ¿Ã{ì R ................... $T*jáTqT¢.

�) ÿ¿£ e+<� $T*jáTqT¢ R ................. ¿Ã³T¢.

�) ÿ¿£ $T*jáTH� R .............. yû\T.

(4)  d�ÖsÁT«� qT+&� eTq+ �ed¾d�Tïq� uó�Ö$T¿ì eT<ó�« <�ÖsÁ+ 149597870 ¿ìýË MT³sÁT¢.

 �|Õ d�+K«qT n+Ôás�̈rjáT d�+U²«eÖq+ ç|�¿±sÁ+ çbÍeÖDì¿£ sÁÖ|�+ýËqT, eT]jáTT n¿£�sÁ sÁÖ|�+ýËqT s�jáT+&�.

úÅ£� Ôî\TkÍ ?

eTqeTT HûsÁTÌ¿=q� ç|�¿±sÁ+ ÿ¿£ $T*jáTH� nq>± .......................... \¿£�\T.

(uó²sÁrjáT d�+U²« $<ó�q+)

V¾²+<�Ö nsÁ_¿ù d�+U²«eÖq+

(ç_{¡wt d�+U²« eÖq+)

n+Ôás�¨rjáT d�+U²« eÖq+

kÍ�H�\T

yû\T

\¿£�\T

¿Ã³T¢

ÿ¿£³T¢

|�<�T\T

yû\T

|�~ yû\T

¿Ã³T¢

|�~ \¿£�\T

\¿£�\T

|�~ ¿Ã³T¢

ÿ¿£³T¢

e+<�\T e+<�\T

yû\T

|�~ yû\T

|�<�T\T

e+<� yû\T

$T*jáTH�\T

 |�~ $T*jáTqT¢

e+<� $T*jáTqT¢

    nuó²«d�+  `   4

kÍ�H�\T

10 00 00 000
 100 00 000

 10 00 000
 100 000

 10 000
 1000

 100
 10

 1

10 00 00 000
 100 00 000
 10 00 000

 100 000
 10 000

 1000
 100
 10
 1

ÿ¿£³T¢

yû\T

$T*jáTqT¢

ÿ¿£³T¢
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Addition and
Subtraction

Chapter

3.1 Introduction:
Shankar cultivated paddy in his two acres field. He wanted to know the cost of cultivation.
He asked his daughter to write down the details of his expenditure. She wrote the details as
follows.

 Preparation of field 2545

 Seed bed and plantating 4507

 Removal of weeds 1235

 Fertilizers & pesticides 4700

 Harvesting 4125

 To heap and to winning 4675

Details of expenditure Expenditure for 1 acre ( ` ) Expenditure for 2 acres

3
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n<ó�«jáT+

Å£L&�¿£ eT]jáTT rd¾yûÔá

Xø+¿£sY Ôáq Âs+&�T m¿£s�\ bõ\eTTýË e]� kÍ>·T#ûXæ&�T. kÍ>·T#ûjáT&��¿ì nsTTq yîTTÔáï+ KsÁTÌqT Ôî\Td�T¿Ãy�\�

nqTÅ£�H��&�T. 5e ÔásÁ>·Ü #á<�TeÚÔáTq� Ôáq Å£LÔáTsÁT� KsÁTÌ $es�\T s�jáTeTH��&�T. �yîT $es�\qT � ¿ì+~

$<ó�+>± s�d¾+~.

bõý²�� ÔájáÖsÁT#ûjáT&�+ 2545

$ÔáïH�\T eT]jáTT H�³&�+ 4507

¿£\T|�Ú rjáT&�+ 1235

msÁTeÚ\T, |�ÚsÁT>·T eT+<�T\T 4700

|�+³ ¿ÃjáTT³ 4125

Å£�|�Î\T yûjáT&�+, qÖ]Î&� 4675

KsÁTÌ\ $es�\T 1 m¿£s�Å£� KsÁTÌ (`) 2 m¿£s�\Å£� KsÁTÌ (`)

3.1  |�]#ájáT+:

3
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Now answer the following questions.
1. How much did Shankar invest on preparation of field for seed bed?
2. How much did he spend on harvesting and to heap and winning?
3. How much did he spend on seed bed and removal of weeds?
4. What is the total cost of cultivation of paddy in 1 acre?
5. What is the total cost of cultivation of paddy in 2 acres?

Sambaiah, the brother of Shankar, has 1 acre of field.
Let's observe how much they spent together.

          T.Th   T  H  T  O
Shankar's expenditure =     4  3  5   7  4
Sambaiah's expenditure =  + 2  1  7   8  7

This problem can be solved like this
3.2:- Process of Addition:-

Step 1: Adding ones, 4 ones + 7 ones = 11 ones

= 1ten+1 one

Write 1 in ones column and carry one ten

to the tens column.

Step 2: Adding Tens, Ten (carried) +7 tens +8 tens

= 16 tens  = 1 hundred + 6 tens

Write 6 in tens column and

1 hundred is carried to hundreds column.

Step 3: Adding hundreds, carried 1 hundred +

            5 hundred + 7 hundreds = 13 hundreds

 =1 thousand + 3 hundreds

Write 3 in hundreds column  and

1 thousand is carried to thousand column.

T.Th Th H T O

4      

2

3

1

5

7

7

8
4      

7

163

11 1

T.Th Th H T O

4      

2

3

1

5

7

7

8

4      

7

16

1 1

T.Th Th H T O

4      

2

3

1

5

7

7

8

4      

7

1

1
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�|�Ú&�T, � ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

1. $ÔáïH�\T #á\¢&��¿ì, bõý²�� ÔájáÖsÁT#ûjáT&��¿ì Xø+¿£sY m+Ôá �|³T¼�&� �|{²¼&�T ?

2. qÖ]ÎÞøßÅ£� eT]jáTT Å£�|�Î\T yûjáT&��¿ì nÔáqT m+Ôá �|³T¼�&� �|{²¼&�T ?

3. $ÔáïH�\T #á\¢&��¿ì, ¿£\T|�Ú rjáT&��¿ì nÔáqT m+Ôá �|³T¼�&� �|{²¼&�T?

4. 1 m¿£sÁ+ bõ\+ e«ekÍjáÖ�¿ì yîTTÔáï+ m+Ôá KsÁTÌ nsTT+~ ?

5. 2 m¿£s�\ e«ekÍjáÖ�¿ì yîTTÔáï+ m+Ôá KsÁTÌ nsTT+~ ?

Xø+¿£sY ÔáeTT�&�T kÍ+�jáT«Å£� ÿ¿£ m¿£sÁ+ bõ\+ �+~

MsÁT �<�ÝsÁT ¿£*d¾ m+Ôá KsÁTÌ #ûkÍsÃ #áÖ<�Ý+ ?

Xø+¿£sY KsÁTÌ #ûd¾q~ =       4    3    5    7    4
kÍ+�jáT« KsÁTÌ #ûd¾q~ =  +   2    1    7   8     7

|� ÿe+yû|�.yû

|�~

 yû\T
 yû\T e+<�\T |�<�T\T ÿ¿£³T¢

4 3 5 7 4
1

2 1 7 8 7

1

|�~

 yû\T
 yû\T e+<�\T |�<�T\T ÿ¿£³T¢

4 3 5 7 4

1

2 1 7 8 7

16

1

|�~

 yû\T
 yû\T e+<�\T |�<�T\T ÿ¿£³T¢

4 3 5 7 4

1

2 1 7 8 7

163

11

� d�eTd�«qT ¿ì+~ $<ó�+>± kÍ~ó+#áe#áTÌqT

3.2 Å£L&�¿£ ç|�ç¿ìjáT :

kþbÍq+ 1 : ÿ¿£³¢ kÍ�q+ýË� n+Â¿\qT ¿£\T|�>± ...

4 ÿ¿£³T¢ G 7 ÿ¿£³T¢ R 11 ÿ¿£³T¢

R 1 |�~ G 1 ÿ¿£{ì

�|�ð&�T ÿ¿£³T¢ kÍ�q+ýË 1 s�jáÖ*, 1 |�~ � |�<�T\ kÍ�q+ýË

�+#�*.

kþbÍq+ 2 : |�<�T\T kÍ�q+ýË� n+Â¿\qT ¿£\T|�>± ......

1 |�~ G 7 |��<�T\T G 8 |�<�T\T R 16 |�<�T\T

R 10 |�<�T\T G 6 |�<�T\T

R e+<� G 6 |�<�T\T

�|�Ú&�T e+<�\ kÍ�q+ýË 1 �, |�<�T\ kÍ�q+ýË 6 � s�jáÖ*.

kþbÍq+ 3 : e+<�\ kÍ�q+ýË� n+Â¿\qT ¿£\T|�>± .....

1 e+<� G 5 e+<�\T G 7 e+<�\T

R 13 e+<�\T

R 1 yîsTT« G 3 e+<�\T

3 � e+<�\ kÍ�q+ýË s�jáÖ*. 1 � yû\ kÍ�q+ýË s�jáÖ*.
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Step 4:   Adding thousands:-

    1 thousand  + 3 thousands + one thousand

   (carried)                = 5 thousands

    Write 5 in thousands column.

Step 5:   Adding ten thousands:

    4 Ten thousands +2 Ten thousands

                                         = 6 Ten thousands

    Write 6 in ten thousands column.

    So, the total cost of both rows is 65,361

Example1: Add 52,435 and 42,567

Solution: 52435 +  42567

T  Th Th H T O

 1 1 1

5 2 4 3 5

+ 4 2 5 6 7

9 5 0 0 2

So, 52435 + 42567 = 95002

Example 2: Add 326523 and 437582

Solution:   326523 + 437582

L T.Th Th H T O

 1        1       1

3 2 6 5 2 3

+ 4 3 7 5 8 2

7 6 4 1 0 5

        3,26,523 + 4,37,582 = 7,64,105

T.Th Th H T O

4 3 5 7 4

1

2 1 7 8 7

163

11

5

T.Th Th H T O

4 3 5 7 4

1

2 1 7 8 7

163

11

56
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kþbÍq+ 4 : yû\ kÍ�q+ýË� n+Â¿\qT ¿£\T|�>± ....

1 yûsTT G 3 yû\T G 1 yûsTT R 5 yû\T

5 � yû\ kÍ�q+ýË s�jáÖ*.

kþbÍq+ 5 : |�~yû\ kÍ�q+ýË� n+Â¿\qT ¿£\T|�>± ....

4 |�~yû\T G 2 |�~yû\T R 6 |�~ yû\T

�|�Ú&�T 6 � |�~ yû\ kÍ�q+ýË s�jáÖ*.

¿±eÚq Âs+&�+{ì jîTT¿£Ø yîTTÔáï+ R 65,361

�<�V�²sÁD (1) : 52,435 eT]jáTT 42,567 \ yîTTÔáï+ m+Ôá ?

kÍ<ó�q : 52435 G 42567

     |�.yû\T yû\T e+ |� ÿ

 1 1 1

5 2 4 3 5

+ 4 2 5 6 7

9 5 0 0 2

¿±�{ì¼ 52435 G 42567 R 95002

�<�V�²sÁD (2) : 326523 eT]jáTT 437582 \ yîTTÔáï+ m+Ôá ?

kÍ<ó�q : 326523 G 437582

      \¿£�\T    |�.yû\T yû\T e+ |� ÿ

 1        1       1

3 2 6 5 2 3

+ 4 3 7 5 8 2

7 6 4 1 0 5

¿±�{ì¼ 3,26,523 G4,37,582 R 7,64,105

|�~

 yû\T
 yû\T e+<�\T |�<�T\T ÿ¿£³T¢

4 3 5 7 4

1

2 1 7 8 7

163

11

5

|�~

 yû\T
 yû\T e+<�\T |�<�T\T ÿ¿£³T¢

4 3 5 7 4

1

2 1 7 8 7

163

11

56
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Do these

1) Do the following.
1) Add 20762 and 12225    2)  Add 826532 and 153264    3) Add 286952 and 394256

2)  Arrange in columns and add.
1) 932648 + 643578 + 376493 2) 763482 +367842 + 567324
3) 673483 + 447862 + 663822 4) 25014 + 203101 + 2020

Mohan is proprietor in meals canteen. He invested ` 31,787/- in January-2020  and earned
`53,574/-. Calculate his gain in the month.

        T.Th Th H T O
Mohan earned in January = 5 3 5 7 4
Investment of Mohan =   (-) 3 1 7 8 7
Gain =

3.3:- Algorithm of 'Subtraction':-
Step 1: Subtract  the ones. 7 > 4 so, borrow one ten from

tens place leaving behind 6 Tens.
Regroup 1 ten borrowed into 10 ones.
Now you have 10 ones + 4 ones =14 ones.

    14ones - 7 ones = 7 ones
Write 7 in the ones column.

Step2:Subtract the tens. 8 tens> 6 tens. So, borrow one
hundred from hundreds
column leaving behind 4 hundreds.
Regroup 1 hundred borrowed into 10 tens.
Now you have 10 Tens+ 6 Tens = 16 Tens.

     16 Tens - 8 Tens= 8 Tens
Now, write 8 in tens column.

Step 3: Subtract hundreds column. 7 hundreds > 4 hundreds.
So borrow one thousand from thousand column.
Regroup 1 thousands borrowed into 10 hundreds.
You have 10 hundred + 4 hundreds =14 hundreds
14 hundreds – 7 hundred = 7 hundreds.
Write 7 in hundreds column.

T.Th Th H T O

5 3 5 7 4

14

3 1 7 8 7

7

6

T.Th Th H T O

5 3 5 7 4
14

3 1 7 8 7

7

6
16

4

8

T.Th Th H T O

5 3 5 7 4
14

3 1 7 8 7

7

6
16

4

8

2
14

7
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�$ #ûjáT+&�

1)  ¿ì+~ Å£L&�¿£\T #ûjáT+&�

n) 20762 G 12225     �) 826532 G 153264      �) 286952 G 394256

2) ¿ì+~ d�+K«\qT �\TeÚ esÁTd�\ýË Å£L&�+&�.

n)   932648 G 643578 G 376493 �)  763482 G 367842 G 567324

�)  673483 G 447862 G 663822 �)   25014 G 203101 G 2020

yîÖV�²H� ÿ¿£ uóËÈq ¬³ýÙ jáTÈeÖ�. nÔáqT Èqe] 2020 ýË ` 31,787 �|³T¼�&� �|{ì¼, ` 53,574

d�+bÍ~+#�&�T. nsTTÔû � Hî\ýË nÔá�¿ì m+Ôá ý²uó�+ eºÌ+~?

yîÖV�²H� Èqe] ýË d�+bÍ~+ºq~ R 5    3    5    7    4

yîÖV�²H� �|{ì¼q �|³T¼�&� R (-) 3    1    7    8    7

nÔá�¿ì eºÌq ý²uó�+                 R

3.3 rd¾yûÔá kþbÍq ç¿£eT+ :

kþbÍq+ 1 :

ÿ¿£³¢ kÍ�q+ýË n+Â¿\qT rd¾yû<�Ý+. 7 > 4 ¿±�{ì¼ |�<�T\

kÍ�q+ qT+&� 1 |�~� |�<�T\ kÍ�q+ qT+&� Ôî#áTÌÅ£�+<�+. |�<�T\

kÍ�q+ýË 6 |�<�T\T �+{²sTT. �|�Ú&�T 10 ÿ¿£³T¢ eT]jáTT 4

ÿ¿£³T¢ ¿£*|¾ 14 ÿ¿£³T¢ neÚÔ�sTT.

14 ÿ¿£³T¢ - 7 ÿ¿£³T¢ R 7 ÿ¿£³T¢

�|�Ú&�T ÿ¿£³¢ kÍ�q+ýË 7 � s�<�Ý+.

kþbÍq+ 2 :

�|�Ú&�T |�<�T\ kÍ�q+ýË� n+Â¿\qT rd¾yû<�Ý+. 8 |�<�T\T > 6

|�<�T\T ¿±�{ì¼ e+<�\ kÍ�q+ qT+&� 1 e+<� Ôî#áTÌÅ£�+<�+.

�|�Ú&�T e+<�\ kÍ�q+ýË 4 e+<�\T �+{²sTT. �|�Ú&�T 10 |�<�T\T

eT]jáTT 6 |�<�T\T ¿£*|¾ 16 |�<�T\T neÚÔ�sTT.

16 |�<�T\T - 8 |�<�T\T R 8 |�<�T\T

�|�Ú&�T |�<�T\ kÍ�q+ýË 8 � s�<�Ý+.

kþbÍq+ 3 :

�|�Ú&�T e+<�\ kÍ�q+ýË� n+Â¿\qT rd¾yû<�Ý+. 7 e+<�\T > 5

e+<�\T ¿±�{ì¼ yû\ kÍ�q+ qT+&� 1 yûsTT Ôî#áTÌÅ£�+<�+. �|�Ú&�T

yû\ kÍ�q+ýË 2 yû\T �+{²sTT. 10 e+<�\T eT]jáTT 4 e+<�\T

¿£*|¾ 14 e+<�\T neÚÔ�sTT.

14 e+<�\T -7 e+<�\T R 7 e+<�\T

�|�Ú&�T e+<�\ kÍ�q+ýË 7 s�<�Ý+.

5 3 5 7 4
14

3 1 7 8 7

7

6
16

4

8

2
14

7

|�.yû yû e |� ÿ

5 3 5 7 4
14

3 1 7 8 7

7

6
16

4

8

|�.yû yû e |� ÿ

|�.yû yû e |� ÿ

5 3 5 7 4

14

3 1 7 8 7

7

6

|�.yû yû e |� ÿ
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Step 4: Subtract the thousands column.
2 Thousands – 1 Thousand = 1 Thousand.
Write 1 in Thousands column.

Step 5: Subtract Ten thousands column.
5 Ten thousands – 3 Ten thousands
= 2 Ten thousands.
Mohan gained ` 21,787  in the month

Example 1: Subtract 26874 from 49543
Solution:   49543 - 26874

T.Th Th H T O
4 9 5 4 3

          - 2 6 8 7 4
2 2 6 6 9

  49543 - 26874 = 22669

Example 2: By how much 2356 is less
by 32564 than?
Solution:  Subtract 2356 from 32564

32564 - 2356
T.Th Th H T O
3 2 5 6 4

         - 2 3 5 6
3 0 2 0        8

2356 is less than 30208 from 32564

1. a.  860438 – 764859 d. 880056 – 45396 g. 435217 – 383450

b. 56080 – 4398 e. 700000 – 75897 h.  980000 – 573429

c. 600005 – 65095 f. 906004 – 473894 i.  650701 – 404107

2. a. Subtract 76384 from 647836 d. Subtract 432010 from 705645

b. Subtract 8437 from 783409 e. Subtract 607080 from 900000

c. Subtract 386472 from 764986 f. Subtract 201781 from 400000

T.Th Th H T O

5 3 5 7 4
14

3 1 7 8 7

7

6
16

4

8

2
14

71

T.Th Th H T O

5 3 5 7 4
14

3 1 7 8 7

7

6
16

4

8

2
14

712

Do these
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kþbÍq+ 4 :

�|�Ú&�T yû\ kÍ�H�\ýË� n+Â¿\qT rd¾ yû<�Ý+

2 yû\T -1 yûsTT R 1 yûsTT

yû\ kÍ�q+ýË 1 s�<�Ý+

kþbÍq+ 5 :

�|�Ú&�T |�~ yû\ kÍ�H�\ ýË� n+Â¿\qT rd¾ yû<�Ý+  5 |�~ yû\T

` 3 |�~ yû\T R 2 |�~ yû\T |�~ yû\ kÍ�q+ýË 2 s�<�Ý+.

¿±�{ì¼ yîÖV�²H� ¿ì ÿ¿£ Hî\ýË eºÌq ý²uó�+ 21,787/-

�<�V�²sÁD (2): 32564 ¿£+fñ 2356 m+Ôá ÔáÅ£�Øe?

kÍ<ó�q :  32564 qT+&� 2356qT rd¾yûjáÖ*

    32564 ` 2356

�<�V�²sÁD (1): 49543 qT+&� 26874 rd¾yûjáT+&�.

kÍ<ó�q : 49543 ` 26874

4 9 5 4 3

– 2 6 8 7 4

2 2 6 6 9

49543`26874 R 22669

�$ #ûjáT+&�

1. n) 860438 - 764859 �) 880056 - 45396 �TT)435217 - 383450

�) 56080 - 4398 �) 700000 - 75897 �TÖ) 980000 - 573429

�) 600005 - 65095 }) 906004 - 473894 m) 650701 - 404107

2. n) 647836 qT+&� 76384 qT rd¾yûjáT+&�. �) 705645 qT+&� 432010 qT rd¾yûjáT+&�.

�) 783409 qT+&� 8437 qT rd¾yûjáT+&�. �) 900000 qT+&� 607080 qT rd¾yûjáT+&�.

�) 764986 qT+&� 386472 qT rd¾yûjáT+&�. }) 400000 qT+&� 201781 qT rd¾yûjáT+&�.

3 2 5 6 4

 – 2 3 5 6

3 0 2 0 8

32564 ¿£+fñ 30208 nHû~ 2356 ÔáÅ£�Øe

e+yû|�.yû ÿ|�

5 3 5 7 4
14

3 1 7 8 7

7

6
16

4

8

2
14

71

5 3 5 7 4
14

3 1 7 8 7

7

6
16

4

8

2
14

712

|� ÿeyû|�.yû

|� ÿeyû|�.yû

e+yû|�.yû ÿ|�
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3.   a)  What is to be added to153672 to get  503267
      b)  What is to be added to 603257 to get  999999.
      c)  By how much 20325 is less than  425067?
      d)  How much is to be subtracted from 673267 to make it to 59325?

Cloth store:
Vanaja's family decided to purchase some garments on the occasions of her daughter’s

marriage. So she purchased some garments in APCO showroom.  The billing details are as
shown below.

Purchased garments Total in `
Silk sarees 9899

Cotton sarees 6940

Silk panche 2785

Door curtains 8438

Bed sheets 5900

Towels 2350
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3. n) 503267 qT bõ+<�&��¿ì 153672 Å£� m+Ôá ¿£\bÍ*?

�) 999999 qT bõ+<�&��¿ì 603257 Å£� m+Ôá ¿£\bÍ*?

�) 425067 ¿£+fñ 20325 m+Ôá ÔáÅ£�Øe?

�) 673267 qT+&� m+Ôá rd¾yûd¾q 59325 ed�Tï+~?

�³¼\ <�T¿±D+ :

eqÈ Å£�³T+�+ Ôáq Å£�eÖÂsï $y�V�²+ �$TÔáï+ �³¼\T ¿=q&��¿ì �sÁ�sTT+#áTÅ£�H��sÁT. y�sÁT �bþØ cþsÁÖ+ ýË

¿=�� �³¼\T ¿=H��sÁT. �³¼\ K¯<�T $esÁeTT\T � ¿ì+~ $<ó�+>± �H��sTT.

¿=qT>Ã\T #ûd¾q �³¼\T yîTTÔáï+ kõeTT� (`)

|�³T¼ NsÁ\T 9899

¿±³H� NsÁ\T 6940

|�³T¼ |�+#î\T 2785

&ÃsY ¿£Âs¼qT¢ 8438

<�T|�Î³T¢ 5900

ÔáTy�ÇÞø�ß 2350
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1. How much money is spent on silk sarees more than that of door curtains?
2. How much less money is spent on bed sheets than  cotton sarees?
3. How much money is spent on both silk sarees and silk panche?
4. How much money did Vanaja spend for door curtains, bed sheets and towels?
5. How much money did Vanaja spend for shopping?

   Project work
Collect the information about your village from your Panchayat office.  And find
out the sums.

Village Name:

Discuss with your teacher about the table.
Ex:1 Find the difference of  the largest 6-digit number and the largest 5-digit  number.

6 digit largest number = 9,99,999

5 digit largest number = -  99,999

9,00,000

The difference  = 9,00,000.

Ex:2 Find the sum of the smallest 6-digit odd number and the largest 5-digit

even number.

The smallest 6 digit odd number =     1,00,001

The largest 5 digit even number = +     99,998

Total =     1,99,999

Their sum = 1,99,999.

Number of male
Number of female
Number of children
Total
Literates
Illiterates
Total



73ÔásÁ>·Ü ` 5  >·DìÔá+ÔÃ >·eT�ÔáTï

1. &ÃsY ¿£Âs¼H�à ¿£+fñ |�³T¼ NsÁ\Å£� m+Ôá mÅ£�Øe KsÁTÌ #ûXæsÁT?

2. ¿±³H� NsÁ\ ¿£+fñ <�T|�Î³T¢¿ì m+Ôá ÔáÅ£�Øe  KsÁTÌ #ûXæsÁT?

3. |�³T¼ NsÁ\Å£� eT]jáTT |�³T¼ |�+#û\Å£� ¿£*|¾ m+Ôá KsÁTÌ #ûXæsÁT?

4. &ÃsY ¿£ÂÂs¼qT¢, <�T|�ÎfÉ¢ eT]jáTT ÔáTy�Þøß¿ì eqÈ Å£�³T+�+ m+Ôá KsÁTÌ #ûkÍsÁT?

5. eqÈ Å£�³T+�+ cÍ|¾+>́¿ì m+Ôá KsÁTÌ #ûkÍsÁT?

çbÍCÉ¿ù¼ |��

MT ç>±eT |�+#�sTTÜ qT+&� d�eÖ#�s��� �d¿£]+#á+&�. ÔásÁTy�Ôá  � ¿ì+~ yîTTÔ�ï\qT ¿£qT>=qTeTT.

ç>±eT |�+#�jáTÜ �|sÁT :

|�ÚsÁTw�§\ d�+K«

�dÓï \ d�+K«

|¾\¢\ d�+K«

yîTTÔáï+

n¿£�s�d�T«\T

�sÁ¿£�s�d�T«\T

yîTTÔáï+

�|ÕÕ |�{ì¼¿£ >·T]+º MT �bÍ<ó�«jáTT�ÔÃ #á]Ì+#á+&�.

�<�V�²sÁD (1) : 6 n+Â¿\ �|<�Ýd�+K«Å£�, 5 n+Â¿\ �|<�Ýd�+K«Å£� >·\ Ôû&� m+Ôá?

6 n+Â¿\ �|<�Ýd�+K« R 9,99,999

5 n+Â¿\ �|<�Ýd�+K« R ` 99,999

9,00,000

Ôû&� R 9,00,000

�<�V�²sÁD (2) : 6 n+Â¿\ ºq� uñd¾d�+K«, 5 n+Â¿\ �|<�Ý d�]d�+K«\ yîTTÔáï+ ¿£qT>=q+&�.

6 n+Â¿\ ºq� uñd¾d�+K« R 1,00,001

5 n+Â¿\ �|<�Ý d�]d�+K« R G 99,998

yîTTÔáïeTT R 1,99,999
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3.4:- Relation between Addition and Subtraction:-

We know that 8 + 4 = 12. We can derive two subtraction facts for this addition.

12 - 4 = 8 and 12 - 8 = 4

We can write subtraction facts for addition of two large numbers also in the same way.

Example : 543267 + 153268 = 696535

The subtraction facts that follow are...

 696535  696535

        – 153268        – 543267

 543267  153268

For each subtraction, we can have only one addition fact.

Example : 14 - 8 = 6, then the addition fact is 6 + 8 = 14.

The addition fact for 323648 - 153267 = 170381

                             is 170381 + 153267 = 323648

Example : Simplify 234856 + 325416 - 384021

Solution:

Step-1: Add the numbers having '+' sign.

Step-2: Subtract the third number from the sum obtained in step-1

    L T.Th Th H T O L    T.Th   Th     H        T         O

    2 3 4 8 5 6 5 6 0 2 7 2

+   3 2 5 4 1 6      – 3 8 4 0 2 1

    5 6 0 2 7 2 1 7 6 2 5 1

234856 + 325416 – 384021 = 176251

1 7 0 3 8 1

+ 1 5 3 2 6 7

3 2 3 6 4 8
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3 .4  Å£L&�¿£ eT]jáTT rd¾yûÔá\ eT<ó�« d�+�+<ó�+

8 G 4 R 12 n� eTqÅ£� Ôî\Td�TqT. B� qT+&� eTq+ Âs+&�T rd¾yûÔá\qT bõ+<�e#áTÌqT.

12 - 4 R 8 eT]jáTT 12 - 8 R 4

�<û $<ó�+>± m+Ôá �|<�Ýd�+K« Â¿ÕH� Å£L&�¿£ qT+&� Âs+&�T rd¾yûÔá\T s�jáTe#áTÌqT.

�<�V�²sÁD : 543267 G 153268 R 696535

B� qT+&� rd¾yûÔá\T ¿ì+~ $<ó�+>± �+{²sTT.

696535 696535

      - 153268                   - 543267

543267 153268

ç|�Ü rd¾yûÔá d�+<�sÁÒÛ+ýË Å£L&�¿£ �jáTeT+ �+³T+~.

�<�V�²sÁD : 14 - 8 R 6, B� qT+&� 6 G 8 R 14 nHû Å£L&�¿£ ed�Tï+~.

              n<û$<ó�+>± 323648 - 153267 R 170381

                          170381 G 153267 R 323648

�<�V�²sÁD : 234856 G 325416 - 384021 qT d�Ö¿¡��¿£]+#á+&�.

kÍ<ó�q :

kþbÍq+ 1 : eTT+<�T>± G >·TsÁTï �q� Âs+&�T d�+K«\qT Å£L&�*.

kþbÍq+ 2 : kþbÍq+ 1ýË eºÌq yîTTÔáï+ qT+&� eTÖ&�e d�+K«qT rd¾yûjáÖ*.

     \. |�.yû\T yû\T   e+     |�         ÿ   \. |�.yû\T   yû\T    e+     |�      ÿ

      (1)    2 3 4 8 5 6           (2)     5 6 0 2 7 2

           G3 2 5 4 1 6                 - 3 8 4 0 2 1

             5 6 0 2 7 2                    1 7 6 2 5 1

    234856 G 325416 - 384021 R 176251

1 7 0 3 8 1

+ 1 5 3 2 6 7

3 2 3 6 4 8
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1. Do the following.
a)  4986 + 3430 - 5467 =  ........
b)  78645 - 36789 + 23576 = ...............
c)  40376 - 20568 - 76485 + 87364 =..........
d)  643857 + 467896 - 445386 = ..........

2.   Fill in the blanks.

3. A man earns `37,645 in a month and his wife earns `25,367.  If they spend  ` 38,600 in
a month, how much do they save in that month?

4. Siva had `52,490. He purchased a cow for  `15,870 and a buffalo for  `25,785. How
much money is with him now?

5. A milk dairy produces 25,545 litres of milk every day. It supplies 15,625 litres of
milk to various milk depots and the rest to the market. How much milk is supplied to
the market?

3.5:- Properties of addition:
Property 1:
Ex:   Add 2579 to  3275; and 3275 to 2579.

First we add    3 2 7 5 Then we add   2 5 7 9
+  2 5 7 9           + 3 2 7 5
    5 8 5 4   5 8 5 4

If we change the order of 2579 and 3275 as shown above, the result is same.
Thus, 2579 + 3275 = 3275 + 2579  =  5854.

l  Changing the order of the two addends does not change the total.

Addition Subtraction Fact - 1 Subtraction Fact - 2

750 + 250 = 1000 1000 – 250 = ______ 1000 – 750 = _______

650 +150 = 800 800 – 650 = ______ 800 – 150 = ______

66750 + 250 = 67000

36750 + 250 = 37000

  Exercise - 1
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1.  ¿ì+~ ýÉ¿£Ø\T #ûjáT+&�.

n)  4986 G 3430 - 5467 R ...............

�)  78645 ` 36789 G 23576 R ...............

�)   40376 - 20568 - 76485 G 87364 R ..........

�)  643857 G 467896 - 445386 R ...............

2.  ¿ì+~ U²°\qT |�P]+#á+&�.

3. ÿ¿£ e«¿ìï Hî\Å£� ` 37,645 eT]jáTT nÔá� uó²sÁ« ` 25,367 d�+bÍ~kÍïsÁT. y�sÁT Hî\Å£� ` 38,600 KsÁTÌ

#ûd¾q, y�sÁT bõ<�T|�Ú #ûd¾q kõeTT� m+Ôá ?

4. ¥e e<�Ý ` 52,490 �H��sTT. nÔáqT ÿ¿£ �eÚqT ` 15,870 Å£�, ÿ¿£ ¹><îqT ` 25,785 Å£� ¿=H��&�T.

�|�Ú&�T nÔá� e<�Ý �+¿± m+Ôá kõeTT� $TÐ* �+~ ?

5. ÿ¿£ bÍ\ ¹¿+ç<�+ ç|�ÜsÃE 25,545 ©³sÁ¢ bÍ\qT d�sÁ|��s� #ûd�Tï+~. �~ $$<ó� bÍ\ &�bþ\Å£� 15,625 ©³sÁ¢

bÍ\qT d�sÁ|��s� #ûd¾, $TÐ*q bÍ\qT eÖÂsØ{ÙÅ£� |�+|�ÚÔáT+~. nsTTÔû m�� ©³sÁ¢ bÍ\qT eÖÂsØ{ÙÅ£� |�+|�ÚÔáT+~?

3.5 : Å£L&�¿£ <ó�s��\T :

1 e <ó�sÁ�+ :

�<�V�²sÁD : 2579, 3275 \qT ¿£\|�+&�. eT]jáTT 3275, 2579 \qT ¿£\|�+&�.

(1)    3 2 7 5        (2) 2 5 7 9
+  2 5 7 9           + 3 2 7 5

    5 8 5 4   5 8 5 4

 esÁTd� ç¿£eT+ eÖ]q|�Î{ì¿¡ |��*Ôá+ ÿ¹¿ý² �+~.

 B�� �{ì¼ 2579 G 3275 R 3275 G 2579 R 5854

l   d�+¿£\q+ #ûjáTe\d¾q d�+K«\ ç¿£eT+ eÖ]q|�Î{ì¿¡ |��*Ôá+ýË eÖsÁTÎ �+&�<�T.

 nuó²«d�+ -  1

Å£L&�¿£ rd¾yûÔá sÁÖ|�+ - 1 rd¾yûÔá sÁÖ|�+ - 2

750 + 250 = 1000 1000 – 250 = ______ 1000 – 750 = _______

650 +150 = 800 800 – 650 = ______ 800 – 150 = ______

66750 + 250 = 67000

36750 + 250 = 37000
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Property 2:
Ex: Let us add 9213 to 0 and also add 0 to 9213.

We have 0                    9213
+  9213                  +      0
    9213                    9213

From the above example you may know that, by adding 0 to any number you will
get the same number.
Thus 9213 + 0 = 9213 + 0 = 9213.

l If we add a number to 0, we get the number itself.

3.6:- Subtraction across zero:
Ex:1 Subtract 100 from 1000.

Th H T O

1 0 0 0
– 1 0 0

9 0 0

Ex:2 Subtract 1 from 1000
Th H T O

1 0 0 0
– 1

9 9 9

Borrow 1 thousand from the thousands
place leaving behind thousands.

1 thousand = 10 hundreds

Now subtract column wise.

1 thousand = 10 hundreds
10 hundreds = (9 + 1) hundreds
1hundred = 10 tens... so, on.
10 tens = 9 tens + 1 ten
1 ten = 10 ones
Now, subtract column wise.

1)   Fill in the blanks using addition properties.

1.  35 + 67 = 67 + .......... 2.  378 + 894 = ..... + .......

3.  889 + 0 =........ 4.  0 + .....  = 6592 + .........

5.  7634 + 3210 = ...... + 7634 6.  9345 + - = 4537 + .........

Do this

10

9 9 10
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<ó�sÁ�+ (2) :

�<�V�²sÁD : 0 Å£� 9213 qT ¿£\|�+&�. 9213 Å£� 0 qT ¿£\|�+&�.

                                           0                   9213

                                     G9213              G       0

                               9213                  9213

�|Õ �<�V�²sÁD qT+&�, @<îÕH� d�+K«Å£� 0 qT ¿£*|¾Ôû n<û d�+K«qT yîTTÔáï+>± bõ+<�e#áTÌqT. � $<ó�+>±

0 G 9213 R 9213 G 0 R 9213

l  ÿ¿£ d�+K«Å£� 0 qT ¿£*|¾Ôû, n<û d�+K« yîTTÔáï+>± ed�Tï+~.

3.6  0 qT+&� rd¾yûjáTT³

�<�V�²sÁD (1)  : 1000 qT+&� 100 qT rd¾yûjáT+&�

yû e+ |� ÿ

1 0 0 0
– 1 0 0

9 0 0

�<�V�²sÁD (2) : 1000 qT+&�  1�  rd¾yûjáT+&�

yû e+ |� ÿ

1 0 0 0
– 1

9 9 9

yû\ kÍ�q+ qT+&� 1 yûsTT n|�ÚÎ >±

rd�T¿=�, yû\ kÍ�H��� e~*yûjáÖ*.

1 yûsTT R 10 e+<�\T.

�|�ð&�T kÍÆH�\ y�¯>± rd¾yûjáÖ*.

1 yûsTT R 10 e+<�\T.

10 e+<�\T R 9G1 e+<�\T.

1 e+<� R10 |�<�T\T .......

10 |�<�T\T R 9 |�<�T\T G 1 |�~

1 |�~ R 10 ÿ¿£³T¢

�|�ð&�T kÍ�H�\ y�¯>± rd¾yûjáÖ*.

   1) Å£L&�¿£ <ó�s��\qT �|�jîÖÐ+º ç¿ì+~ U²°\qT |�P]+#á+&�.

       1)  35 G 67 R 67 G ........ 2) 378 G 894 R ........G  ............

       3)  889 G 0 R ........... 4) 0 G ......... R 6592 G .........

       5)   7634 G 3210 R .......G7634 6) 9345 G ......... R 4537 G ........

�$ #ûjáT+&� :

9 9 10

10
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Workout the following.

1. Cost of pesticide sprayer is ` 4500/-. Government provides a subsidy of  ` 2900/-.
How much farmer has to pay from his pocket?

2. What is the difference of largest 5 digit number and smallest 6 digit number?

3. A man earned ` 4,75,000 in a year.  He spent ` 3,85,600.  How much money did he
save?

4. There are 3,25,208 men; 3,18,405 women and 2,98,405 children in a town. What is the
total population of the town?

5. In a district 36,405 students were passed in S.S.C examinations. If the number of failed
students were 4,305 find the total number of students appeared for the examination.

6. Padmaja's income was ` 5,35,256 in 2018. Next year her income exceeded the previous
year's income by ` 78,500.  What was her income in the year 2019? How much did she
earn in these two years?

3.7:Estimating sum and difference:

To estimate sum or difference, first round off each number to its nearest tens,
hundreds or thousands as per the number of digits in the numbers and then  add or
subtract.

Estimating Large numbers

Estimate the sum or difference by rounding off each number to the nearest ten
thousand.

Example :     62014  ......          60000

+  85703  ......     +   90000

                                          150000

    85703……          90000

-  62014……      -   60000

                                                                30000

  Exercise - 2
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d�eTd�«\T kÍ~+#á+&�.

1. ÿ¿£ |�ÚsÁT>·T eT+<�T\T |¾º¿±] #û�d jáT+çÔá+ K¯<�T ` 4500 ç|�uó�TÔáÇ+ B� �|Õ ` 2900 d�_à&� �d�Tï+~.

nsTTÔû ÂsÕÔáT <��� ¿=q&��¿ì �+¿± m+Ôá #î*¢+#áe\d¾ ed�Tï+~ ?

2. 5 n+Â¿\ �|<�Ýd�+K« Å£�. 6 n+Â¿\ ºq�d�+K«Å£� >·\ Ôû&� m+Ôá ?

3. >ÃÅ£�ýÙ d�+eÔáàs��¿ì ` 4,75,000 d�+bÍ~kÍï&�T. nÔá� KsÁTÌ ` 3,85,600 nsTTÔû nÔáqT #û�d

bõ<�T|�Ú m+Ôá ?

4. ÿ¿£ |�³¼D+ýË 3,25,208 eT+~ |�ÚsÁTw�§\T, 3,18,405 eT+~ �dÓ ï\T, 2,98,405 eT+~ |¾\¢\T

�H��sÁT. nsTTÔû � |�³¼D ÈH�uó² m+Ôá?

5. ÿ¿£ �ý²¢ |�¯¿£�ýË �rïsÁT �\T nsTTqy�sÁT 36,405. n<û |�¯¿£�ýË �rïsÁT �\T ¿±�y�sÁT 4,305 eT+~.

nsTTÔû yîTTÔáï+ |�̄ ¿£�Å£� m+Ôá eT+~ V�äÈsÁjáÖ«sÁT?

6. 2018 ýË |�<��È �<�jáT+ ` 5,35,256 ÔásÁTy�Ôá d�+eÔáàsÁ+ýË  �yîT  �<�jáT+ ` 78,500 �|sÁT>·TÔáT+~.

nsTTÔû 2019 ýË �yîT �<�jáT+ m+Ôá? � Âs+&�T d�+eÔáàs�\ýË �yîT d�+bÍ~+ºq yîTTÔáï+ �<�jáT+ m+Ôá?

3.7: yîTTÔáï+ eT]jáTT uóñ<�\qT n+#áH� yûjáT&�+.

yîTTÔáï+, uóñ<�\qT n+#áH� yûjáTT³Å£� eTT+<�T>± d�+K«\qT <�>·Z] |�<�T\Å£� ýñ<� e+<�\Å£� ýñ<� yû\Å£�

d�e]+#�*.

�|<�Ý d�+K«\qT n+#áH� yûjáT&�+

|�~yû\Å£� d�e]+#á&�+ <�Çs� yîTTÔ�ï\qT, uóñ<�\qT n+#áH� yûjáT&�+.

�<�V�²sÁD : 62014 .............   60,000

                   G 85703 .........      G 90,000

1,50,000

85703 .......... 90,000

                   - 62104 ........    - 60,000

30,000

 nuó²«d�+ -  2
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Estimate, the answer by rounding off. Do addition or subtraction according to the
problem given. One is done for you.

Example:
Baba had  ` 7844 in his bank account. His expenditure is ` 2257. Estimate the
remaining balance in his bank account.

` 8000 ` 9000 ` 10000 ` 6000
1. Raghu went to Rythu bazar and bought some vegetables worth  ` 158, grocery worth

`143. How much he spent approximately?

` 200 ` 300 ` 400 ` 500

2. Raju bought a mobile for  `7890 and a chair for  ` 3295.  Estimate how much did he pay
more for the mobile.

` 4000 ` 3000 ` 1000 ` 5000

3. Haseena bought a saree for ` 5345/- and a shirt for  ` 2050/-. Estimate the amount she
has to pay to the shop keeper approximately.

` 5000 `4000 ` 7000 `2000

4. Bunny scored 6,776 points on a video game and Baba scored 2,373 points.  Estimate the
difference of the scores of Bunny and Baba approximately.

5000 8000 7000 6000

5. Lakshmi is reading a book that contain 257 pages. She has already read 163 pages.
Estimate how many pages are yet to be read approximately?

600 900 100 70

3.8:- Profit and Loss:

A weaver weaves sarees on his
handloom and sells them in market. He buys
cotton, thread, silk thread, Jery silk...etc. from
a whole-seller. He sells them at a profit and
sometimes at a loss. He weaves costly sarees
on the orders of consumers. He can weave a
cotton-saree within two days and a silk saree
in 4 to 5 days. Now let's see his cost of
measuring each saree.
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d�eÖ<ó�H��� n+#áH�yûd¾ <�>·Z] d�+K«Å£� d�e]+#á+&�. �ºÌq d�eTd�«ýË d�+<�s�ÒÛ�� �{ì¼ Å£L&�¿£ ýñ¿£ rd¾yûÔá #ûjáT+&�.

ÿ¿£{ì MT¿Ãd�+ #ûjáT�&�+~.

�<�V�²sÁD :

u²u²Å£�  u²«+Å£� U²Ô�ýË ` 7844 �H��sTT. n+<�TýË nÔáqT ` 2257 KsÁTÌ #ûjáT>± nÔá� U²Ô�ýË �\Ç

�q� kõeTT�qT n+#áH� yûjáT+&�.

 ` 8000 ` 9000 ` 10000 ` 6000

1) sÁ|��TT ÂsÕÔáT�C²sÁTÅ£� yî[ß  `158 ÔÃ Å£LsÁ>±jáT\T ¿=H��&�T. `143 ÔÃ d�sÁTÅ£�\T ¿=H��&�T. nsTTÔû nÔáqT

#ûd¾q KsÁTÌ d�TeÖsÁT>± ?

` 200 ` 300 ` 400 ` 500

2) s�E ` 7890 ÔÃ  ÿ¿£ #ásÁy�Dì�, ` 3295 ÔÃ ÿ¿£ Å£�¯Ì� ¿=H��&�T. nsTTÔû Å£�¯Ì ¿£H�� #ásÁy�Dì¿ì

nÔáqT m+Ôá mÅ£�Øe KsÁTÌ #ûkÍ&�T?

` 4000 ` 3000 ` 1000 ` 5000

3) V�²dÓH� ` 5345 Å£� ÿ¿£ NsÁqT, ` 2050 ÿ¿£ #=¿±ØqT ¿=q�~. nsTTÔû �yîT cÍ|t jáTÈeÖ�¿ì d�TeÖsÁT>±

m+Ôá #î*¢+#�*?

 ` 5000        ` 4000 ` 7000 ` 2000

4) ��� ÿ¿£ M&�jîÖ ¹>y�TýË 6,776 bÍsTT+³¢qT, u²u² 2,373 bÍsTT+³¢qT bõ+<�sÁT. nsTTÔû MsÁT bõ+~q

bÍsTT+³¢ Ôû&� d�TeÖsÁT>±?

5000 8000 7000 6000

5) \¿ìë 257 �|J\T >·\ ÿ¿£ |�Úd�ï¿±�� #á<�TeÚÔÃ+~. �yîT 163 �|J\T #á~$q, �+¿£qÖ m�� �|J\T d�TeÖsÁT>±

#á<�ee\d¾ �+~?

600 900 100 70

3 .8 : ý²uó�+ eT]jáTT qw�¼+ :

ÿ¿£ #ûHûÔá ¿±]�Å£�&�T Ôáq eT>·Z+�|Õ NsÁ\T Hûd¾,

eÖÂsØ{Ù ýË neTT�ÔáÖ �+{²&�T. nÔáqT {ËÅ£� y�«bÍ]

e<�Ý ¿±³H�, <�sÁ+, d¾ýÙØ <�sÁ+, CÉ] d¾ýÙØ, yîTT<�\>·Tq$

¿=+³Ö �+{²&�T. nÔá&�T y�{ì� ý²uó²�¿ì neTT�Ô�&�T.

¿=�� kÍsÁT¢ qcÍ¼�¿ì Å£L&� neTT�Ô�&�T. $�jîÖ>·<�sÁT�

¿Ã]¿£ �|Õ nÔá&�T K¯<îÕq NsÁ\T Hûd¾ �d�Öï �+{²&�T. nÔá&�T

ÿ¿£ ¿±³H� NsÁqT Âs+&�T sÃEýË¢qÖ, |�³T¼ NsÁqT H�\TÂ>Õ<�T

sÃEýË¢qÖ HûjáT>·\&�T. nÔáqT Hûd¾q NsÁ\ <ó�sÁ\ |�{ì¼¿£qT

|�]o*<�Ý+.
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Cotton saree Silk saree

Cotton thread   - ` 300/- Silk thread       - ` 2500/-

Jerry               - ` 200/-            Jerry                 - `1000/-

Weaving charge  - ` 400/- Weaving charge  - ` 2000/-

Total: ` 900/- Total: ` 5,500/-

Answer the following questions

1. Weaver sells cotton saree for  ` 1100/-.  Does he make a profit or a loss?

2. Weaver sells damaged cotton saree for  ` 400/- each.  Does he make a profit or a loss?

3. Weaver sells silk sarees for  ` 6000/-. Does he make a profit or a loss?

Example :

A shop keeper purchases cotton saree at the rate of  ` 1200/- and silk saree for
` 7000/- from a weaver. He sells those for  ` 1400/- and  ` 8500/- respectively.

What is your observation about cotton saree?

Cost price of the cotton saree =  `1200

Selling price of the cotton saree =  `1400

What is your observation about silk saree?

The cost price of the silk saree =  ` 7000

The selling price of the silk saree =  `8500

What is your observation?

In both the cases, the selling price is higher than the cost price. So, he is getting more
amount than the cost price, this is called profit.  To know this, we have to subtract the
cost price from the selling price.

Profit =  Selling Price - Cost Price

       We can gain if the selling price is more than cost price. Then the difference is profit.
Some cotton sarees are damaged or colours faded. So, such sarees were sold for 800
each at a loss.
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¿±³H� NsÁ\T

¿±³H� <�sÁ+ ` 300

È¯ ` 200

HûÔá KsÁTÌ\T ` 400

yîTTÔáï+ ` 900

|�³T¼ NsÁ\T

|�³T¼ <�sÁ+ ` 2,500

È¯ ` 1000

HûÔá KsÁTÌ\T ` 2000

yîTTÔáï+ ` 5,500

1) #ûHûÔá ¿±]�Å£�&�T ¿±³H� NsÁqT ` 1100 Å£� n$T�q, nÔá�¿ì ý²uó�eÖ? qw�¼eÖ?

2) #ûHûÔá ¿±]�Å£�&�T d�]>± ýñ� ¿±³H� NsÁ\qT ` 400 Å£� n$T�q, nÔá�¿ì ý²uó�eÖ? qw�¼eÖ?

3) #ûHûÔá ¿±]�Å£�&�T |�³T¼ NsÁqT ` 6000 n$T�q, nÔá�¿ì ý²uó�eÖ? qw�¼eÖ?

�<�V�²sÁD :

ÿ¿£ <�T¿±D<�sÁT&�T, HûÔá ¿±]�Å£�� e<�Ý ¿±³H� NsÁqT ` 1200 #=|�ÚÎq, |�³T¼ NsÁqT ` 7000 #=|�ÚÎq ¿=H��&�T.

<�T¿±D<�sÁT&�T y�{ì� ` 1400 eT]jáTT ` 8500 #=|�ÚÎq neÖ�&�T.

¿±³H�NsÁ $w�jáT+ýË MTsÁT @$T >·eT�+#�sÁT ?

¿±³H�NsÁ ¿=q� K¯<�T R ` 1200

¿±³H�NsÁ n$T�q K¯<�T R ` 1400

|�³T¼NsÁ $w�jáT+ýË MTsÁT @$T >·eT�+#�sÁT ?

|�³T¼NsÁ ¿=q� K¯<�T R ` 7000

|�³T¼NsÁ n$T�q K¯<�T R ` 8500

MT |�]o\q @$T{ì ?

�|Õ Âs+&�T d�+<�s�ÒÛ\ýË, n$T�qyî\, ¿=q�yî\ ¿£+fñ mÅ£�Øe. ¿±�{ì¼ <�T¿±D<�sÁT�¿ì ¿=q�<�� ¿£+fñ mÅ£�Øe

kõeTT� ed�Tï+~. � mÅ£�Øe>± eºÌq kõeTT�qT ý²uó�+ n+{²sÁT. B�� Ôî\Td�T¿=qT³Å£� n$T�qyî\ qT+&�

¿=q�yî\qT rd¾yûjáÖ*.

¿=q�yî\ ¿£+fñ n$T�qyî\ mÅ£�Øe>± �+fñ eTqÅ£� ý²uó�+ ed�Tï+~. n$T�qyî\, ¿=q�yî\\ eT<ó�« >·\ Ôû&�jûT

ý²uó�+. ¿=�� ¿±³H� NsÁ\T d�]>± ýñ¿£bþe&�+ (sÁ+>·T\T bþe&�+) e\¢ y�{ì� ÿ¿=Ø¿£Ø{ì ` 800/` #=|�ÚÎq

neÖ�sÁT.

ý²uó�+ R n$T�qyî\ ` ¿=q�yî\



86 Class - 5  Maths Magic

The cost price of the cotton sarees =  ` 1200

The selling price of the cotton saree =  ` 800

What is your observation?

In above case, selling price is lesser than the cost price. To know, how much less
amount is getting than the cost price, we subtract selling price from cost price.

Loss = Cost Price - Selling  Price

We get loss if the cost price is more than selling price.  If the selling price is high, then
we will get profit.

Example -1:    A cycle shop owner bought a cycle worth ` 1500 and sold it for  `1350.
Then, find whether the owner gets profit or loss, by how much?

Solution: Cycle's cost price =  `1500

Cycle's selling price =  `1350

Cost price is higher than the selling price.  So, he gets loss.

Loss = Cost price - Selling price

=  ` 1500 –  `1350

=  ` 150

Example -2:    Amar is a gold merchant. He bought 10 gms of gold for  ` 28000.  Now its rate
has gone up to  ` 40,000. Will Amar make a  profit or a loss on selling the gold, by how
much?

Solution: Cost price of 10 g Gold =  ` 28,000

Present rate of 10g gold  =  ` 40,000

Present rate is high. So he gets profit.

Profit = Present rate - Cost price

=  ` 40,000 –  `28,000

=  ` 12,000
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¿±³H�NsÁ ¿=q� K¯<�T R ` 1200

¿±³H�NsÁ n$T�q K¯<�T R `  800

�|�Ú&�T MTsÁT @$T >·eT�+#�sÁT ?

�|Õ d�+<�sÁÒÛ+ýË n$T�qyî\, ¿=q�yî\ ¿£+fñ ÔáÅ£�Øe>± �+~. ¿=q�yî\ ¿£+fñ n$T�qyî\ m+Ôá ÔáÅ£�Øe n�

Ôî\Td�T¿=qT³Å£�, ¿=q�yî\ qT+&� n$T�qyî\qT rd¾yûjáÖ*.

qw�¼+ R ¿=q�yî\ ` n$T�qyî\

¿=q�yî\, n$T�qyî\ ¿£+fñ mÅ£�Øe>± �+fñ eTqÅ£� qw�¼+ ed�Tï+~. ný²¹> n$T�qyî\ mÅ£�Øe>± �+fñ eTqÅ£�

ý²uó�+ ed�Tï+~.

�<�V�²sÁD :1

ÿ¿£ �dÕ¿ìýÙ cÍ|t jáTÈeÖ� ÿ¿£ �dÕ¿ìýÙ qT ` 1500 ¿=�, <��� ` 1350 ¿ì neÖ�&�T. nsTTÔû jáTÈeÖ�¿ì

ý²uó�+ ed�Tï+<�? qw�¼+ ed�Tï+<�? m+Ôá?

kÍ<ó�q : �dÕ¿ìýÙ ¿=q�yî\        R ` 1500

�dÕ¿ìýÙ n$T�qyî\       R ` 1350

n$T�qyî\ ¿£+fñ ¿=q�yî\ mÅ£�Øe>± �+~ ¿±eÚq qw�¼+ ed�Tï+~.

qw�¼+ R ¿=q�yî\  `  n$T�qyî\

R ` 1500 ` ` 1350

R ` 150

�<�V�²sÁD :2

neTsY ÿ¿£ �+>±sÁT y�«bÍ]. nÔáqT 10ç>±. �+>±s��� ` 28,000 Å£� ¿=H��&�T. �|�Ú&�T � �+>±sÁ+ <ó�sÁ `

40,000 Å£� �|]Ð+~. �|�Ú&�T neTsY �+>±s��� n$T�Ôû ý²uó�eÖ? qw�¼eÖ? m+Ôá?

kÍ<ó�q : 10ç>±. �+>±sÁ+ <ó�sÁ R ` 28,000

10ç>±. �+>±sÁ+ ç|�d�TïÔá+ <ó�sÁ R ` 40,000

ç|�d�TïÔá+ <ó�sÁ mÅ£�Øe>± �+~ ¿±�{ì¼, n$T�Ôû nÔá�¿ì ý²uó�+ ed�Tï+~

ý²uó�+ R  ç|�d�TïÔá <ó�sÁ  `  ¿=q�yî\

R ` 40,000 ` ` 28,000

R ` 12,000
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Find the amount of profit or loss for the following problems.

1. Cost price of rice bag =  `750; selling price =  ` 900

2. Cost price of bed sheet =  ` 635; selling price =  ` 815

3. Cost price of umbrella =  `105; selling price =  ` 90

4. Cost price of a fan is  ` 800  and by selling it, Ravi got a profit of  ` 250.  What is its
selling price?

5. Cost price of a motor cycle is ` 42500/- and by selling it, Ajay got a loss of  `1800.
What is its selling price?

6. A thermos flask is purchased for `450 by a shopkeeper. He wants a profit of  ` 50.
What should be its selling price?

7. Rekha and Geetha went to a movie. Rekha bought two tickets for ` 120. Geetha
bought two pop-corn packets at the rate of  ` 30 for each. How much money did
Rekha spend more than that of Geetha?

  Exercise - 3
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¿ì+~ d�eTd�«\ýË ý²uó�, qcÍ¼\qT ¿£qT>=qTeTT.

1. _jáT«+ �kÍï ¿=q�yî\ R ` 750,  n$T�qyî\ R ` 900

2. ÿ¿£ <�T|�Î{ì ¿=q�yî\ R ` 635, n$T�qyî\ R ` 815

3. ÿ¿£ >=&�T>·T ¿=q�yî\  R ` 105, n$T�qyî\ R ` 90

4. sÁ$ ÿ¿£ b�Í«H�qT ` 800 ¿=H��&�T. <��� nÔáqT ` 250 ý²uó²�¿ì n$T�q. n$T�qyî\ m+Ôá?

5. nÈjYT ÿ¿£ yîÖ³sY �dÕ¿ìýÙ qT ` 42,500 \Å£� ¿=�, nyûT�Xæ&�T. nÔá�¿ì ` 1800 qw�¼+ eºÌH� n$T�qyî\

m+Ôá ?

6. ÿ¿£ <�T¿±D<�sÁT&�T ÿ¿£ <ûsÃ�dt bÍ¢dtØ qT ` 450 ¿=H��&�T. nÔáqT ` 50 ý²uó�+ bõ+<�\� nqTÅ£�H��&�T.

nsTTÔû  nÔáqT <��� m+ÔáÅ£� neÖ�*?

7. ¹sK, ^Ôá d¾�eÖ¿ì yîÞ²¢sÁT. ¹sK Âs+&�T {ìÂ¿³¢qT ` 120 \Å£� ¿=q�~. ÿ¿=Ø¿£Ø{ì ` 30 #=|�ÚÎq Âs+&�T

bÍ|t¿±sY� bÍÂ¿{Ù\qT ^Ôá ¿=q�~. ¹sK, ^Ôá ¿£+fñ m+Ôá mÅ£�Øe KsÁTÌ #ûd¾+~?

 nuó²«d�+ -  3
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Chapter Multiplication
and Division

The expenses are as mentioned below.

S.No. Item Unit Cost per unit     No.of units

   1. Sand 1Tractor truck        ` 1000 3
   2. Cement Brick One        ` 16 500
   3. Iron 1 Kg        ` 50 122 Kiloes
   4. Cement 1 Bag        ` 356 50
   5. Gravel 1Tractor truck        ` 3000 2

Mr. Raju is a farmer. He is constructing a new house. He purchased the needed
material to build the house like sand, cement, iron, gravel and bricks.
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nÔáqT ¿=qT>Ã\T #ûd¾q kÍeÖçÐ $es�\T.

e.d�+K«    kÍeTçÐ       jáTÖ�{Ù       ÿ¿£ jáTÖ�{Ù $\Te     jáTÖ�³¢ d�+K«

1. �d�T¿£ 1 ç{²¿£¼sÁT ç³Å£�Ø ` 1000 3

2. d¾yîT+³T �³T¿£ ÿ¿£{ì ` 16 500

3. �qTeTT 1 ¿ì.ç>± ` 50 122 ¿ìýË\T

4. d¾yîT+³T 1 �kÍï ` 356 50

5. ¿£+¿£sÁ 1 ç{²¿£¼sÁT ç³Å£�Ø ` 3000 2

n<ó�«jáT+ >·TD¿±sÁ+ eT]jáTT
uó²>·V�äsÁ+

s�E ÿ¿£ ÂsÕÔáT. nÔáqT ¿=Ôáï �+{ì� �]�d�TïH��&�T. �+{ì �s��D²�¿ì ned�sÁyîT®q kÍeTçÐ nq>± �d�T¿£,

d¾yîT+{Ù, �qTeTT, ¿£+¿£sÁ eT]jáTT �³T¿£\T ¿=qT>Ã\T #ûXæ&�T.
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How much amount was spent on these primary things?

 Cost per unit(`) Number of unit Total amount (`)
1. Sand × =

2. Cement bricks × =

3. Iron × =

4. Cement × =

5. Gravel × =

Then Raju asked Babu to send masons, helpers and labourer to work on daily wage.
The daily wages of those persons are given below.

   S.No. Workman ship   Wage per day
     1       Mason        ` 575
     2       Helper        ` 475
     3       Labour        ` 350

After the completion of 31 days of work, Sai who is the son of Raju calculated the
amount given to the Mason as shown below:

Total : 15000 + 2100 + 150 + 500 + 70 + 5 =  ` 17825

But Sai's brother Harsha calculated the same in another way as shown below.
One day labour wage to mason = ` 575
31 days labour wage to mason =   575 × 31

= (500 + 70 + 5) × 31
= (500 × 31) + (70 × 31) + (5 × 31)
= 15500 + 2170 + 155
= ` 17825

When they showed the two methods to their mother Devi, she said, “both are
correct and she explained the problem in another method which is given below.

Days wage 500 70 5
30 500 × 30 = 15000 70 × 30 = 2100 5 × 30 = 150
1 500 × 1 = 500 70 × 1 = 70 1 × 5 = 5
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�|Õ kÍeÖçÐ ¿=qT>Ã\T #ûjáTT³Å£� m+Ôá yîTTÔáï+ KsÁTÌ#ûXæ&�T?

  jáTÖ�{Ù yî\ (`)    jáTÖ�³¢ d�+K«       yîTTÔáï+ kõeTT� (`)

�d�T¿£ I R

d¾yîT+{Ù �³T¿£ I R

�qTeTT I R

d¾yîT+{Ù I R

¿£+¿£sÁ I R

�+{ì �s��D²�¿ì Ô�|Ó yûT�d¾ï, d�V�äjáTÅ£�\T eT]jáTT Å£L©\qT sÃEy�¯ yûÔáq+�|Õ |�+|¾+#áeT� s�E, u²�T�

n&�>±&�T. d�<�sÁT e«Å£�ï\ sÃEy�¯ yûÔáH�\T ¿ì+~ $<ó�+>± �H��sTT.

ç¿£.d�+ |��y�sÁT sÃEy�] yûÔáq+

1 yûT�d¾ï ` 575

2 d�V�äjáTÅ£�&�T ` 475

3 Å£L© ` 350

31 sÃE\ |�� |�PsÁïsTTq ÔásÁTy�Ôá, s�E Å£�eÖsÁT&�T kÍsTT, yûT�d¾ï¿ì �eÇe\d¾q kõeTT�qT ¿ì+~ $<ó�+>± >·Dì+#�&�T.

yîTTÔáï+ : 15000 + 2100 + 150 + 500 + 70 + 5 =  ` 17825

¿±ú �<û ýÉ¿£ØqT kÍsTT ÔáeTT�&�T V�²sÁü ¿ì+~ $<ó�+>± #ûXæ&�T.

Ô�|Ó yûT�d¾ï ÿ¿£sÃE yûÔáq+ = ` 575

Ô�|Ó yûT�d¾ï 31 sÃE\ yûÔáq+ = 575 × 31

= (500 + 70 + 5) × 31

= (500 × 31) + (70 × 31) + (5 × 31)

= 15500 + 2170 + 155

= ` 17825

y�sÁT #ûd¾q Âs+&�T sÁ¿±\ |�<�ÝÔáT\qT y�Þøß neT� <û$¿ì #áÖ|¾+#�sÁT. y�[ß<�ÝsÁT #ûd¾q |�<�ÆÔáT\T d�ÂsÕqyû n� #î|¾Î,

�yîT Å£L&� eTs=¿£ |�<�ÆÜýË �|Õ ýÉ¿£ØqT ¿ì+~ $<ó�+>± #ûd¾+~.

sÃEy�] yûÔáq+   500        70       5
30 500 × 30 = 15000 70 × 30 = 2100 5 × 30 = 150
1 500 × 1 = 500 70 × 1 = 70 1 × 5 = 5
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Wage for 31 days to Mason

Which method do you like of the above three?
Example:
Find the wage of helper for 23 days.

=   575 × 31
       575 --------- (575×1)
+ 17250 ------- (575×30)
` 17825

 475 × 23
        1425 --------- (475 × 3)
     + 9500 --------- (475 × 20)
   ` 10925

Do the following.

a) 127×12 b) 245×17 c) 346×19 d) 495×24 e) 524×36

f) 642×43 g) 729×56 h) 867×69 i) 963×72 j) 806×83

Raju completed his house construction. He made a list of his relatives. He wanted to
invite 1256 members to ‘house warming’. He consulted a printing press to print the invitation
cards at ` 7 each.

Raju calculated the total amount as shown below.

The cost of one invitation card =  ` 7

Members to be invited = 1256

Total amount to be paid to the press owner = 1256 × 7

= ` 8792

Multiplicand × Multiplier
= Product

Do these
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31 sÃE\Å£� Ô�|ÓyûT�d¾ï yûÔáq+

�|Õ eTÖ&�+{ìýË @ |�<�ÆÜ úÅ£� qºÌ+~?

�<�V�²sÁD

23 sÃE\Å£� d�V�äjáTÅ£�\T yûÔáq+ m+Ôá?

=     575 × 31

        575  --------- (575×1)

+ 17250  --------- (575×30)

` 17825

 475 × 23
        1425 --------- (475 × 3)

    + 9500  --------- (475 × 20)

  ` 10925

¿ì+~ ýÉ¿£Ø\T #ûjáT+&�.

1) 127I12 2) 245I17 3) 346I19 4) 495I24 5) 524I36

6) 642I43 7) 729I56 8) 867I69 9) 963I72 10) 806I83

s�E Ôáq �+{ì �s��D²�� |�P]ï#ûXæ&�T. >·�V�²ç|�yûXæ�¿ì 1256 eT+~ nÜ<ó�T\qT �V�äÇ�+#�\� �sÁ�sTT+#�&�T.

�V�äÇq |�çÔ�\T eTTç~+#á&��¿ì ç|¾+{ì+>́ ç�|dtÅ£� yîÞ²ß&�T. ÿ¿ÃØ ¿±sÁT¦ yî\ ` 7

�V�äÇq |�çÔ�\ yî\qT s�E ¿ì+~ $<ó�+>± >·Dì+#�&�T.

ÿ¿£ �V�äÇq |�çÔá+ yî\ = ` 7

�V�äÇ�+#á<�\#áT nÜ<ó�T\ d�+K« = 1256

ç�|dt jáTÈeÖ�¿ì #î*¢+#áe\d¾q yîTTÔáï+ = 1256 I 7

= ` 8792

>·TD«+ I >·TD¿£+

=  \�Æ+

�$ #ûjáT+&� :
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Process of Multiplication: 1256 × 7

Step 1:
We start multiplication from ones place.
Multiply number 6 (which is in ones place of multiplicand) by 7 (multiplier)

                          6 × 7 = 42
Write 2 (the digit in ones place of this product),

under 6  (ones place in 1256).
Write 4, the rest of the digit in 42, above 5 (tens place in 1256).

Step 2:
Now multiply the digit 5 which is in tens place by 7.  (7 × 5 = 35)
Add 4 which is above 5 to this result. 35 + 4 = 39.
Now write 9 under 5 [tens place in 1256] and write 3 above
2 [hundreds place in 1256].

Step 3:
Multiply the digit 2 which is in hundreds place by 7. (7 × 2 = 14)
Add 3 which is above 2 to this result. 14 + 3 = 17.
Now write 7 under 2 [hundreds place in 1256] and 1 above
1[thousands place in 1256].

Step 4:
Multiply 1which is in thousands place by 7.  (7 × 1 = 7)
Add 1which is on 1 to the result. 7 + 1 = 8.
Now write 8 under 1 [Thousands place in 1256].

1) Do the followings.
a) 2835×3 b) 3746×5 c) 45392×6 d) 56042×8 e) 63672×9
f) 786435×6 g) 79480×7 h) 832407×6 i)  989235×4 j) 905068×8

2) A factory manufacturers 4950 cars in a month. How many cars will the factory
produce in a year?

3) If a train travels 143 kilometres in an hour, how far will it travel in one day?

Do these

              4
1 2 5 6 × 7

   2

           3 4
1 2 5 6 × 7

              9 2

       1 3  4
1 2 5 6 × 7

          7 9 2

1 3 4
1 2 5 6 × 7

        8 7 9 2
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>·TD¿±sÁ kþbÍq ç¿£eT+ 1256 I 7

kþbÍq+ 1

ÿ¿£³¢ kÍÝq+ qT+&� >·TD¿±s��� çbÍsÁ+_ó+#�*.

6qT 7ÔÃ >·TDì+#�*. (>·TD«+ ` 6, >·TD¿£+ ` 7)                             6 × 7 = 42
2� (6,7\ \�Æ+ ÿ¿£³¢ kÍ�q+ýË� n+Â¿) 6 ¿ì+<� s�jáÖ*.

42 ýË $TÐ*q n+Â¿ nsTTq 4 qT 5 (1256 ýË |�<�T\ kÍ�q+ n+Â¿) �|Õq s�jáÖ*.

kþbÍq+ 2

�|�ð&�T |�<�T\ kÍ�q+ýË� n+Â¿ 5qT 7ÔÃ >·TDì+#�*. (7 I 5 R 35)

eºÌq ýu²Æ�¿ì 4 ¿£\bÍ* (5�|Õq >·\ n+Â¿). 35 G 4 R 39.

�|�ð&�T 9 � 5 (1256e e+<�\ kÍ�q+) ¿ì+<� s�jáÖ*.

3 �,  2 (1256ýË e+<�\ kÍ�q+) �|Õq s�jáÖ*.

kþbÍq+ 3

e+<�\ kÍ�q+ýË� n+Â¿ 2 qT 7 ÔÃ >·TDì+#�*. (7 I 2 R 14)

eºÌq \u²Æ�¿ì 3 ¿£\bÍ* (2 �|Õq >·\ n+Â¿). 14 G 3 R 17

�|�ð&�T 7 �, 2 (1256 ýË e+<�\ kÍ�q+) ¿ì+<� s�jáÖ*.

1 �, 1 (1256 ýË yû\ kÍ�q+) �|Õq s�jáÖ*.

kþbÍq+ 4

yû\ kÍ�q+ýË� n+Â¿ 1 qT 7 ÔÃ >·TDì+#�*. (7 I 1 R 7)

eºÌq ýu²Æ�¿ì 1 ¿£\bÍ* (1 �|Õ >·\ n+Â¿). 7 G 1 R 8

�|�Ú&�T 8 �, 1 (1256ýË yû\ kÍ�q+) ¿ì+<� s�jáÖ*.

1. ¿ì+~ ýÉ¿£Ø\T #ûjáT+&�.

n) 2835×3 �) 3746×5 �) 45392×6  �) 56042×8 �) 63672×9

}) 786435×6 �TT) 79480×7 �TÖ) 832407×6 m) 989235×4 @) 905068×8
2) ÿ¿£ ¿£+�|� 4950 ¿±sÁ¢\qT ÿ¿£ HîýýË ÔájáÖsÁT #ûjáT>·\<�T. ÿ¿£ d�+eÔáàsÁ+ýË m�� ¿±sÁ¢qT �ÔáÎÜï

#ûd�Tï+~.

3) ÿ¿£ ÂsÕ\T 143 ¿ìýËMT³sÁ¢ <�Ös��� 1 >·+³ýË ç|�jáÖDì+#á>·\<�T. ÿ¿£ sÃEýË � ÂsÕ\T m+Ôá <�ÖsÁ+

ç|�jáÖDì+#á>·\<�T?

�$ #ûjáT+&�

              4
1 2 5 6 × 7

   2

           3 4
1 2 5 6 × 7

              9 2

       1 3  4
1 2 5 6 × 7

          7 9 2

1 3 4
1 2 5 6 × 7

        8 7 9 2
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Raju's wife Devi wanted to buy gifts for 1256 guests. She went to market and bought
steel boxes each one costs ` 34.  Devi calculated the total amount to pay the shop keeper
like this.

Note: When multiplying with the digit in Tens place of the multiplier, we begin writing
the product under the tens place of the previous product.

On the day of house warming, Raju planned to arrange meal to the guests. Raju met
the Caterer Mastan who agreed for ` 125 per each plate.

Example: 1101 members attended on that day. How much amount Raju has to pay?
Sol. Number of guests attended =  1101

Cost of each plate of meal = ` 125
Total amount to be paid =  1101 × 125

= ` 1,37,625

Example:
If 2364 members attended the function and the cost of one plate of meal was ` 132, how
much amount could Mastan get?
Sol. Total members attended to the function =  2364

Cost of one plate meal  =  ` 132
Total amount Mastan got  =  ` 3,12,048

2 3 6 4 × 1 3 2
      4 7 2 8      ---------  (2364 × 2)
   7 0 9 2            ---------  (2364 × 3)

      + 2 3 6 4               --------- (2364 × 1)
         3 1 2 0 4 8

RIDDLE
I am a 3-digit number.
My ones digit is 3 times to my
hundreds digit.
Divide my ones digit by 2 to get
my tens digit.
My hundreds digit is the smallest
prime number. Who am I?

1 2 5 6 × 3 4
5 0 2 4  ---------- (1256 ×4 )

   + 3 7 6 8     ---------- (1256 ×3 )
      4 2 7 0 4

1101 × 125
5 5 0 5  ---------- (1101 × 5)

       2 2 0 2    ----------  (1101 × 2)
 + 1 1 0 1       ----------  (1101 ×1)
    1 3 7 6 2 5
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>·�V�²ç|�yûXæ�¿ì e#ûÌ nÜ<ó�T\Å£� �V�QeTÔáT\T �y�Ç\� s�E uó²sÁ« <û$ nqTÅ£�q�~. <�T¿±D²�¿ì yî[ß ̀  34 $\Te

>·\ 1256 dÓ¼\T u²Å£�à\T ¿=qT>Ã\T #ûd¾+~. <û$ <�T¿±D<�sÁT�¿ì #î*¢+#áe\d¾q yîTTÔ�ï�� ¿ì+~ $<ó�+>± >·Dì+º+~.

1 2 5 6 × 3 4
5 0 2 4  ---------- (1256 ×4 )

    + 3 7 6 8 ---------- (1256 ×3 )
     4 2 7 0 4

>·eT�¿£ : >·TD¿£+ jîTT¿£Ø  |�<�T\ kÍ�q+ýË� n+Â¿ÔÃ >·TD¿±sÁ+ #ûjáT>± eºÌq \u²Æ�� �+ÔáÅ£� eTT+<�T eºÌq \�Æ+

  jîTT¿£Ø 10 \ kÍ�q+ qT+&� s�jáT&�+ çbÍsÁ+_ó+#�*.

>·�V�²ç|�yûXø+ sÃEq e#ûÌ nÜ<ó�T\ ¿=sÁÅ£� ÿ¿ÃØ uóËÈq+ ` 125 \Å£� d�sÁ|��s� #û�d $<ó�+>± e+³ yûTçd¾ï eTkÍïH�ÔÃ

ÿ|�Î+<�+ #ûd�TÅ£�H��&�T s�E.

�<�V�²sÁD :  >·�V�²ç|�yûXø+ sÃEq 1101 eT+~ nÜ<ó�T\T eÖçÔáyûT e#�ÌsÁT. ¿±eÚq s�E m+Ôá yîTTÔ�ï�� eTkÍïH�Å£� #î*¢+#�*?

kÍ<ó�q :V�äÈÂsÕq nÜ<ó�T\ d�+K« R 1101
ÿ¿=Ø¿£Ø uóËÈq+ $\Te R  `  125
#î*¢+#áe\d¾q yîTTÔáï+ R  1101 × 125

R  `  1,37,625

�<�V�²sÁD :

ÿ¿£yûÞø >·�V�²ç|�yûXæ�¿ì 2364 eT+~ V�äÈÂsÕÔû, ÿ¿£ uóËÈq+ ̀  132 e+ÔáTq yîTTÔáï+ m+Ôá KsÁÌeÚÔáT+~?

kÍ<ó�q : nÜ<ó�T\ d�+K« R 2364
ÿ¿£ uóËÈq+ $\Te R ` 132
#î*¢+#áe\d¾q yîTTÔáï+ R ` 3,12,048

2 3 6 4 × 1 3 2
      4 7 2 8 ---------- (2364 × 2)
   7 0 9 2  ----------   (2364 × 3)

       + 2 3 6 4     ----------  (2364 × 1)
         3 1 2 0 4 8

bõ&�T|�Ú ¿£<�̧

    HûqT ÿ¿£ 3 n+Â¿\ d�+K«qT. ÿ¿£³¢

kÍ�q+ýË� n+Â¿ 100\ kÍ�q+ýË� n+Â¿Å£�

3 Âs³T¢ ÿ¿£³¢ kÍ�q+ýË� n+Â¿qT 2#û

uó²Ð+#á>± 10\ kÍ�q+ýË� n+Â¿ e#áTÌqT.

e+<�\ kÍ�q+ýË� n+Â¿ ¿£�w�¼ ç|�<ó�q

d�+K«, nsTTq HûHîe]�?

1101 × 125
5 5 0 5  ---------- (1101 × 5 )

        2 2 0 2  ----------  (1101 × 2 )
 + 1 1 0 1     ----------  (1101 ×1)
     1 3 7 6 2 5
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Example:
Mr. Raju's monthly salary is ` 31,224. What is his annual income?

Sol.
Mr. Raju's salary for one month =  3 1 2 2 4
His salary for one year =  3 1 2 2 4 × 1 2

=  ` 3, 7 4, 6 8 8

4.1 Making of word problems:
Example :  Prepare a word problem by using 12 × 127.
Problem : Balu wants to plant 12 tomato plants in a row. The total number of

rows are 127. How many tomato plants can be planted in the field?

1) Do the following multiplications and prepare a suitable word problem.
a) 3628 × 9 b) 1507 × 69 c) 4256 × 76
d) 27041 × 8 e) 4230 × 121 f) 8271 × 93

2) The tea seller Amar sells a cup of tea for ` 6. If 1100 cups of teas was served on  a
day,  how much amount did he earn on that day?

3) Carpenter Johnson made 9 cots and sold each cot for ̀  8,500.  How much amount did he
earn?

4) Mr.Kiran works as a scavenger in Mydukuru municipality. His salary for one month is
` 18,000. What is his annual salary? Which mathematical operation can you use to
solve this problem?

4.2 : Properties of multiplication

Property 1: Commutative property

Do the following.

1) 426 × 24  = _______________ 24 × 426  =  _______________

2) 4258 × 23 =____________ 23 × 4258 =  _______________

3) 9242 × 75 =____________ 75 × 9242 =  ______________

3 1 2 2 4 × 1 2
   6 2 4 4 8

        + 3 1 2 2 4 0
           3 7 4 6 8 8

Do these
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�<�V�²sÁD :

s�E jîTT¿£Ø Hî\y�¯ yûÔáq+  ` 31,224 nÔá� y�]ü¿£ yûÔáq+ m+Ôá?

kÍ<ó�q :

s�E jîTT¿£Ø Hî\y�¯ yûÔáq+ =  3 1, 2 2 4

nÔá� y�]ü¿£ yûÔáq+ =  3 1, 2 2 4 × 1 2

=  `  3, 7 4, 6 8 8

4.1  s�Ôá d�eTd�«\ ÔájáÖ¯

�<�V�²sÁD : 12 I 127qT �|�jîÖÐ+º s�Ôá d�eTd�«qT ÔájáÖsÁT #ûjáT+&�.

d�eTd�« : ÿ¿£ ÔÃ³ýË u²\T esÁTd�¿ì 12 ³yîÖ³ yîTT¿£Ø\T #=|�ðq H�{²&�T 127 esÁTd�ýË¢ m�� ³yîÖ³

yîTT¿£Ø\T H�³e#áTÌ?

n)  3628 × 9            �) 1507 × 69 �) 4256 × 76

�) 27041 × 8   �) 4230 × 121 }) 8271 × 93

2) neTsY ÿ¿£ {¡ � ̀  6 Å£� neTT�Ô�&�T. ÿ¿£ sÃE nÔáqT 1100 {¡\T n$T�Ôû, m+Ôá yîTTÔ�ï�� d�+bÍ~+#á>·\&�T?

3) ÿ¿£ eç&�+Ð 9 eT+#�\qT ÔájáÖsÁT#ûXæ&�T. ç|�Ü <��ú ` 8,500 \Å£� neÖ�&�T. nÔá�¿ì eºÌq yîTTÔáï+ m+Ôá?

4) ¿ìsÁDY yîT®<�TÅ£LsÁT |�ÚsÁbÍ\¿£ d�+|��T+ q+<�T bÍ]Xø�<ó�« ¿±]�Å£��>± |��#ûd�TïH��&�T. nÔá� Hî\d�] yûÔáq+

   ` 18,000 nÔá� y�]ü¿£ yûÔáq+ m+Ôá? � d�eTd�« kÍ<ó�qÅ£� @ >·DìÔá ç|�ç¿ìjáTqT $�jîÖÐkÍïeÚ.

1) ¿ì+~ >·TD¿±s�\T #ûjáT+&�. y�{ì¿ì ÔáÐq s�Ôá d�eTd�«\T ÔájáÖsÁT #ûjáT+&�.

4.2 >·TD¿±sÁ �jáTeÖ\T

1e �jáTeT+ : $�eTjáT H�«jáT+

¿ì+~ y�{ì� #ûjáT+&�.

1) 426 × 24  = _______________ 24 × 426  =  _______________

2) 4258 × 23 =_______________ 23 × 4258 =  _______________

3) 9242 × 75 =_______________ 75 × 9242 =  ______________

3 1 2 2 4 × 1 2
   6 2 4 4 8

        + 3 1 2 2 4 0
           3 7 4 6 8 8

�$ #ûjáT+&�
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  What do you
observe?

The product of two given
numbers remains the same

even if their order is changed.
This is known as "commutative

property" of multiplication

Property 2: Multiplicative Identity

Do the following.

1)   89 × 1=_____________    2)   261 × 1 = _____________ 3)    4589 × 1 = _____________

 What do you
observe?

 The product of any
number and 1 is the
number itself. 1 is

"multiplicative identity".

Property 3: Zero property of multiplication
Do the following.

1) 56 × 0 = _____________ 2)  258 × 0 = _____________ 3) 0 × 953 = _____________

  What do you
observe?   The product of any

number and zero is
always zero. This is

known as "zero property
of multiplication".
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úeÚ @$T

>·eT�+#�eÚ?

Âs+&�T d�+K«\qT @ ç¿£eT+ýË

>·TDì+ºH�, y�{ì \�Æ+ $\Te

eÖsÁ<�T. � �jáTeÖ�� »»>·TD¿±sÁ

$�jáTeT H�«jáT+µµ n+{²+.

2e �jáTeT+ : >·TD¿±sÁ ÔáÔáàeÖ+Xø+

�$ #ûjáT+&�.

1) 89 I 1 R________     2) 261 I 1 R________    3) 4589 I 1 R________

úeÚ @$T

>·eT�+#�eÚ?

@<îÕq ÿ¿£ d�+K«qT 1#û

>·TDì+#á>± n<û d�+K« e#áTÌqT.

1� »»>·TD¿±sÁ ÔáÔáàeÖ+Xø+µµ

n+{²sÁT.

3e �jáTeT+ : d�Tq� �jáTeT+ (XøSH�«+¿£ �jáTeT+)

�$ #ûjáT+&�

1) 56 I 0 R________     2) 258 I 0 R________     3) 0 I 953 R________

úeÚ @$T

>·eT�+#�eÚ?
@<îÕq ÿ¿£ d�+K«qT »0µ #û

>·TDì+#á>± »0µ e#áTÌqT. �

�jáTeÖ�� »»>·TD¿±sÁ XøSH�«+¿£

�jáTeT+µµ n+{²sÁT.
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18 × 32
20 × 30 = 600. The

multiplier and
multiplicand are

rounded off to near
tens.

Here multiplicand and
multiplier are rounded off
to nearest 10s, 100s and

1000s.

1. Find the products: 46 × 23 and 23 × 46.
2. Do the following:
 a) 23 × 1  = ___________   b) 342 × 1 = ___________   c) 999 × 1 = ___________
d) 53 × 0  = ___________   e) 259 × 0 = ___________    f) 5817 × 0 = ___________

Let us Estimate:

   There were 18 members in Ramu’s family. His
friend Shafi wanted to buy coconuts for them on a
festival day. The cost of one coconut is ` 32. He
asked his grandson Rahim to estimate the amount
of 18 coconuts.

Rahim estimated as follows.
Total amount = 32 × 18

= 30 × 20 ...... (32 ® 30)
= 600 ........... (18 ® 20)

Did Rahim estimated correctly?

Observe the estimations

47 × 29  ¾® 50 × 30 = 1500

72 × 98  ¾® 70 × 100 = 7000

167 × 19 ¾® 170 × 20 = 3400

396 × 78 ¾® 400 × 80 = 32,000

3241 × 212 ¾® 3000 × 200 = 6,00,000

Do these
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�$ #ûjáT+&�

n+#áH� yû<�Ý+ :

   s�eTT Å£�³T+�+ýË 18 eT+~ e«Å£�ï\T �H��sÁT. nÔá�

�d�V¾²ÔáT&�T sÁ|�Ó y�Þøß ¿Ãd�+ 18 ¿=�Ò] ¿±jáT\T ¿=H�\�

nqTÅ£�H��&�T. ÿ¿£ ¿=�Ò] ¿±jáT $\Te ` 32. Ôáq eTqe&�T

sÁVÓ²+qT m+ÔáKsÁTÌ neÚÔáT+<Ã n+#áH� yûjáTeTH��&�T.

sÁVÓ²+ ¿ì+~ $<ó�+>± n+#áH� yûXæ&�T.

yîTTÔáï+ &��TÒ = 32 × 18
= 30 × 20 ...... (32 ® 30)
= 600 ........... (18 ® 20)

sÁVÓ²+ d�]>±Hû n+#áH� yûXæ&�?

¿ì+~ n+#áH�\qT |�]o*+#á+&�.

47 × 29  ¾® 50 × 30 = 1500

72 × 98  ¾® 70 × 100 = 7000

167 × 19  ¾® 170 × 20 = 3400

396 × 78  ¾® 400 × 80 = 32,000

3241 × 212  ¾® 3000 × 200 = 6,00,000

18I32

20I30R600. �¿£Ø&�

>·TD«eTT, >·TD¿±\T d�MT|�

10\Å£� d�e]+#áu&�¦sTT.

�¿£Ø&�, >·TD«eTT, eT]jáTT

>·TD¿±\T d�MT|� 10\T, 100\T,

1000\Å£� d�e]+#áu&�¦sTT.

1. \u²Æ\qT ¿£qT>=q+&� : 46 I 23 eT]jáTT 23 I 46

2. ¿ì+~ y�{ì� #ûjáT+&�

 n) 23 I 1 R _________ �) 342 I 1 R _________ �) 999 I 1 R _________

�) 53 I 0 R _________ �) 259 I 0 R _________ }) 5817 I 0 R _________
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Do these
  Estimate the product of these multiplications.
    1) 59 × 19         2) 99 × 56      3) 189 × 33          4) 4123 × 316

4.3: Division

Mr. Raju donated 9984 books and 8
almirahs to Mandal Parishad Primary
school library. Teacher asked the 5th

class students to arrange the books
equally in the 8 almirahs.
1. How many books were donated to

the library?
2. How many almirahs were donated

by Mr. Raju?
3. What operation is required to arrange

the books equally in almirahs?
4. Let's see how to divide 9984 by 8.

Step 1
We begin from the left, i.e., with the thousands.
Divide 9 (the digit in thousands place) by 8.
Estimate the highest multiple of 8, which can be subtracted from 9
completely.

Clearly, known as 8×1=8 and 8×2=16.
As,  8 < 9 while 16 > 9.
We take 8 × 1 = 8.
Write 1 in the quotient.
Subtract 8 from 9.
Bring down 9, the digit in the hundreds place.
Now, 1 thousand and 9 hundreds make 19 hundreds.

We should do
division

8) 9 9 8 4 (1
   -8
    1 9
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�$ #ûjáT+&�

 ¿ì+~ y�� \u²Æ\qT n+#áH� yûjáT+&�.

  1) 59 I 19 2) 99 I 56 3) 189 I 33 4) 4123 I 316

4.3 uó²>·V�äsÁ+

eT+&�\ |�]w�ÔY çbÍ<ó�$T¿£ bÍsÄÁXæ\

ç>·+<̧�\jáÖ�¿ì  9984 |�Úd�ï¿±\T, 8

n\eTs�\qT s�E �V�A¿£]+#�&�T. 5e

ÔásÁ>·Ü �bÍ<ó�«jáTT&�T � |�Úd�ï¿±\qT 8

n\eTs�\ýË d�eÖq+>± d�sÁÝeT�

#îbÍÎ&�T.

1. ç>·+<̧�\jáÖ�¿ì s�E �V�A¿£]+ºq

   |�Úd�ï¿±\ d�+K« m+Ôá?

2. ç>·+<̧�\jáÖ�¿ì s�E �V�A¿£]+ºq

   n\eTs�\ d�+K« m+Ôá?

3. |�Úd�ï¿±\Å£� d�eÖq+>± d�sÁÝ{²�¿ì @

   >·DìÔá ç|�ç¿ìjáTqT �|�jîÖÐ+#�* ?

4. �|�ð&�T 9984 qT 8 #û mý²

   u²Ð+#�ýË |�]o*<�Ý+.

kþbÍq+ 1

$T¿ìØ* �|<�ÝkÍ�q+, nq>± yû\ÔÃ çbÍsÁ+_ó<�Æ+.

yû\ kÍ�q+ýË� 9 � 8 #û uó²Ð+#�*.

9 qT+&� rd¾yûjáT>·*¹> $T¿ìØ* �|<�Ý<îÕq »8µ >·TDìC²�� n+#áH� yûjáÖ*.

8 I 1 R 8 eT]jáTT 8 I 2 R 16 n� eTqÅ£� Ôî\Td�T

8 < 9, 16 > 9

¿±eÚq 8I1R8 � rd�T¿Ãy�*

1 � uó²>·|��\+ýË s�jáÖ*.

9 qT+&� 8� rd¾yûjáÖ*.

100 \ kÍ�q+ qT+&� 9 � ~+#áTÅ£�� s�jáÖ*

�|�ð&�T 1 yîsTT« eT]jáTT 9 e+<�\T ¿£\d¾ 19 e+<�\T n>·TqT.

uó²>·V�äs���

�|�jîÖÐ+#�*.

8) 9 9 8 4 (1
   -8
    1 9
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Step 2:
Divide 19 hundreds by 8.
Estimate the highest multiple of 8 which can be subtracted from 19 completely.
Clearly,  8 × 2 = 16  and   8 × 3 = 24.
As, 16 < 19  while  24 > 19.
We take  8 × 2 = 16.
Write 2 next to the previous quotient.
Subtract 16 from 19. We get 3.
Bring down 8, the digit in 10s place.
Now, 3 hundreds and 8 tens make 38 tens.

Step 3:

Step 4:

Divide 64 ones by 8.

Clearly, 8 × 8 = 64.

Write 8 next to the previous quotient.
Subtract 64 from 64. We get 0.

Divide 38 tens by 8.
Estimate the highest multiple of 8 which can be
subtracted from 38.
Clearly, 8 × 4 = 32  and  8 × 5 = 40.
As, 32 < 38 while  40 > 38.
we take 8 × 4 = 32.
Write 4 next to the previous quotient.
Subtract 32 from 38. We get 6.
Bring down 4 ones.
Now, 6 tens and 4 ones make 64 ones.

8) 9 9 8 4 (12
   -8
    1 9
    1 6
       3 8

8) 9 9 8 4 (124
   -8
    1 9
 -  1 6
       3 8
     - 3 2
          6 4

8) 9 9 8 4 (1248
   -8
    1 9
 -  1 6
       3 8
     - 3 2
          6 4
        - 6 4
            0

    1 2 4 8
8) 9 9 8 4
   -8
    1 9
  - 1 6
       3 8
     - 3 2
          6 4
        - 6 4
            0
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kþbÍq+ 2 :

19 e+<�\qT 8 #û uó²Ð+#�*.

19 qT+&� rd¾yûjáT>·*¹> $T¿ìØ* �|<�Ý<îÕq 8 >·TDìC²�� n+#áH� yûjáÖ*.

8I2R16, 8I3R24 n� Ôî\Td�T. 16 < 19 eT]jáTT 24 > 19

8I2R16 � rd�T¿Ãy�*

�+ÔáÅ£� eTT+<�T s�d¾q uó²>·|��\+ |�¿£Øq 2 s�jáÖ*.

19 qT+&� 16 � rd¾yûjáÖ*. 3 Xâw�+ ed�Tï+~.

10 \ kÍ�q+ýË� n+Â¿ 8� Xâw�+ 3 ç|�¿£ØÅ£� ~+#áTÅ£�� s�jáÖ*.

3 e+<�\T, 8 |�<�T\T ¿£\d¾ 38 |�<�T\T neÚÔ�sTT.

kþbÍq+ 3 :

38 |�<�T\qT 8 #û uó²Ð+#�*.

38 qT+&� rd¾yûjáT>·*¹> $T¿ìØ* �|<�Ý<îÕq 8 >·TDìC²�� n+#áH� yûjáÖ*.

8I4R32, 8I5R40 n� Ôî\Td�T.

32 < 38 eT]jáTT 40 > 38.

8I4R32 � rd�T¿Ãy�*.

�+ÔáÅ£� eTT+<�T uó²>·|��\+ |�¿£Øq 4 s�jáÖ*.

38 qT+&� 32� rd¾yûjáÖ*. Xâw�+ 6 ed�Tï+~.

ÿ¿£³¢ kÍ�q+ýË� n+Â¿ 4 qT Xâw�+ »6µ ç|�¿£Øq s�jáÖ*.

6 |�<�T\qT, 4 ÿ¿£³T¢ ¿£*d¾ 64 ÿ¿£³T¢ neÚÔ�sTT.

kþbÍq+ 4 :

64 ÿ¿£³¢qT 8#û uó²Ð+#�*

8I8 R 64 n� eTqÅ£� Ôî\Td�T

�+ÔáÅ£� eTT+<�T uó²>·|��\+ |�¿£Øq »8µ s�jáÖ*

64 qT+&� 64 qT rd¾yûjáÖ*

Xâw�+ »0µ ed�Tï+~.

8) 9 9 8 4 (12
   -8
    1 9
    1 6
       3 8

8) 9 9 8 4 (124
   -8
    1 9
  - 1 6
       3 8
     - 3 2
          6 4

8) 9 9 8 4 (1248
   -8
    1 9
  - 1 6
       3 8
     - 3 2
          6 4
        - 6 4
            0

    1 2 4 8
8) 9 9 8 4
   -8
    1 9
 -  1 6
       3 8
     - 3 2
          6 4
        - 6 4
            0
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Example - 1
Fourteen agricultural workers earned
` 5978 in a day as daily wage. How
much amount each one will get?

Example - 2

Number of agricultural workers  = 14
Amount earned = ` 5978
Amount each one will get = ` 427

Sol.

Thus, Quotient   =  427

 Remainder        =  0

     What is the remainder if you

divide 19895 with 21?
Sol.

Dividend

Divisor  2 1 ) 1 9 8 9 5 ( 9 4 7  Quotient
 -1 8 9
        9 9
      - 8 4
         1 5 5
        -1 4 7

    8     Remainder

Thus Quotient  =  947

Remainder      =  8

Relation between divisor, dividend,

quotient and remainder is

Dividend = (Divisor ×Quotient)
+ Remainder

Let's verify the solution whether correct or not by using the division relation.
Dividend  = (Divisor × Quotient) + Remainder

19895   =   (947  ×  21)  +  8

19895   = 19895

14) 5 9 7 8 (427
    - 5 6
         3 7
       - 2 8
            9 8
          - 9 8
              0
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�<�V�²sÁD ` 1

14 eT+~ e«ekÍjáT Å£L©\ ÿ¿£sÃE yûÔá+

` 5978 nsTTq ÿ¿ÃØ e«¿ìï yûÔáq+ m+Ôá?

�<�V�²sÁD ` 2

e«ekÍjáT Å£L©\ d�+K« R 14

d�+bÍ~+ºq yîTTÔáï+ R ̀  5978

ÿ¿ÃØ e«¿ìï d�+bÍ<�q R ` 427

kÍ<ó�q

¿±eÚq uó²>·|��\+  =  427
Xâw�+           =  0

19895 qT 21 #û uó²Ð+#á>± e#ûÌ Xâw�+ m+Ôá?

kÍ<ó�q

$uó²È«+

$uó²È¿£+ uó²>·|��\+

Xâw�+

¿±eÚq uó²>·|��\+ R 947

Xâw�+  R 8

$uó²È«+, $uó²È¿£+, uó²>·|��\+ eT]jáTT

Xâw�+ý eT<ó�« d�+�+<ó�+

$uó²È«+ R ($uó²È¿£+ I uó²>·|��\+) + Xâw�+

Èy��T� uó²>·V�²sÁ �jáTeT+ �<ó�sÁ+>± d�]#áÖ&�+&�.

$uó²È«+ R ($uó²È¿£+ I uó²>·|��\+ + Xâw�+)

19895    R   (947 I  21)     G  8

19895    R 19895

    2 1 ) 1 9 8 9 5 ( 9 4 7
 -1 8 9
        9 9
      - 8 4
        1 5 5
       -1 4 7

    8

14) 5 9 7 8 (427
    - 5 6
         3 7
       - 2 8
            9 8
          - 9 8
              0
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Do these

Do these

Do these

1) Do the following and write dividend, divisor, quotient and remainder and verify
the answer with division relation.
a)  97869 ÷ 6      b)  56821 ÷ 9      c)  68072 ÷ 7     d)  10213 ÷ 17

2) Raja bought 120 blankets with ` 6000 to distribute to orphans.  What is the cost
of each blanket?

3) Vemaiah bought 100 bread packets to distribute to patients with
` 2300. What was the cost of each bread packet?

Do the following and write your observation.

53427÷10,            53427÷100,            53427÷1000,             53427÷10000

4.4: Unitary – Method:

The unitary method is a process in which you find the value of one unit and
then the value of a required number of units.

Example :

Murali sells 10 guavas for ` 50. What would be the price of 7 guavas?

Sol. Cost of 10 guavas  = ` 50
Cost of 1 guava  = ` 50 ÷ 10

  = ` 5
Cost of 7 guavas  = ` 5 x 7

  = ` 35

1. If 8 pots cost is ` 800, what is the cost of 5 pots?
2. If 5 kg tomatoes cost is `125, what would be the cost of 2 kg tomatoes?
3. A publisher makes 3,875 books in the month of July. If they make the same number

of books every day, then how many books can they make in a leap year?
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�$ #ûjáT+&�

�$ #ûjáT+&�

�$ #ûjáT+&�

1. ¿ì+~ uó²>·V�äs�\T #ûjáT+&�. $uó²È«+, $uó²È¿£+, uó²>·|��\+, Xâw�+ \qT s�jáT+&�. uó²>·V�äsÁ �jáTeT+ �<ó�sÁ+>±

d�]#áÖ&�+&�.

n) 97869 ÷ 6   �) 56821 ÷ 9    �) 68072 ÷ 7 �) 10213÷17

2. nH�<ó�\Å£� |�+#áT³Å£� ` 6000 $\Te >·\ 120 <�T|�Î³¢qT s�E ¿=qT>Ã\T#ûXæ&�T. ÿ¿=Ø¿£Ø <�T|�Î{ì <ó�sÁ m+Ôá?

3.  100 eT+~ sÃ>·T\Å£� |�+#áT³Å£� ` 2300 $\Te>·\ s=fÉ¼\qT yûeTjáT« ¿=qT>Ã\T #ûXæ&�T. ÿ¿=Ø¿£Ø s=fÉ¼ <ó�sÁ m+Ôá?

¿ì+~ ýÉ¿£Ø\T #ûjáT+&�. MTsÁT @$T |�]o*+#�sÃ s�jáT+&�.

53427 ÷ 10, 53427 ÷ 100, 53427 ÷ 1000, 53427 ÷ 10000

4.4 @¿£ ed�TïeÖsÁZ+ :

yîTT<�³ ÿ¿£ ed�TïeÚ $\TeqT ¿£qT>=�, <�� �<ó�sÁ+>± ¿±e\d¾q ed�TïeÚ\ $\TeqT ¿£qT>=Hû

$<ó�qyûT @¿£ ed�TïeÖsÁZ+.

�<�V�²sÁD :

eTTsÁ[ 10 C²eT¿±jáT\qT ` 50 \Å£� n$T�q, 7 C²eT¿±jáT\ yî\ m+Ôá?

kÍ<ó�q : 10 C²eT¿±jáT\ yî\   R ` 50

ÿ¿£ C²eT¿±jáT yî\   R ` 50 ÷ 10
  R ` 5

7 C²eT¿±jáT\ yî\   R ` 5I7

   R ` 35

1. 8 Å£�+&�\ yî\ ` 800 nsTTq 5 Å£�+&�\ yî\ m+Ôá?

2. 5 ¿ìýË\ ³yîÖ³\ yî\ ` 125 nsTTq, 2 ¿ìýË\ ³yîÖ{²\ yî\ m+Ôá?

3. ÿ¿£ ç|�#áTsÁD¿£sÁï pýÉÕ Hî\ýË 3,875 |�Úd�ï¿±\T eTTç~+#�&�T. ç|�ÜsÃp d�eÖq d�+K«ýË |�Úd�ï¿±\T

   eTTç~+#á>·*ÐÔû, ÿ¿£ ©|�Ú d�+eÔáàsÁ+ýË m�� |�Úd�ï¿±\T eTTç~+#á>·\&�T ?
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Activity

Solve the given problems and colour the answers in the following grid of numbers.

4  Labourers agreed to work for ` 4250 to mow landlord’s field. Each of
them estimated the amount they are going to receive individually. Observe their
estimations.

Let's Estimate

Bhimu Ahmed David Krishna

Whose estimation is correct ?
If we round off ` 4250 to the nearest thousands, we get ` 4000. If  ` 4000

divided by 4, each one gets `1000.

Ex:  The Mandal Educational Officer of Mopidevi Mandal wanted to take 1895 children
to a science fair. If each bus can accommodate 48 students, estimate the number of
buses required.

To estimate the quotient in the division of two numbers, we have to round
off the divisor or dividend or both to nearest multiples of 10s, 100s and 1000s etc.
whichever makes the division easier.

Number of  Buses required = 1895 ÷ 48
= 2000 ÷ 50
= 40

     21 × 16 15 × 7 181× 5 288 ÷ 4 576 ÷ 12     78 ÷ 3

717 1001 105 3128 123

919 81 165 100 336

709 48 85 72 71

905 676 500 121 26
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¿£�Ôá«eTT

¿ì+~ ýÉ¿£Ø\T #ûjáT+&�. ¿ì+~ �ºÌq d�+U²« |�{ì¼¿£ýË Èy��T\T >·T]ï+º, ÔáÐq sÁ+>·T yûjáT+&�.

ÿ¿£ uó�ÖkÍÇ$T bõ\+ýË ¿ÃÔá¿ÃjáT&��¿ì 4 >·TsÁT e«Å£�ï\T ` 4250 \Å£� ÿ|�Î+<�+ #ûd�TÅ£�H��sÁT. ç|�Ü

e«¿¡ï, ÔáqÅ£� e#ûÌ yîTTÔ�ï�� ¿ì+~ $<ó�+>± n+#áH� yûd�TÅ£�H��&�T. y�] n+#áH�\qT |�]o*+#á+&�.

n+#áH� yû<�Ý+

;óeTT nV�²�<� &û$&� ¿£�w��

me] n+#áH� d�]jî®Tq~?

`4250 \qT d�MT|� yû\Å£� d�e]+ºH�, ` 4000 \T n>·TqT. ` 4000\qT 4#û uó²Ð+ºH� ` 1000

e#áTÌqT.

�<� : yîÖ|¾<û$ eT+&�\ $<�«XæU²~ó¿±] 1895 eT+~ $<�«sÁT�\qT yîÕC²ã�¿£ ç|�<�sÁôqÅ£� rd�TÅ£�yîÞ²ß\� nqTÅ£�H��sÁT.

ç|�Ü �d�TàýË 48 eT+~ $<�«sÁT�\qT rd�TÂ¿Þøß>·*ÐÔû, yîTTÔáï+ m�� �d�Tà\T ¿±y�ýË n+#áH� yûjáT+&�.

uó²>·|��ý²�� n+#áH� yûjáTT³Å£� $uó²È«+, $uó²È¿±\qT d�MT|� 10 \T ýñ<� 100 \T ýñ<� 1000 \Å£�

d�e]+#�*.

¿±e\d¾q �d�Tà\ d�+K« = 1895 ÷ 48
= 2000 ÷ 50
= 40

     21 × 16 15 × 7 181× 5 288 ÷ 4 576 ÷ 12     78 ÷ 3

717 1001 105 3128 123

919 81 165 100 336

709 48 85 72 71

905 676 500 121 26
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Do these

1. Estimate the result.

a)    309 ÷ 11      b)   497 ÷  23        c)    891 ÷ 32
d)    2940 ÷ 32      e)   6121 ÷ 52        f)     2928  ÷ 92

2. Johnny bought 5 packets of buns each containing 20 to distribute on his birthday. He
went to a hospital to distribute the buns. There were 48 patients. Estimate how many
buns each patient will get?

4.5 :  Relation between multiplication and division

Kavya! Do you know? I can write two divisions
corresponding to every multiplication.

Write division for this multiplication.
15 x 3=45

Multiplier × Multiplicand     = Product
  Multiplier       = Product  ÷ Multiplicand
  Multiplicand  = Product ÷ Multiplier

Corresponding divisions
 45  ÷ 3 = 15, 45 ÷ 15 = 3
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�$ #ûjáT+&�

1. |��*Ô��� n+#áH� yûjáT+&�.

n) 309 ÷ 11 �) 497 ÷ 23 �) 891 ÷ 32

�) 2940 ÷32 �) 6121 ÷ 52 }) 2928 ÷ 92

2. Ôáq |�Ú{ì¼qsÃEq s=fÉ¼\T |�+#á&��¿ì 5 �|fÉ¼\ s=fÉ¼\qT C²ú ¿=qT>Ã\T#ûXæ&�T. ç|�Ü�|fÉ¼ýË 20 s=fÉ¼\T                  �

H��sTT. y�{ì� 48 eT+~ sÃ>·T\Å£� d�eÖq+>± |�+ºÔû, d�TeÖsÁT>± ÿ¿=Ø¿£Ø]¿ì m�� s=fÉ¼\T ekÍïsTT?

4.5 : >·TD¿±sÁ+ eT]jáTT uó²>·V�²s�\ eT<ó�« d�+�+<ó�+

¿±y�«, úÅ£� Ôî\TkÍ! ç|�Ü >·TD¿±sÁ sÁÖbÍ�¿ì HûqT Âs+&�T

uó²>·V�äsÁ sÁÖbÍ\T s�jáT>·\qT.

15I3R45 Å£� uó²>·V�äsÁ sÁÖbÍ\T s�jáT+&�.

>·TD«+ I >·TD¿£+ R \�Æ+

  >·TD«+ R \�Æ+ ÷ >·TD¿£+

  >·TD¿£+ R \�Æ+ ÷ >·TD«+

uó²>±V�äsÁ sÁÖbÍ\T

45 ÷ 3 = 15, 45 ÷ 15 = 3
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Look at the table and fill in the blanks

Ramya! Now tell me one division, I will tell the
corresponding multiplication form.

The corresponding multiplication
form is 9 x 2 = 18.

18 ÷ 2 = 9

Look at the following table and write multiplication forms for the following divisions.

     Multiplication              Division form 1              Division form 2
10 x 2       = 20 20 ÷ 2 = 10 20 ÷ 10 = 2
23 x 4       = 92 92 ÷ 23 = 4
52 x 12     = 624 624 ÷ 12 = 52
500 x 40   = 2000 2000 ÷ 500 = 40
36 x 18     = 648
5027 x 15 = 7605

 Division form Multiplication form
54     ÷  6   = 9 9 x 6  = 54
168   ÷  12  = 14 14 x 12 = 168
792   ÷  22  = 36
200   ÷  5   = 40
1265 ÷  23  = 55
2262 ÷  39  = 58
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¿ì+~ |�{ì¼¿£qT |�]o*+#á+&� U²°\T |�P]+#á+&�.

  >·TD¿±sÁ+           uó²>·V�äsÁ sÁÖ|�+ ` 1   uó²>·V�äsÁ sÁÖ|�+ ` 2

10     × 2    = 20 20 ÷ 2 = 10 20 ÷ 10 = 2

23     × 4    = 92 92 ÷ 23 = 4

52     × 12  = 624 624 ÷ 12 = 52

500   × 40  = 2000 2000 ÷ 500 = 40

36     × 18 = 648

5027 × 15  = 7605

sÁeT«! @<îÕq ÿ¿£ uó²>·V�äsÁ+ #î|�ð. HûqT <�� jîTT¿£Ø >·TD¿±sÁ

sÁÖbÍ�� #îbÍïqT.

d�+�+~óÔá >·TD¿±sÁ sÁÖ|�+

9 I 2 R 18

18 ª 2 R 9

¿ì+~ |�{ì¼¿£qT |�]o*+#á+&�. uó²>·V�äs�\Å£� d�+�+~óÔá >·TD¿±sÁ sÁÖbÍ\T s�jáT+&�.

uó²>·V�äsÁ sÁÖ|�+    >·TD¿±sÁ sÁÖ|�+

54     ÷  6   = 9 9 x 6  = 54
168   ÷  12  = 14 14 x 12 = 168
792   ÷  22  = 36
200   ÷  5   = 40
1265 ÷  23  = 55
2262 ÷  39  = 58
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Exercise
1. Ahmmad earns ` 9500 per month. How much amount he earns in a year?
2. 2488 families are living in a major panchayath. If each family pays ` 30 per year

towards library cess, how much amount will be collected? Write the process to find
the collected amount.

3. The cost of a bicycle is ` 3950. The cost of a motor cycle is 13 times to bicycle's cost.
What is the cost of the motor cycle?

4. A carton can hold 36 mangoes. How many such cartons are required if there are
30,744 mangoes in all?

5. Mr. Mani wants to distribute ` 64,000 equally among 8 of his workers towards their
wages. How much will each worker get?

6. The owner of a cell phone shop bought 8 cell phones of same cost and he gave
` 90,000 to wholesaler. The wholesaler returned him ` 400. What is the cost of each
cell phone?

7. 28 laddoo weigh 1 kg. How many laddoo weigh 12 kgs. If 16 laddoo can be packed
in one box, how many boxes are needed to pack all these laddoo ?

8. A fisher man wants to sell  8 kg of fish for ` 1600. But  Ramu wants to buy 5 kg only.
Find the cost for 5 kg.

9. 50 kgs of jaggery costs ` 2500. What is the cost of 15 kg  jaggery?
10. If a family requires ` 3200 for 8 days, how much money does the family require for

4 days?
11. Harsha painted pictures and sold them in an art show. He charged ` 2567 for big

painting and ` 465 for small painting. He sold 6 large paintings and 3 small paintings.
How much amount did he earn in the art show?

12. The cost of 63 erasers is ` 315. What will be the cost of 45 erasers?
13. 12 metres of shirt cloth costs ` 1440. What will be the cost of 7 metres of such cloth?

Fun with maths

Observe and continue it...
1 × 1 = 1
121 ×1 = 11 × 111
12321 × 1 = 111 × 111
1234321×1 =
.........……………………………
.........……………………………

1 × 9 = 9
12 × 9 = 108
123 × 9 = 1107
1234 × 9 =
.........………………………
.........………………………
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nuó²«d�+

1. nV�²�<� ÿ¿£ Hî\Å£� ` 9500 d�+bÍ~+#áTqT. nÔáqT ÿ¿£ d�+eÔáàsÁ+ýË m+Ôá d�+bÍ~kÍï&�T?

2. ÿ¿£ �|<�Ý |�+#�sTTrýË 2488 Å£�³T+u²\T �ed¾d�TïH��sTT. ç|�Ü Å£�³T+�+ d�+eÔáàs��¿ì ` 30 ç>·+<¸�\jáT |�qT�

#î*¢+ºq, yîTTÔáï+ m+Ôá kõeTT� ed�Ö\T neÚÔáT+~?

3. ÿ¿£ �dÕ¿ìýÙ yî\ ` 3950. yîÖ³sÁT �dÕ¿ìýÙ yî\, �dÕ¿ìýÙ yî\Å£� 13 Âs³T¢ nsTTH� yîÖ³sÁT �dÕ¿ìýÙ yî\ m+Ôá?

4. ÿ¿£ n³¼�|fÉ¼ýË 36 eÖ$T&� |�+&�T¢ �+#á>·\+. 30,744 eÖ$T&� |�+&�T¢ �+#á&��¿ì m�� n³¼�|fÉ¼\T ¿±y�*?

5. Ôáq e<�Ý |��#û�d »8µ eT+~ |��y�ÞøßÅ£� ` 64,000 \qT d�eÖq+>± |�+#�\� eTDì jáTÈeÖ� uó²$+#�&�T. ÿ¿ÃØ

e«¿ìï¿ì m+Ôá yîTTÔáï+ e#áTÌqT?

6. ÿ¿£ �dýÙb�þH� y�«bÍ] ÿ¹¿ $\Te >·\ 8 b�þH�\qT yîTTÔáï+ ̀  90,000 \Å£� {ËÅ£� esÁïÅ£�� e<�Ý ¿=qT>Ã\T #ûXæ&�T. ¿±�

esÁïÅ£�&�T ` 400 Ü]Ð �ºÌq, ÿ¿ÃØ �dýÙb�þH� K¯<�T m+Ôá?

7. ÿ¿£ ¿ìýËç>±eTTÅ£� 28 \&�Ö¦\T ÔáÖ>·TqT. 12 ¿ì.ç>± \Å£� m�� \&�Ö¦\T ÔáÖ>·TqT. ÿ¿=Ø¿£Ø n³¼�|fÉ¼ýË 16 \&�Ö¦\T

eÖçÔáyûT |�&�Ôû yîTTÔáï+ m�� �|fÉ¼\T ¿±y�*?

8. ÿ¿£ #û|�\ y�«bÍ] 8 ¹¿J\ #û|�\qT ` 1600 Å£� neÖ�\� nqTÅ£�H��&�T. ¿±ú s�eTT 5 ¹¿J\ #û|�\qT eÖçÔáyûT

¿=qT>Ã\T #ûd¾q, s�eTT m+Ôá kõeTT� #î*¢+#�*?

9. 50 ¿ì.ç>±\ uÉ\¢+ <ó�sÁ ` 2500 nsTTH� 15 ¿ì.ç>±\ uÉ\¢+ yî\ m+Ôá?

10. ÿ¿£ Å£�³T+u²�¿ì 8 sÃE\Å£� ` 3200 \T KsÁTÌn>·TqT. nsTTÔû 4 sÃE\Å£� m+Ôá KsÁTÌ neÚÔáT+~?

11. V�²sÁü u¤eT�\T ^º, ºçÔá¿£Þ² ç|�<�sÁôqýË neT�¿±�¿ì �+#�&�T. �|<�Ý ºçÔ��¿ì ` 2567 ºq� ºçÔ��¿ì ` 465

ed�Ö\T #ûXæ&�T. � ç|�<�sÁôqýË 6 �|<�ÝºçÔ�\T, 3 ºq�ºçÔ�\qT n$T�q, nÔáqT m+Ôá d�+bÍ~+#�&�T?

12. 63 sÁ�ÒsÁT\ yî\ ` 315 nsTTÔû 42 sÁ�ÒsÁT\ yî\ m+Ôá?

13. 12 MT³sÁ¢ #=¿±Ø >·T&�¦ yî\ ` 1440, nsTTÔû 7 MT³sÁ¢ yî\ m+Ôá?

|�]o*+º, ¿=qkÍÐ+#áT.

1 × 1 = 1
121 ×1 = 11 × 111
12321 × 1 = 111 × 111
1234321×1 =
.........……………………………
.........……………………………

1 × 9 = 9
12 × 9 = 108
123 × 9 = 1107
1234 × 9 =
.........………………………
.........………………………

>·DìÔá $HÃ<�+
|�]o*+º bõ&�Ð+#á+&�.
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Bindu and Ramu are playing Maths games. When Ramu tells any number, Bindu

replies whether the number is divisible by any of the numbers 2, 5 or 10 without

making division.

Ramu : 2438

Bindu : It is divisible by 2, but not divisible by 5 and 10.

Ramu : 2535

Bindu : It is divisible by 5, but not divisible by 2 and 10.

Ramu : 3460

Bindu : It is divisible by 2, 5, and 10.

Ramu : 3607

Bindu : It is not divisible by 2, 5 and 10.

5.1: Divisibility rules

Chapter Multiples and
Factors

When a
number is  divided by

another number
leaving remainder

zero, then we say that
the first number is
exactly divisible

by the second
number.
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n<ó�«jáT+ >·TDìC²\T eT]jáTT
¿±sÁD²+¿±\T

_+<�T, s�eTT �<�ÝsÁÖ >·DìÔá �³\T �&�TÔáTH��sÁT. s�eTT #î|¾Îq @ d�+K«HîÕH� n~ 2, 5, 10\ýË <û�ÔÃ uó²Ð+#á�&�TÔáT+<Ã

uó²>·V�äsÁ+ #ûjáTÅ£�+&�Hû _+<�T #î�TÔÃ+~.

s�eTT : 2438

_+<�T : �~ 2 #û uó²Ð+#á�&�TÔáT+~. 5, 10\#û uó²Ð+#á�&�<�T.

s�eTT : 2535

_+<�T : �~ 5#û uó²Ð+#á�&�TÔáT+~. 2,10\#û uó²Ð+#á�&�<�T.

s�eTT : 3460

_+<�T : �~ 2, 5 eT]jáTT 10 \#û uó²Ð+#á�&�TÔáT+~.

s�eTT : 3607

_+<�T : �~ 2, 5, 10 \#û uó²Ð+#á�&�<�T.

5.1. uó²ÈújáTÔá d�ÖçÔ�\T :

ÿ¿£ d�+K«qT eTs=¿£

d�+K«#û uó²Ð+#á>±

Xâw�+ »0µ e�dï, yîTT<�{ì

d�+K« Âs+&�e d�+K«#û

»»�Xâôw�+µµ>±

uó²Ð+#á�&�TÔáT+~

n+{²sÁT.
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Do these

How could Bindu tell without doing actual division?
Divide the numbers with 2 to find out which of the following numbers are exactly

divisible by 2. Observe which numbers are not divisible?
2410 1282 3784 6728

5633 1789 5466 1787

Which of the above numbers are exactly divisible by 2?

_________, __________, ________, _________, __________

Observe the units place of the numbers, which are divisible by 2.

_________, __________, ________, _________, __________

Are all these numbers even numbers? yes / no
So a number is divisible by 2,  if the digit at its ones place is either 0/2/4/6/8.

All even numbers are exactly divisible by 2.

 1) Circle the following numbers which are divisible by 2.
2469 7435 8496 7630 4301 8023

4678 2030 2224 7972 6120 1524

 2) Write any 5, four-digit numbers which are divisible by 2.

Divisibility rule of 5:-
Ramu : What is the divisibility rule of 5?
Bindhu : Say some multiples of 5
Ramu : 5, 10, 15, 20, 25, 30, 35....
Bindhu : Observe and write  the digits at the ones

place of the multiples of 5.

_________, __________,

Do you know?

All the multiples of a given
number are divisible by that

number.

A number is divisible by 5, if the digit at its ones place is either 0 or 5.

Which number is not divisible by 5 in 235, 228? Why?
228 is not divisible by 5. 235 is divisible by 5
Its unit's place is not 0 or 5. Since its unit's place has 5.
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�$ #ûjáT+&� :

_+<�T uó²>·V�äsÁ+ #ûjáTÅ£�+&�Hû mý² #î|�Î>·*Ð+~?

¿ì+~ �eÇ�&�q d�+K«\ýË @$ 2 #û �Xâôw�+>± uó²Ð+#á�&�Ô�jîÖ uó²>·V�äsÁ+ #ûd¾ #áÖ&�+&�. @$ 2#û uó²Ð+#á�&�yÃ

|�]o*+#á+&�:

2410 1282 3784 6728

5633 1789 5466 1787

�|Õ y��ýË @@ d�+K«\T 2 #û �Xâôw�+>± uó²Ð+#á�&�Ô�sTT?

_________, __________, ________, _________, __________

2 #û uó²Ð+#á�&�q d�+K«\ ÿ¿£³¢ kÍ�H��� |�]o*+#á+&�.

_________, __________, ________, _________, __________

� d�+K«\ú� d�]d�+K«ýñH�? neÚH� / ¿±<�

¿±eÚq ÿ¿£ d�+K« 2 #û �Xâôw�+>± uó²Ð+#á�&�\+fñ � d�+K« ÿ¿£³¢ kÍ�q+ýË 0/2/4/6/8 d�+K«\T �+&�*.

n�� d�]d�+K«\T 2 #û �Xâôw�+>± uó²Ð+#á�&�Ô�sTT.

1) 2#û uó²Ð+|��&�T d�+K«\Å£�  #áT³¼+&�.

2469 7435 8496 7630 4301 8023

4678 2030 2224 7972 6120 1524

2) 2#û uó²Ð+#á�&�T H�\T>·+Â¿\ d�+K«\T @yîÕH� nsTT~+{ì� s�jáT+&�.

uó²ÈújáTÔ� d�ÖçÔá+ 5 :

s�eTT : 5 uó²ÈújáTÔ� d�ÖçÔá+ @$T{ì?

_+<�T : 5 jîTT¿£Ø ¿=�� >·TDìC²\T #î|�ð.

s�eTT : 5, 10, 15, 20, 25, 30, 35....

_+<�T : 5 >·TDìC²\ýË y�{ì ÿ¿£³¢ kÍ�q+ýË�

n+Â¿\qT |�]o*+º s�jáT+&�.

_________, __________,

MTÅ£� Ôî\TkÍ?

ÿ¿£ d�+K« jîTT¿£Ø >·TDìC²\T, �

d�+K«#û �Xâôw�+>± uó²Ð+|��&�Ô�sTT.

ÿ¿£ d�+K« jîTT¿£Ø ÿ¿£³¢ kÍ�q+ýË 0, 5 \T �+fñ � d�+K« 5 #û �Xâôw�+>± uó²Ð+#á�&�TÔáT+~.

235, 228 \ýË @~ 5#û uó²Ð+#á�&�<�T? m+<�TÅ£�?

228, 5#û uó²Ð+#á�&�<�T. 235, 5#û uó²Ð+#á�&�TÔáT+~.

¿±sÁD+ B� ÿ¿£³¢ kÍ�q+ýË 0, 5 ýñeÚ. ¿±sÁD+ <�� ÿ¿£³¢ kÍ�q+ýË 5 �+~.
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Divisibility rule of 10:
Ramu says 10 divisibility rule like this.
Multiples of 10 are 10, 20, 30, ….. and so on.
In the above all multiples of 10, the digit in unit's place is '0'.
All multiples of 10 are divisible by 10.

Observe below table

Number Units place Divisible by 10 Not divisible by 10 Reason
271 1 3 Once place

 don't have zero
3740 0 3 Units place has

zero
404050 0 3 Units place has

zero
50250 0 3 Units place has

zero

The numbers which have zero at their ones place are exactly divisible by 10.

Exercise -  1

 1. Find the numbers which are divisible by 2. Write the reason for the numbers which are
not divisible.
a) 3458 b) 56745 c) 3850 d) 6736 e) 6733 f) 3394

 2. Find the numbers which are divisible by 5 and 10. Write the reason for the numbers
which are not divisible.
a) 3568 b) 3540 c) 6585 d) 7550 e) 4235 f) 7200
g) 7865 h) 5880 i) 7885 j) 4440 k) 8198 l) 8645

 3. The numbers below are divisible by 5. Fill in the blanks with suitable digit.
a) 786_ b) 560_ c) 785_ d) 555_ e) 586_ f) 7 8 6 _
g) 584_ h) 100_

 4. Write any 5 numbers which are exactly divisible by 2 and 5.

 5. Write any 5 numbers which are exactly divisible by 2, 5 and 10.



127ÔásÁ>·Ü ` 5  >·DìÔá+ÔÃ >·eT�ÔáTï

10 uó²ÈújáTÔ� d�ÖçÔá+ :

s�eTT 10 uó²ÈújáTÔ� d�ÖçÔá+ �ý² #îbÍÎ&�T.

10 >·TDìC²\T : 10, 20, 30, ......

10 >·TDìC²\��+{ì ÿ¿£³¢ kÍ�q+ýË »0µ �+~.

\ 10 >·TDìC²\�� 10 #û �Xâôw�+>± uó²Ð+#á�&�Ô�sTT.

¿ì+~ |�{ì¼¿£qT |�]o*+#á+&�

d�+K« ÿ¿£³¢ kÍ�q+   10#û uó²Ð+#á�&�TÔáT+~ 10 #û uó²Ð+#á�&�<�T ¿±sÁD+

271 1 3 ÿ¿£³¢ kÍ�q+ýË

»0µ ýñ<�T

3740 0 3 ÿ¿£³¢ kÍ�q+ýË

»0µ �+~

404050 0 3 ÿ¿£³¢ kÍ�q+ýË

»0µ �+~

50250 0 3 ÿ¿£³¢ kÍ�q+ýË

»0µ �+~

ÿ¿£³¢ kÍ�q+ýË »0µ �q� d�+K«\ú� 10 #û �Xâôw�+>± uó²Ð+#á�&�Ô�sTT.

nuó²«d�+ `   1

1. 2#û uó²Ð+#á�&�T d�+K«\qT >·T]ï+#á+&�. uó²Ð+#á�&�¿£bþe&��¿ì ¿±sÁD²\T çy�jáT+&�.

n) 3458 �)  56745 �) 3850 �) 6736 �)6733 }) 3394

2. 5 eT]jáTT 10 \#û uó²Ð+#á�&�T d�+K«\qT ¿£qT¿ÃØ+&�. uó²Ð+#á�&�¿£bþe&��¿ì ¿±sÁD²\T çy�jáT+&�.

n) 3568 �) 3540 �) 6585 �) 7550 �) 4235 }) 7200

�TT) 7865 �TÖ) 5880  m) 7885 @) 4440 ×) 8198 ÿ) 8645

3. ¿ì+~ �q� d�+K«\ýË U²°\qT @ n+Â¿\ÔÃ |�P]�dï n$ 5#û �Xâôw�+>± uó²Ð+#á�&�Ô�sTT.

n) 786_ �) 560_ �) 785_ �) 555_ �) 586_ }) 786_

�TT) 584_ �TÖ) 100_

4. 2 eT]jáTT 5\#û �Xâôw�+>± uó²Ð+#á�&�T @yîÕH� 5 d�+K«\T s�jáT+&�.

5. 2, 5 eT]jáTT 10 \#û �Xâôw�+>± uó²Ð+#á�&�T @yîÕH� 5 d�+K«\T s�jáT+&�.
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Divisibility rule of 3: Digital root:
The digital root
of the number is
the single digit

that results from
the continuous
summation of

the digits of the
number.

  Multiple of 3    Sum of the digits of the multiple    Digital root
3 3 3
6 6 6
12 1 + 2 = 3 3
15 1 + 5 = 6 6
39 3 + 9 = 12 1 + 2 = 3
147 1 + 4 + 7 = 12 1+2=3
342 3 + 4 + 2 = 9 9

  Divisibility rules for 3, 4, 6, 8 and 9

Observe the digital root in the above table. What did you observe?
The digital roots of any multiple of 3 are _________, __________, ________

If the digital root of the numbers is 3 or 6 or 9,
then the numbers are divisible by 3.

Ex-1: Does 345 is divisible by 3 or not?
Digital root of 345 is 3 + 4 + 5 = 12 = 1 + 2 = 3
Hence it is multiple of 3
So 345 is divisible by 3

Ex-2 : Does 349 is divisible by 3 or not?
Digital root of 349 is 3 + 4 + 9 = 16 = 1 + 6 = 7
Hence 7 is not multiple of 3
So 349 is not divisible by 3.

You are not
divisible by 3

You are
divisible by 3

    3) 345 (115
       - 3

                  04
                  - 3

          15
        - 15

 0

    3) 349 (116
       - 3

                  04
                  - 3

          19
        - 18

 1
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3 >·TDìC²\T >·TDìC²\ýË� n+Â¿\ yîTTÔáï+     n+¿£eTÖ\+

3 3 3
6 6 6
12 1 + 2 = 3 3
15 1 + 5 = 6 6
39 3 + 9 = 12 1 + 2 = 3
147 1 + 4 + 7 = 12 1+2=3
342 3 + 4 + 2 = 9 9

3, 4, 6, 8 eT]jáTT 9\Å£� uó²ÈújáTÔ� d�ÖçÔ�\T

3 uó²ÈújáTÔ� d�ÖçÔá+

n+¿£ eTÖ\+

ÿ¿£ d�+K«ýË� n+Â¿\

yîTTÔ�ï�� ÿ¿£

d�+K«e#áTÌ esÁÅ£�

Å£L&�>± eºÌq

yîTTÔ�ï�� � d�+K«

jîTT¿£Ø n+¿£eTÖ\+

n+{²sÁT.

�|Õ |�{ì¼¿£ q+<�* n+¿£eTÖý²\qT |�]o*+#á+&�. @$T >·eT�+#�sÁT.

3 >·TDìC²\ jîTT¿£Ø n+¿£eTÖý²\T _________, __________, ________

ÿ¿£ d�+K« n+¿£eTÖ\+ 3 ýñ<� 6 ýñ<� 9 nsTTÔû � d�+K« 3 #û

�Xâôw�+>± uó²Ð+#á�&�TÔáT+~.

�<�V�²sÁD1 : 345 nqT d�+K« 3 #û uó²Ð+#á�&�TÔáT+<�? ýñ<�?

345 jîTT¿£Ø n+¿£eTÖ\+ 3 G 4 G 5 R 12 R 1 G 2 R 3

�~ 3 jîTT¿£Ø >·TDìÈeTT.

¿±eÚq 345, 3 #û �Xâôw�+>± uó²Ð+#á�&�TÔáT+~.

�<�V�²sÁD 2 : 349 nqT d�+K« 3 #û uó²Ð+#á�&�TÔáT+<�? ýñ<�?

349 jîTT¿£Ø n+¿£eTÖ\+ 3 G 4 G 9 R 16 R 1 G 6 R 7.

7, 3 jîTT¿£Ø >·TDìÈeTT ¿±<�T.

¿±eÚq 349 3 #û uó²Ð+#á�&�<�T.

    3) 345 (115
       - 3

                  04
                  - 3

          15
        - 15

 0

    3) 349 (116
       - 3

                  04
                  - 3

          19
        - 18

 1

úeÚ 3#û �Xâôw�+>±

uó²Ð+#á�&�Ô�eÚ.

úeÚ 3#û �Xâôw�+>±

uó²Ð+#á�&�eÚ.
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Do these

Divisibility rule of 9:
Bindu and Ramu filled the following table. You have to observe it.

What do you observe from the above table?

If the digital root of the number is 9, then the number is exactly divisible by 9.

Ex1 : Take a number 531.
Digital root of 531 is 5 + 3 + 1 = 9
What do you say about the number?
531 is  divisible by 9 because the digital root of 531 is 9.

Ex2: Take a number 362.
Digital root of 362 is 3 + 6 + 2 = 11 = 1 + 1 = 2
What do you say about the number 362?
362 is not divisible by 9. Because the digital root of 362 is not 9.

1)  Circle the number which is exactly divisible by 3 and 9 and write correct reason.
a) 108          b) 116          c) 117         d) 127            e) 132       f) 822
g) 435          h) 783           i) 1107       j)  5535         k) 2343     l) 4563

2) Write any 5 numbers which are exactly divisible by 3 and 9.

Divisibility rule of 4

          1) 624 2) 3232 3) 5840 4) 4556

      Observe the last two digits [ones, tens] of the given number.

Multiple of 9     Sum of the digits of the multiple    Digital root
9 9 9
18 1 + 8 = 9 9
27 2 + 7 = 9 9
99 9 + 9 = 18 1+8=9
135 1 + 3 + 5 = 9 9
162 1 + 6 + 2 = 9 9

    9) 531 (59
      - 45

                     81
                   - 81

 0

    9) 362 (40
      - 36

                       2
                     - 0

 0
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�$ #ûjáT+&�

9 >·TDìC²\T >·TDìC²\ýË� n+Â¿\ yîTTÔáï+ n+¿£eTÖ\+

9 9 9
18 1+8=9 9
27 2+7=9 9
99 9+9=18 1+8=9

135 1+3+5=9 9
162 1+6+2=9 9

9 uó²ÈújáTÔ� d�ÖçÔá+

_+<�T eT]jáTT s�eTT � |�{ì¼¿£qT |�P]+#�sÁT. úeÚ >·eT�+#áT.

�|Õ |�{ì¼¿£ qT+&� úeÚ @$T >·eT�+#�eÚ?

ÿ¿£ d�+K« n+¿£eTÖ\+ 9 nsTTÔû n~ 9 #û �Xâôw�+>± uó²Ð+#á�&�TÔáT+~.

�<�V�²sÁD: 531 qT rd�T¿Ã+&�.

531 n+¿£eTÖ\+ 5 G 3 G 1 R 9.

531 >·T]+º MTsÁT @$T #î|�Î>·\sÁT?

531 n+¿£eTÖ\+ 9. ¿±eÚq n~ 9 #û �Xâôw�+>± uó²Ð+#á�&�TÔáT+~.

¿±eÚq 345 3 #û �Xâôw�+>± uó²Ð+#á�&�TÔáT+~.

�<�V�²sÁD: 362 qT rd�T¿Ã+&�.

362 n+¿£eTÖ\+ 3 G 6 G 2 R 11 R 1 G 1 R 2

362 >·T]+º MTsÁT @$T #î|�Î>·\sÁT?

362, 9 #û uó²Ð+#á�&�<�T. <�� n+¿£eTÖ\+ 9 ¿±<�T.

1) 3, 9 \#û uó²Ð+#á�&�T d�+K«\Å£�  #áT³¼+&�. ¿±sÁD+ Ôî\|�+&�.

n) 108 �) 116 �) 117 �) 127 �) 132 }) 822

�) 435 }) 783 �TT) 1107       �TÖ) 5535 m) 2343 @) 4563

2) 3, 9 \#û uó²Ð+#á�&�T @yîÕH� 5 d�+K«\T s�jáT+&�.

4 uó²ÈújáTÔ� d�ÖçÔá+

        1) 624 2) 3232 3) 5840 4) 4556

     �eÇ�&�q d�+K«\ ºe] Âs+&�T kÍ�H�\ýË� n+Â¿\qT |�]o*+#á+&�.

    9) 531 (59
      - 45

                     81
                   - 81

 0

    9) 362 (40
      - 36

                       2
                     - 0

 0
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There are 24, 32, 40 and 56 at the end of the numbers.

Hence all these numbers are multiples of  4.

24, 32, 40 and 56 are divisible by 4.

Divide 3232, 5840, 4,557 by 4.

What is the remainder? What do you observe?

3232 and 5840 are exactly divisible by 4.

4557 is not exactly divisible by 4.

If the last two digits [ones, tens] of a given number is exactly divis-
ible by 4, the given number is also divisible by 4.

Do these

1) Circle the numbers which are divisible by 4.

Give the reason, if it is not divisible by 4.

a) 2436 b) 3840 c)1235 d)3636

e) 6850 f) 5644 g) 8888       h) 6430

2) Write the missing number in the blank to make the number exactly divisible by 4.

a)  323_          b) 304_            c) 58_6       d)  53_ _          e)  65_ _

Divisibility rule of 6 :

Bindu explained the divisibility rule for 6 to Ramu, like this.

Write the multiples of 2 :  2, 4, 6, 8, 10, 12, 14, 16, 18, 20, 22, 24………….

Write the multiples of 3 : 3, 6, 9, 12, 15, 18, 21, 24, 27………………………..

Write the multiples of 6 : 6, 12, 18, 24, 30, 36……………………………

What did you observe?

All the multiples of 6 are the multiples of 2 and 3.

    4) 3232 (808
       - 32

                    03
                    - 0

          32
        - 32

 0
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    4) 3232 (808
       - 32

                    03
                    - 0

          32
        - 32

 0

n$ 24, 32, 40 eT]jáTT 56>± �H��sTT.

�|Õ qTq� d�+K«\ú� 4 >·TDìC²ýñH�?

¿±eÚq 24, 32, 40 eT]jáTT 56\T 4 #û uó²Ð+#á�&�Ô�sTT.

3232, 5840, 4557\qT 4#û uó²Ð+#á+&�.

y�{ì XâcÍ\T @$T{ì? qTeÚÇ @$T |�]o*+#�eÚ.

3232, eT]jáTT 5840 \T 4 #û �Xâôw�+>± uó²Ð+#á�&�¦sTT.

4557 nqT d�+K« 4 #û �Xâôw�+>± uó²Ð+#á�&�TqT.

ÿ¿£ n+Â¿ýË� ºe] Âs+&�T kÍ�H�\ýË� n+Â¿\ÔÃ @sÁÎ&�T d�+K« 4 #û

uó²Ð+#á�&�Ôû, � d�+K« 4 #û uó²Ð+#á�&�TÔáT+~.

�$ #ûjáT+&�

1) 4 #û uó²Ð+#á�&�T d�+K«\Å£�  #áT³¼+&�. uó²Ð+|��&�� d�+K«\Å£� ¿±sÁD+ Ôî\|�+&�.

n) 2436 �) 3840 �)1235 �) 3636

�) 6850 }) 5644 �TT) 8888 �TÖ) 6430

2) ¿ì+~ d�+K«\T 4 #û uó²Ð+#á�&�\+fñ d�]jî®Tq n+Â¿\ÔÃ U²°\qT �+|�+&�.

n)  323_ �) 304_ �) 58_6 �)  53_ _          �)  65_ _

6 uó²ÈújáTÔ� d�ÖçÔá+

_+<�T 6 uó²ÈújáTÔ� d�ÖçÔ��� s�eTTÅ£� �ý² $e]+º+~.

2 >·TDìC²\T s�jáT+&� : 2, 4, 6, 8, 10, 12, 14, 16, 18, 20, 22, 24………….

3 >·TDìC²\T s�jáT+&� : 3, 6, 9, 12, 15, 18, 21, 24, 27………………………..

6 >·TDìC²\T  s�jáT+&� : 6, 12, 18, 24, 30, 36……………………………

úeÚ @$T >·eT�+#�eÚ?

6 >·TDìC²\ú� 2, 3 \ >·TDìC²ýñ.
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Do these

Example : Is 24 is divisible by 6?
Ones place is 4 that is even.
\ 24 is divisible by 2.
Digital root of 24 is 2 + 4 = 6.
\ 24 is divisible by 3.
So 24 is divisible by 6.

If a number which has 0, 2, 4, 6, 8 in its units place and the digital sum is 3, 6 and
9, then the number is also divisible by 6.

The numbers which are divisible by 2 and 3, are also divisible by 6.

1) Check whether the following numbers are divisible by 6 or not.

1) 210 2) 162 3) 625 4) 120 5) 156

2) Change the digits of the following numbers to make them divisible by 6.

1) 543 2) 231 3) 5463 4) 1002 5) 4815

Divisibility rule of 8

Bindu : As 8 is the multiple of 4, is the divisibility rule for 4 also applicable for 8? Either

right or wrong?

I will check whether the divisibility rule of 4 is applicable for 8 or not?

Observe the multiples of 4 and 8.

Multiples of 4 : 4, 8, 12, 16, 20, 24, 28, 32 ……………………….

Multiples of 8 : 8,  16,  24,  32, 40 ……………………….

\ All the multiples of 4 are not the multiples of 8.

So, the divisibility rule for 4 is not applicable for 8.

Divide the last three digits of 29816 by 8

Divide 29816 by 8 .What did you observe?

In the above two conditions, the remainder is 0.

    8) 816 (102
      - 8

                    01
                    - 0

          16
        - 16

 0

   8) 29816 (3727
      - 24

                    58
                  - 56

          21
        - 16

56
         - 56

 0
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�$ #ûjáT+&� :

    8) 816 (102
      - 8

                    01
                    - 0

          16
        - 16

 0

   8) 29816 (3727
      - 24

                    58
                  - 56

          21
        - 16

56
         - 56

 0

�<�V�²sÁD: 24, 6 #û uó²Ð+#á�&�TÔáT+<�?

ÿ¿£³¢ kÍ�q+ýË� d�+K« 4 ( d�]d�+K«)

\ 24, 2 #û uó²Ð+#á�&�TÔáT+~.

    24 n+¿£eTÖ\+ R 2 G 4 R 6

\ 24, 3 #û uó²Ð+#á�&�TÔáT+~.

¿±eÚq 24, 6 #û uó²Ð+#á�&�TÔáT+~.

ÿ¿£ d�+K« ÿ¿£³¢ kÍ�q+ýË 0, 2, 4, 6, 8 �+&� � d�+K« n+¿£eTÖ\+ 3 ýñ<� 6 ýñ<� 9 nsTTÔû �

d�+K« 6 #û �Xâôw�+>± uó²Ð+|��&�TÔáT+~.

2, 3 \#û uó²Ð+#á�&û d�+K«\ú� 6 #û �Xâôw�+>± uó²Ð+#á�&�Ô�sTT.

1) ¿ì+~ �eÇ�&�q d�+K«\T 6 #û uó²Ð+#á�&�Ô�jîÖ ýñ<Ã |�̄ ¿ì�+#á+&�.

n) 210 �) 162 �) 625 �) 120 �) 156

2) ¿ì+~ �eÇ�&�q d�+K«\T 6 #û uó²Ð+#á|�&ûý² n+Â¿\ kÍ�H�\qT d�]#ûjáT+&�.

n) 543 �) 231 �) 5463 �) 1002 �) 4815

8 uó²ÈújáTÔ� d�ÖçÔá+

_+<�T : 8 nHû~ 4 jîTT¿£Ø >·TDìÈ+. ¿±eÚq 4 uó²ÈújáTÔ� d�ÖçÔá+ 8 ¿ì e]ïd�Tï+~. �~ �ÈeÖ ? ¿±<� ?

4 eT]jáTT 8 \ >·TDìC²\qT |�]o*+#á+&� :

4 >·TDìC²\T : 4, 8, 12, 16, 20, 24, 28, 32 ……………………….

8 >·TDìC²\T : 8,  16,  24,  32, 40 ……………………….

\ 4 >·TDìC²\ú� 8 >·TDìC²\T ¿±eÚ.

¿±eÚq 4 uó²ÈújáTÔ� d�ÖçÔá+ 8 ¿ì e]ï+#á<�T.

29816 q+<�* ºe] eTÖ&�+Â¿\qT 8 #û uó²Ð+#á+&�.

29816� Å£L&� 8 #û uó²Ð+#á+&�.

@$T >·eT�+#�sÁT?

Âs+&�T d�+<�s�ÒÛ\ýË Xâw��+ (0) eºÌ+~.
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Do these

Exercise -

If the last three digits of a numbers are divisible by 8,
then the entire number is divisible by 8

Example: Divide the last three digits of 39328 by 8.
Divide  39328 by 8.
Observe the remainder of these two conditions. Thus, the
remainders we get are zero.
What did you say?
From the above two examples can you tell the divisibility
rule for 8?

1. Circle the following numbers  which are divisible by 2 (by using divisibility rule).
3624 3549 7864  8420 8500  8646 5007 7788

2. Find out which of the following numbers are divisible by 6.
1276 43218 71218 71826 4734 3743

3. The number 50 19 is exactly divisible by 9. Fill the  with the
correct number.

4. The number 4  46 8 is exactly divisible by 6. Fill the  with the correct
number.

5. Fill the blanks with suitable digits. So that it can be divisible by 2 and 10.
678__,  588__, 388__, 222__, 364__, 786__, 666__, 788__

6. Find the numbers which are divisible by 4 and 8.
2104,  726352  1800, 32256, 52248, 25608

7. Try whether the numbers are divisible by 2, 3, 4, 5, 6, 8, 9 and 10
a) 333 b) 128 c) 225 d) 7535 e) 8289
f) 99483 g) 67704 h) 67713 i) 9410 j) 67722
k) 20704 l) 35932 m) 85446 n)  90990 o) 18540

 Find the following numbers which are divisible by 8.
a) 2456   b) 3971   c) 824     d) 923   e)   2780    f)  93624    g) 76104

1
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�$ #ûjáT+&�

nuó²«d�+ `   1

ÿ¿£ d�+K« q+<�* ºe] eTÖ&�+Â¿\ÔÃ @sÁÎ&�T d�+K« 8 #û uó²Ð+#á�&�Ôû

� d�+K« 8 #û �Xâôw�+>± uó²Ð+#á�&�TÔáT+~.

�<�V�²sÁD: 39328  q+<�* ºe] eTÖ&�+Â¿\qT 8 #û uó²Ð+#á+&�.

39328 � 8 uó²Ð+#á+&�.

Âs+&�T uó²>·V�äs�\ýË� XâcÍ\qT |�]o*+#á+&�. n$ Âs+&�T d�TH��Hû ¿£<�.

@$T #î|�Î>·\eÚ?

�|Õ Âs+&�T �<�V�²sÁD\ qT+&� 8 jîTT¿£Ø uó²ÈújáTÔ� d�ÖçÔá+ #î|�Î>·\y�?

1. 2 uó²ÈújáTÔ� d�ÖçÔá+ �|�jîÖÐ+º, 2 #û uó²Ð+#á�&�T d�+K«\Å£�  #áT³¼+&�.  .

3624 3549 7864  8420 8500  8646 5007 7788

2. 6 #û �Xâôw�+>± uó²Ð+#á�&�T d�+K«\qT >·T]ï+#á+&�.

1276 43218 71218 71826 4734 3743

3. 50  19 nqT d�+K« 9 #û �Xâôw�+>± uó²Ð+#á�&�\+fñ  ýË @ d�+K« s�jáÖ*?

4. 4  468 nqT d�+K« 9 #û �Xâôw�+>± uó²Ð+#á�&�\+fñ   ýË @ d�+K« s�jáÖ*?

5. ¿ì+~ �eÇ�&�q d�+K«\T 2 eT]jáTT 10 \#û uó²Ð+#á�&�\+fñ U²°\ýË @ n+Â¿ �+&�*?

678__, 588__, 388__, 222__, 364__, 786__, 666__, 788__

6. 4 eT]jáTT 8 \#û uó²Ð+#á�&�T d�+K«\qT >·T]ï+#á+&�.

2104, 726352, 1800, 32256, 52248, 25608

7. ¿ì+~ �eÇ�&�q d�+K«\T 2, 3, 4, 5, 6, 8, 9 eT]jáTT 10 \#û uó²Ð+#á�&�THÃ ýñ<Ã #áÖ&�+&�.

n) 333 �) 128 �) 225 �) 7535 �) 8289

}) 99483 �TT) 67704 �TÖ) 67713 m) 9410 @) 67722
×) 20704 ÿ) 35932 z) 85446 ¿£)  90990 K) 18540

¿ì+~ �eÇ�&�q d�+K«\T 8 ÔÃ uó²Ð+#á�&�Ô�jáÖ, ¿£qT¿ÃØ+&�?

n) 2456     �) 3971     �) 824     �) 923     �) 2780     }) 93624    �TT) 76104
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Do these

8. Find the missing digit that would make each number divisible by the given number.

a) 395__ by 10 b) 24305__ by 9 c) 69839__ by 3 and 9

d) 271__ 8 by 6 e) 20710___ by 4 f) 5027__5 by 3 and 5

g) 145___2 by 8 h) 92048__ by 2 i) 23405___  by 5

9. Find the smallest number that is to be added to 289279, so that it can be divisible by 8.

5.2: Multiples
Activity

Take the cards having digits from 0 to 9, and
flip and place on floor randomly. Now draw four
big circles on board and name them as multiples
of 4, multiples of 5, multiples of 6 and multiples
of 7. A student has to take two cards at a time
and form a 2-digit number, and check whether
the number is multiple of 4 or 5 or 6 or 7 and
then writes it in suitable circle.

For example, if a student takes 3 and 2 cards, he may form 23 which is not multiple of any
of the above, hence ask him to form 32 which is multiple of 2 and 4 then write in suitable
circle. This can be executed as game, individual or group activity.

   Multiples of 4 Multiples of 5 Multiples of 6 Multiples of 7

1) Write first ten multiples of the following.

a) 3 b) 5 c) 8 d) 9 e) 10
2) Find out the multiples of 2, 3, 5 from 1 to 20. Write separately.

1 2 3

4 5 6

7 8 9

0
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�$ #ûjáT+&� :

8. �ºÌq d�+K«ÔÃ uó²Ð+#á�&�\+fñ U²°\qT d�]jî®Tq d�+K«\ÔÃ |�P]+#á+&�.

n)  395__ qT 10 ÔÃ �)  24305__ qT 9 ÔÃ �)  69839__ qT 3 eT]jáTT 9

�)  271__ qT 8 eT]jáTT 6 �)  20710___ qT 4 ÔÃ })  5027__5 qT 3 eT]jáTT 5

�TT) 145_ qT 2 eT]jáTT 8 �TÖ) 92048__ qT 2 ÔÃ m)  23405___  qT 5 ÔÃ

9. 289279 Å£� @ ¿£�w�÷ d�+K«qT ¿£*|¾Ôû n~ 8 #û �Xâôw�+>± uó²Ð+#á�&�TÔáT+~?

5.2 >·TDìC²\T

¿£�Ôá«+

0 qT+&� 9 esÁÅ£L n+Â¿\T >·\ ¿±sÁT¦\qT rd�TÅ£��, y�{ì� Hû\�|Õ uË]¢+#á+&�.

q\¢�\¢�|Õ H�\T>·T �|<�Ý e�Ô�ï\qT #áT{ì¼, y�{ì¿ì ÿ¿=Ø¿£Ø <��¿ì 4 >·TDìC²\T,

5 >·TDìC²\T, 6 >·TDìC²\T, 7 >·TDìC²\T  n� �|sÁT¢ �|³¼+&�. ÿ¿=Ø¿£Ø

$<�«]� eºÌ Âs+&�T ¿±sÁT¦\qT rd�TÅ£�� Âs+&�+Â¿\ d�+K«\qT @sÁÎsÁ#�*.

� Âs+&�+Â¿\ d�+K« @ d�+K« >·TDìÈeTsTTq � e�Ôáï+ýË s�jáT+&�.

�<�: ÿ¿£ $<�«]� 3 eT]jáTT 2 ¿±sÁT¦\qT rd�T¿=� nÔáqT 23 nqT d�+K« @sÁÎsÁºq#Ã n~ @ d�+K«Å£� >·TDìÈeTT ¿±<�T.

¿±eÚq 32 nqT d�+K«qT @sÁÎsÁº <��� 4 >·TDìÈeTT\T nqT e�Ôáï+ýË s�jáÖ*. B�� e«¿ìï>·Ôá / È³T¼ ¿£�Ôá«+>±

#û|�³¼e#áTÌ.

  4 >·TDìC²\T 5 >·TDìC²\T 6 >·TDìC²\T 7 >·TDìC²\T

1) ¿ì+~ d�+K«\ yîTT<�{ì 10 >·TDìC²\T s�jáT+&�.

n) 3 �) 5 �) 8 �) 9 �) 10

2) 1 qT+&� 20 esÁÅ£L d�+K«\ eT<ó�« >·\ 2, 3, 5 >·TDìC²\qT $&�$&�>± s�jáT+&�.

1 2 3

4 5 6

7 8 9

0
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3) Write down the first 10 multiples of 7.
4) Find out the multiples of 7, 8, 10 from the following numbers and write

separately.
20, 14, 45, 24, 32, 35, 90, 8, 7, 10, 441, 385

5) Find out the numbers which are not the multiples of 3.
 8 26 27 32 18 45
 12 28 30 66  88 48

6) Write the odd multiples of 9 less than hundred.

5.3:  Common  Multiples
Write the multiples of 3 and 5 in the relevant circles.There may be a possibility of having
some common multiples for 3 and 5. Write them in the common part.

Multiples of 3    : …………………………………………………………
Multiples of 5 : .....................................................................

Multiples of 3 Multiples of 5

Multiples of 2 Multiples of 7

Common multiples of 3 and 5 are : .....................................................
Repeat the process using the numbers 2 and 7
Multiples of 2 : .....................................................................
Multiples of 7 : .....................................................................

Common multiples of 2 and 7: .....................................................

Repeat the process by putting the multiples of 4, 6 and 5 in the given circles.

Multiples of 4 : .....................................................................

Multiples of 6 : .....................................................................

Multiples of 5 : .....................................................................
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3) 7 jîTT¿£Ø yîTT<�{ì 10 >·TDìC²\T s�jáT+&�.

4) ¿ì+~ �q� d�+K«\ýË 7, 8, 10 d�+K«\ >·TDìC²\T $&�$&�>± s�jáT+&�.

20, 14, 45, 24, 32, 35, 90, 8, 7, 10, 441, 385

5) ¿ì+~ y��ýË 3 >·TDìC²\T ¿±� y�{ì� >·T]ï+#á+&�.

 8 26 27 32 18 45
 12 28 30 66  88 48

6) 100 ýË|�Ú 9 jîTT¿£Ø uñd¾ >·TDìC²\T s�jáT+&�.

5.3 �eT�&� >·TDìC²\T

3, 5\ >·TDìC²\qT y�{ì y�{ì e�Ô�ï\ýË s�jáT+&�. ¿=�� 3, 5\ jîTT¿£Ø >·TDìC²\ýË Âs+&�T #Ã³¢ �+&û

y�{ì� �eT�&� uó²>·+ýË s�jáT+&�.

3 >·TDìC²\T : .....................................................................

4 >·TDìC²\T : .....................................................................

3 >·TDìC²\T 5 >·TDìC²\T

2 >·TDìC²\T 7 >·TDìC²\T

3, 5 \ �eT�&� >·TDìC²\T : .....................................................

�|Õq Ôî*|¾q $<ó�+>±Hû 2, 7 n+Â¿\Å£� #ûjáT+&�.

2 >·TDìC²\T : .....................................................................

7 >·TDìC²\T : .....................................................................

2, 7 \ �eT�&� >·TDìC²\T : .....................................................

�|Õ ç|�ç¿ìjáTqT 4, 6, eT]jáTT 8 \Å£� Å£L&� #ûd¾, y�{ì >·TDìC²\qT e�Ô�ï\+<�T s�jáT+&�.

4 >·TDìC²\T : .....................................................................

6 >·TDìC²\T : .....................................................................

5 >·TDìC²\T : .....................................................................
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Do these

Multiples of 4 Multiples of 6

Multiples of 5

What are the common multiples of 5 and 6? .............................................

Write it in .................... colour part.

What are the common multiples of 4 and 6? .......................................

Write it in .................... colour  part.

What are the common multiples of 4, 5 and 6? ..........................................

Write it in .................... colour  part..

4,5 and  6 : .....................................................

Example:

Write common multiples of 2 and 10.

Solution  : Multiples of 2 :   2, 4, 6, 8, 10, 12, 14, 16, 18, 20, 22, 24, 26 ,28,30…

      Multiples of 10 :  10, 20, 30, 40, 50, 60,…………………………….

Common multiples of 2 and 10:  10, 20, 30, 40, 50,………………………

      Write the first 10 multiples of the following numbers and list the common multiples.

a)  2 and 4          b) 4 and 12        c) 6 and 8         d) 5 and 10
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�$ #ûjáT+&�

4 >·TDìC²\T 6 >·TDìC²\T

5 >·TDìC²\T

5, 6 \ �eT�&� >·TDìC²\T : .....................................................

M{ì� ..................... sÁ+>·T uó²>·+ýË s�jáT+&�.

4 eT]jáTT 6 \ �eT�&� >·TDìC²\T : .....................................................

M{ì� ..................... sÁ+>·T uó²>·+ýË s�jáT+&�.

4, 5 eT]jáTT 6 \ �eT�&� >·TDìC²\T : .....................................................

M{ì� ..................... sÁ+>·T uó²>·+ýË s�jáT+&�.

4,5 eT]jáTT 6 \ ¿£�w�÷ kÍeÖq« >·TDìÈ+ : .....................................................

�<�V�²sÁD:

2 eT]jáTT 10 \ �eT�&� >·TDìC²\T s�jáT+&�.

kÍ<ó�q : 2 >·TDìC²\T : 2, 4, 6, 8, 10, 12, 14, 16, 18, 20, 22, 24, 26 ,28, 30…

10 >·TDìC²\T : 10, 20, 30, 40, 50, 60,…………………………….

2 eT]jáTT 10 \ �eT�&� >·TDìC²\T : 10, 20, 30, 40, 50,………………………

 ¿ì+~ �eÇ�&�q d�+K«\ yîTT<�{ì 10 >·TDìC²\T s�d¾, n+<�* �eT�&� >·TDìC²\qT yûsÁT #ûjáT+&�.

n) 2  eT]jáTT  4       �) 4  eT]jáTT 12          �) 6  eT]jáTT 8    �) 5  eT]jáTT 10
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5.4: Least Common Multiple (LCM)

The smallest number of the common multiples of two or more numbers is called

Least Common Multiple (LCM) of those numbers.

Example-1 : The least common multiple (LCM) of 9 and 12 is ….

Solution : Multiples of 9 = 9, 18, 27, 36, 45, 54, 63, 72, 81, 90, 99, 108, …

Multiples of 12 = 12, 24, 36, 48, 60, 72, 84, 96, 108, 120, …

Common multiples of 9 and 12 = 36, 72, 108, …

Least common multiple (LCM) of 9 and 12 = 36

Example-2 : Find the least common multiple (LCM) of 2, 4 and 6?

Solution : Multiples of 2 : 2, 4, 6, 8, 10, 12, 14, 16, 18, 20, 22, 24,...

Multiples of 4 : 4, 8, 12, 16, 20, 24, 28, 32,…

Multiples of 6 : 6, 12, 18, 24, 30,...

Common multiples of 2, 4 and 6 = 12, 24,…

Least common multiple (LCM) of 2, 4 and 6 = 12
Do these

Find the LCM for the following sets of numbers.

1) 12, 15 2) 16, 20 3) 8, 12, 20 4) 15, 20 5) 6, 9, 12

Try these

Find the LCM for the following pairs of numbers. What do you observe?

1) 15, 30 2) 4, 16 3) 5, 15 4) 6, 18

Note: In a given pair of numbers, if one of them is multiple of other
number then the biggest number is LCM of the numbers.
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5.4 ¿£�w�÷ kÍeÖq« >·TDìÈ+ (¿£.kÍ.>·T)

Âs+&�T ýñ<� n+Ôá¿£H�� mÅ£�Øe d�+K«\ �eT�&� >·TDìC²\ýË ºq� >·TDìC²�� ¿£�w�÷ kÍeÖq« >·TDìÈ+ n+{²sÁT.

�<�V�²sÁD`1 :9 eT]jáTT 12 \ ¿£�w�÷ kÍeÖq« >·TDìÈ+........

kÍ<ó�q : 9 >·TDìC²\T : 9, 18, 27, 36, 45, 54, 63, 72, 81, 90, 99, 108, …

12 >·TDìC²\T : 12, 24, 36, 48, 60, 72, 84, 96, 108, 120, …

9 eT]jáTT 12 \ �eT�&� >·TDìC²\T R 36, 72, 108

9, 12\ ¿£�w�÷ kÍeÖq« >·TDìÈ+ (¿£.kÍ.>·T) R 36

�<�V�²sÁD`2 :2, 4 eT]jáTT 6 \ ¿£�w�÷ kÍeÖq« >·TDìÈ+ m+Ôá?

kÍ<ó�q : 2 >·TDìC²\T : 2, 4, 6, 8, 10, 12, 14, 16, 18, 20, 22, 24,...

4 >·TDìC²\T : 4, 8, 12, 16, 20, 24, 28, 32,…

6 >·TDìC²\T : 6, 12, 18, 24, 30,...

2, 4 eT]jáTT 6 \ �eT�&� >·TDìC²\T R 12, 24

2, 4 eT]jáTT 6 \ jîTT¿£Ø (¿£.kÍ.>·T) R 12

�$ #ûjáT+&�

¿ì+~ �ºÌq d�+K«\ ¿£.kÍ.>·T ¿£qT>=q+&�.

n) 12, 15 �) 16, 20 �) 8, 12, 20 �) 15, 20 �) 6, 9, 12

ç|�jáTÜ�+#á+&�

¿ì+~ �ºÌq d�+K«\ ¿£.kÍ.>·T ¿£qT>=q+&�. @$T >·eT�+#�sÁT?

n) 15, 30 �) 4, 16 �) 5, 15 �) 6, 18

>·eT�¿£:  �ºÌq Âs+&�T d�+K«\ýË ÿ¿£{ì Âs+&�e <��¿ì >·TDìÈ+ nsTTÔû, n|�ð&�T �|<�Ýd�+K« �ºÌq

 d�+K«\ ¿£.kÍ.>·T neÚÔáT+~.
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5.5: Factors
Activity -

Fill the multiplication table.

X 1 2 3 4 5 6 7 8 9 10 11 12 13 14
1 12
2 12
3 12
4 12
5
6 12
7
8
9
10
11
12 12
13
14
Observe the boxes in the above multiplication table.
1. Which numbers do we multiply to get 12?

1  × 12 = 12
2  ×  6  = 12
3  ×  4  = 12 But, we know that
4  ×  3  = 12 1 × 12 = 12 × 1
6  ×  2  = 12 2 × 6  = 6  × 2
12 × 1  = 12 3 × 4  = 4  × 3

\     1 × 12 = 12
    2 × 6   = 12
    3 × 4   = 12

1, 2, 3, 4, 6 and 12 exactly divides 12.

1
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5.5 ¿±sÁD²+¿±\T
¿£�Ôá«+ `    1

¿ì+~ >·TD¿±sÁ |�{ì¼¿£qT |�P]+#á+&�.

>·TD¿±sÁ |�{ì¼¿£ q+<�* >·ÞøßqT |�]o*+#á+&�.

1. @@ d�+K«\qT >·TDì+#á>± 12 eºÌ+~?

1  × 12 = 12

2  ×  6  = 12

3  ×  4  = 12 ¿±ú, eTqÅ£� Ôî\Td�T

4  ×  3  = 12 1 ×12 = 12 × 1

6  ×  2  = 12 2 × 6  = 6  × 2

12 × 1  = 12 3 × 4  = 4  × 3

\ 1 × 12 = 12

2 × 6   = 12

3 × 4   = 12

1, 2, 3, 4, 6, 12 d�+K«\T, 12 qT �Xâôw�+>± uó²ÐkÍïsTT.

X 1 2 3 4 5 6 7 8 9 10 11 12 13 14
1 12
2 12
3 12
4 12
5
6 12
7
8
9
10
11
12 12
13
14
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  2) Which numbers do we multiply to get 10? 3) Which numbers do we multiply to get 14?

________ ×__________  =10 ________ × __________ = 14
________ × __________ =10 ________ × __________ = 14

________ × __________ =10 ________ × __________ = 14

________ × __________ =10 ________ × __________ = 14

Finally we get Finally we get

________ × __________ =10 ________ × __________ =14

________ × __________ =10 ________ × __________ =14
____,_____,_____,______ ____,_____,_____,______

are exactly divided by 10. are exactly divided by 14.

When two or more numbers multiplied together, the number which we get as a

result is called product.

The numbers which are multiplied together are called the factors of the product or the num-
bers which divide a given number exactly  are called factors of the number.

From the above observations, we get
1, 2, 3, 4, 6 and12 are factors of 12.
1, 2, 5, and 10 are factors of 10.
1, 2, 7and 14 are factors of 14.
In the previous multiplication table, some numbers are shown in two boxes only.

Identify the numbers and colour it.
1 × 2 = 2 x 1, 1 × 3 = 3 x 1, 1 × 5 = 5 x 1 ...
Which numbers are shown twice?………………………………………………….
What are the factors of those numbers?
Are they 1 and the number itself?
Those numbers are called prime numbers.

A number which has one and itself as its factors is called a Prime number.

What are the numbers which have more than 2 factors?
Those are called composite numbers.
Example: 4,  6,  8,  9, 10, 12 .................
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2) @@ d�+K«\qT >·TDì+#á>± 10 ed�Tï+~? 3) @@ d�+K«\qT >·TDì+º>± 14 ed�Tï+~?

________ ×__________  =10 ________ × __________ = 14

________ × __________ =10 ________ × __________ = 14

________ × __________ =10 ________ × __________ = 14

________ × __________ =10 ________ × __________ = 14

ºe]>± ºe]>±

________ × __________ =10 ________ × __________ =14

________ × __________ =10 ________ × __________ =14

____,_____,_____,______ ____,_____,_____,______

   d�+K«\T 10 � �Xâôw�+>± uó²ÐkÍïsTT.     d�+K«\T 14 � �Xâôw�+>± uó²ÐkÍïsTT.

Âs+&�T d�+K«\qT ÿ¿£<��ÔÃ eTs=¿£{ì >·TDì+#á>± e#áTÌ \u²Æ�¿ì, � d�+K«\qT ¿±sÁD²+¿±\T

n+{²sÁT. ýñ<� ÿ¿£ d�+K«qT @@ d�+K«\T �Xâôw�+>± uó²ÐkÍïjîÖ � d�+K«\qT ¿±sÁD²+¿±\T n+{²sÁT.

�|Õ |�]o\q\ qT+&�,

1, 2, 3, 4, 6 eT]jáTT 12 \T, 12 Å£� ¿±sÁD²+¿±\T.

1, 2, 5, 10 \T, 10 Å£� ¿±sÁD²+¿±\T.

1, 2, 7 eT]jáTT 14 \T, 14 Å£� ¿±sÁD²+¿±\T.

>·TD¿±sÁ |�{ì¼¿£ q+<�T ¿=�� d�+K«\T ¹¿e\+ Âs+&�T >·ÞøßýËHû ¿£�|¾+#�sTT. y�{ì� >·T]ï+º sÁ+>·T yûjáT+&�.

1 × 2 = 2 x 1, 1 × 3 = 3 x 1, 1 × 5 = 5 x 1 ...

@@ d�+K«\T Âs+&�T >·ÞøßýË ¿£�|¾+#�sTT? ................................

� d�+K«\Å£� ¿±sÁD²+¿±\T @$?

n$ 1 eT]jáTT n<û d�+K«jûTH�?

ný²+{ì d�+K«\qT ç|�<ó�q d�+K«\T n+{²sÁT.

@@ d�+K«\T Âs+&�T ¿£H�� mÅ£�Øe ¿±sÁD²+¿±\qT ¿£*Ð �H��sTT ?

� d�+K«\qT d�+jáTT¿£ï d�+K«\T n+{²sÁT.

�<�V�²sÁD: 4,  6,  8,  9, 10, 12 ..................

ÿ¿£{ì eT]jáTT n<û d�+K« ¿±sÁD²+¿±\T>± >·\ d�+K«qT ç|�<ó�q d�+K« n+{²sÁT.

Âs+&�T ýñ<� n+Ôá¿£H�� mÅ£�Øe d�+K«\qT ÿ¿£<��ÔÃ ÿ¿£{ì >·TDì+#á>± e#áTÌ |��*Ô��� \�Æ+ n+{²sÁT.



150 Class - 5  Maths Magic

A number which has more than two factors is called a composite number.

Example-1:  Find all the factors of 24 using  all possible products.
Solution : 1  × 24 = 24

2  × 12 = 24
3  ×   8 = 24
4  ×   6 = 24

Thus, all the factors of 24 are 1, 2, 3, 4, 6, 8, 12 and 24.
\24 is a composite number.

Example-2:- Is 8 a factor of 2568?
Solution : We know that every number is divisible

by its factors.
The remainder is zero, so 8 is a factor
of 2568.

Do these
1) Find all the factors of the following numbers.

a) 21 b) 38 c) 72 d) 96

2) Find out whether the first number is a factor of the second number.

a) 14; 322 b) 26; 832 c) 35; 425 d) 56; 3500
e) 8; 48 f) 14; 37 g) 15; 75 h) 12; 72

3) What are the factors of 66?

4) Write all the even factors of 64.

5) List out the numbers, which are prime/composite below 30.

Prime Number  Composite Number

    8) 2568 (321
       - 24

                      16
                    - 16

             08
           - 08

 0
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    8) 2568 (321
       - 24

                      16
                    - 16

             08
           - 08

 0

Âs+&�T ¿£H�� mÅ£�Øe ¿±sÁD²+¿±\T ¿£*Ðq d�+K«qT d�+jáTT¿£ï d�+K« n+{²sÁT.

�<�V�²sÁD ` 1 :` 24 jîTT¿£Ø n�� ¿±sÁD²+¿±\T ¿£qT¿ÃØ+&�.

kÍ<ó�q : 1  × 24   =  24
2  × 12   =  24
3  ×   8   =  24
4  ×   6   =  24

24 jîTT¿£Ø ¿±sÁD²+¿±\T 1, 2, 3, 4, 6, 8, 12 eT]jáTT 24.

\ 24 d�+jáTT¿£ï d�+K«.

�<�V�²sÁD ` 2 :` 2568¿ì 8 ¿±sÁD²+¿£yûTH�?

kÍ<ó�q : ç|�Ü d�+K« <�� ¿±sÁD²+¿£+ #ûÔá �Xâôw�+>± uó²Ð+#á�&�TÔáT+~.

uó²Ð+#á>± Xâw�+ »0µ eºÌ+~.

\ 2568 ¿ì 8 ¿±sÁD²+¿£eTT.

�$ #ûjáT+&�

1) ¿ì+~ d�+K«\ ¿±sÁD²+¿±\T ¿£qT¿ÃØ+&�.

n) 21 �) 38 �) 72 �) 96

2) yîTT<�{ì d�+K« Âs+&�e d�+K«Å£� ¿±sÁD²+¿£yîÖ ¿±<Ã ¿£qT¿ÃØ+&�.

n) 14; 322 �) 26; 832 �) 35; 425 �) 56; 3500
�) 8; 48 }) 14; 37 �TT) 15; 75 �TÖ) 12; 72

3) 66 jîTT¿£Ø n�� ¿±sÁD²+¿±\qT ¿£qT¿ÃØ+&�.

4) 64 jîTT¿£Ø n�� d�] ¿±sÁD²+¿±\T s�jáT+&�.

5) 30 ýË|�Ú ç|�<ó�q / d�+jáTT¿£ï d�+K«\qT |�{ì¼¿£ýË qyîÖ<�T #ûjáT+&�.

ç|�<ó�q d�+K« d�+jáTT¿£ï d�+K«
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1 2 3 4 5 6 7 8 9 10
11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30
31 32 33 34 35 36 37 38 39 40
41 42 43 44 45 46 47 48 49 50
51 52 53 54 55 56 57 58 59 60
61 62 63 64 65 66 67 68 69 70
71 72 73 74 75 76 77 78 79 80
81 82 83 84 85 86 87 88 89 90
91 92 93 94 95 96 97 98 99 100

The number
1 has just one

factor. It is neither
prime number nor

composite
number.

Step-1 :- Cross out 1 as it is a neither prime nor composite.

Step-2 :- Circle 2, and cross out all the remaining multiples of 2.

Step-3 :- Circle 3, and cross out all the remaining multiples of 3.

Step-4 :- Circle 5 and cross out all the remaining multiples of 5.

Step-5 :- Circle 7 and cross out all the remaining multiples of 7.

Step-6 :- Circle all the numbers which are not crossed.

Now, all the circled numbers are Prime-numbers.

And all the crossed numbers are Composite numbers.

Answer the following questions.

1. What are the prime numbers between 1 to 10?

2. What are the prime numbers between 10 to 20?

 Fun activity

Sieve of Eratosthenes
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m]{Ëd�ïúdt ÈýÉ¢&�

1 ¿ì ÿ¹¿ ÿ¿£

¿±sÁD²+¿£+

�+&�³+ e\q

n~ ç|�<ó�q

eT]jáTT d�+jáTT¿£ï

d�+K« ¿±<�T.

kþbÍq+ 1 :- 1 (ÿ¿£{ì ç|�<ó�q eT]jáTT d�+jáTT¿£ï d�+K« ¿±<�T) � ¿={ì¼yûjáTTeTT.

kþbÍq+  2 :- 2 Å£� d�Tq� #áT{ì¼, 2 >·TDìC²\qT ¿={ì¼ yûjáTeýÉqT.

kþbÍq+ 3 :- 3 Å£� d�Tq� #áT{ì¼, 3 >·TDìC²\qT ¿={ì¼ yûjáTeýÉqT.

kþbÍq+  4 :- 5 Å£� d�Tq� #áT{ì¼, 5 >·TDìC²\qT ¿={ì¼ yûjáTeýÉqT.

kþbÍq+5 :- 7 Å£� d�Tq� #áT{ì¼, 7 >·TDìC²\qT ¿={ì¼ yûjáTeýÉqT.

kþbÍq+  6 :- ¿={ì¼yûjáT>± $TÐ*q d�+K«\Å£� d�Tq� #áT³¼+&�.

d�Tq� #áT{ì¼q d�+K«\ú� ç|�<ó�q d�+K«\T.

¿={ì¼yûjáT�&�q d�+K«\ú� d�+jáTT¿£ï d�+K«\T.

¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

1. 1 qT+&� 10 esÁÅ£� >·\ ç|�<ó�qd�+K« ýñ$?

2. 10 qT+&� 20 esÁÅ£� >·\ ç|�<ó�qd�+K« ýñ$?

$HÃ<� ¿£�Ôá«+

1 2 3 4 5 6 7 8 9 10
11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30
31 32 33 34 35 36 37 38 39 40
41 42 43 44 45 46 47 48 49 50
51 52 53 54 55 56 57 58 59 60
61 62 63 64 65 66 67 68 69 70
71 72 73 74 75 76 77 78 79 80
81 82 83 84 85 86 87 88 89 90
91 92 93 94 95 96 97 98 99 100
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3. What are the prime numbers between 20 to 50?

4. How many prime numbers are there between 1 to 50?

5. What are the prime numbers between 50 to 100?

6. How many prime numbers are there between 50 to 100?

7. Do you observe any specialty in these prime numbers?

What is it?

8. Are all the prime numbers even or odd?

5.6:- Prime factorisation

Any composite number can be expressed as a product of some prime-numbers.

     Let's see,  36 = 2 × 18

= 2 × 2 × 9

= 2 × 2 × 3 × 3

These are all prime numbers in above factorisation. Hence this
factorisation is known as prime-factorisation.

Example :  40 = 2 × 20

= 2 × 2 × 10

= 2 × 2 × 2 × 5

'2' is the only
even prime

number.
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3. 20 qT+&� 50 esÁÅ£� >·\ ç|�<ó�qd�+K« ýñ$?

4. 1 qT+&� 50 esÁÅ£� >·\ ç|�<ó�qd�+K«\T m��?

5. 50 qT+&� 100 esÁÅ£� >·\ ç|�<ó�qd�+K« ýñ$?

6. 50 qT+&� 100 esÁÅ£� >·\ ç|�<ó�qd�+K«\T m��? y�{ì� s�jáT+&�.

7. 1 qT+&� 100 esÁÅ£� >·\ ç|�<ó�qd�+K«\ýË @yîT®H� ç|�Ôû«¿£Ôá �+<�? @$T³~?

8. ç|�<ó�q d�+K«\ú� d�]d�+K«ý²? uñd¾d�+K«ý²?

5.6:` ç|�<ó�q ¿±sÁD²+¿±\ \�Æ+ :

@ d�+jáTT¿£ï d�+K«HîÕH� ¿=�� ç|�<ó�q d�+K«\ \�Æ+>± s�jáTe#áTÌ.

|�]o*+#á+&� : 36 = 2 × 18

= 2 × 2 × 9

= 2 × 2 × 3 × 3

�|Õ ¿±sÁD²+¿£ $uó�ÈqýË n�� ç|�<ó�q d�+K«ýñ. ¿±eÚq B�� ç|�<ó�q ¿±sÁD²+¿±\ \�Æ+ n+{²sÁT.

�<�V�²sÁD:` 40 = 2 × 20

= 2 × 2 × 10

= 2 × 2 × 2 × 5

ç|�<ó�q d�+K«\ýË »2µ

eÖçÔáyûT d�]d�+K«
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Prime-factorisation by division method
Prime-factorisation for a given number can also be obtained by short-division method

as shown below.

The steps to be followed in this method can be summarized as below:
Step-1 :- Divide the given number by the smallest prime number that exactly

divides it.
Step- 2 :- Divide the quotient further by a prime number that exactly

divides it.
Step-3 :- Continue the division till the remainder is not further divisible by any

number.

Do these

1) Write the prime-factorisation for the following numbers.

a) 52 b) 100 c) 88 d) 96 e) 90

2) The prime factorisation of 12 × 15 is  _____________

3) Match the following

a) 2× 2× 2×3× 3× 5 1) 180

b) 2 ×2×2×3×5×5 2) 360

c) 2×2×3×3×5 3) 900

d) 2×3×3×5×5 4) 600

e) 2×2×3×3×5×5 5) 450

4) 5×2×3×3  is the prime factorisation of _______________

2      24                                       2   40                                  2     36
2    12                    2   20                                   2    18
    2    6                                          2  10                                   3    9
        3     3                                         5   5                                    3    3

       1                                            1                                          1
24 = 2×2×2×3                 40 = 2×2×2×5 36 = 2×2×3×3
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ç|�<ó�q ¿±sÁD²+¿£ $uó�Èq ` uó²>·V�äsÁ |�<�ÆÜ

�ºÌq d�+K«\ jîTT¿£Ø ç|�<ó�q ¿±sÁD²+¿£ $uó�ÈqqT bõ{ì¼ uó²>·V�äsÁ |�<�ÆÜ <�Çs� � $<ó�+>± #áÖ|�e#áTÌ.

� |�<�ÆÜ jîTT¿£Ø kþbÍH�\T �ý² �H��sTT.

kþbÍq+ 1 :- �ºÌq d�+K«qT <��� uó²Ð+#û nÜ ºq� ç|�<ó�q d�+K«ÔÃ uó²Ð+#�*.

kþbÍq+ 2 :- ç|�Ü kÍ] uó²>·|��ý²�� <��� uó²Ð+#û ç|�<ó�q d�+K«#û uó²Ð+#�*.

kþbÍq+ 3 :- @ �ÔásÁ d�+K«ÔÃqÖ uó²Ð+#á�&�� d�+K« Xâw�+ e#ûÌ esÁÅ£L � |�<�ÆÜ bÍ{ì+#�*.

�$ #ûjáT+&�

1) ¿ì+~ d�+K«\qT ç|�<ó�q ¿±sÁD²+¿±\ \�Ý+>± s�jáT+&�.

n) 52 �) 100 �) 88 �) 96 �) 90

2) 12 I 15 jîTT¿£Ø ç|�<ó�q ¿±sÁD²+¿±\ \�Ý+ 

3) ÈÔá|�sÁ#á+&�.

n) 2× 2× 2×3× 3× 5 1) 180

�) 2 ×2×2×3×5×5 2) 360

�) 2×2×3×3×5 3) 900

�) 2×3×3×5×5 4) 600

�) 2×2×3×3×5×5 5) 450

4) 5 I 2 I 3 I 3 nqTq~ @ d�+K« ç|�<ó�q ¿±sÁD²+¿£ \�Æ+?

2      24                                       2   40                                  2     36
2    12                    2   20                                   2    18
    2    6                                          2  10                                   3    9
        3     3                                         5   5                                    3    3

       1                                            1                                          1
24 = 2×2×2×3                 40 = 2×2×2×5 36 = 2×2×3×3
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Do these

5.7   Common factors

Ex-1 : Find common factors for 8 and 12?

Factors of 8 = 1, 2, 4 and 8

Factors of 12 = 1, 2, 3, 4, 6 and 12

Common factors of 8 and 12 = 1, 2 and 4

Ex-2 : Write common factors of 6 and 14.

Factors of

8
Factors of 12

Factors  of  6 Factors of 14

Factors common to two or more numbers are known as the
common factors of those numbers.

Find the common factors of the following numbers and represent in the diagram.

a) 6 and 12          b) 12 and 20          c) 9 and 18         d) 11 and 22

5.8 Highest Common Factor (HCF) or Greatest Common Divisor (GCD)

The highest common factor among the common factors of two or more numbers
is called Highest common factor (HCF or GCD).

Example: Find the Highest Common Factor (HCF) for 24 and 36.

Common factors of 24 and 36 = 1, 2, 3, 4, 6 and 12

Highest common factor (HCF) of  24 and 36 = 12

Factors of 24 1 2 3 4 6 8 12 24

Factors of 36 1 2 3 4 6 9 12 18    36
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�$ #ûjáT+&�

1 2 3 4 6 8 12 24

1 2 3 4 6 9 12 18    36

5.7 �eT�&� ¿±sÁD²+¿±\T

�<�V�²sÁD`1 :8 eT]jáTT 12\ �eT�&� ¿±sÁD²+¿±\T ¿£qT>=q+&�.

8 ¿±sÁD²+¿±\T R 1, 2, 4, eT]jáTT 8

12 ¿±sÁD²+¿±\T R 1, 2, 3, 4, 6, eT]jáTT 12

8, 12 \ �eT�&� ¿±sÁD²+¿±\T R 1, 2  eT]jáTT 4

�<�V�²sÁD`2 :6 eT]jáTT 14 \ �eT�&� ¿±sÁD²+¿±\T s�jáT+&�.

8 ¿±sÁD²+¿±\T 12 ¿±sÁD²+¿±\T

6 ¿±sÁD²+¿±\T 14 ¿±sÁD²+¿±\T

Âs+&�T ýñ<� n+Ôá¿£H�� mÅ£�Øe d�+K«\ ¿±sÁD²+¿±\ýË Âs+&�+{ìýË �q� y�{ì� �eT�&�

¿±sÁD²+¿±\T n+{²sÁT.

¿ì+~ d�+K«\ �eT�&� ¿±sÁD²+¿±\qT ¿£qT>=� y�{ì� ºçÔá+ýË #áÖ|�+&�.

a) 6 eT]jáTT 12 b) 12 eT]jáTT 20 c) 9 eT]jáTT 18 d) 11 eT]jáTT 22

5.8:` >·]w�÷ kÍeÖq« ¿±sÁD²+¿£+ (>·.kÍ.¿±) ýñ<� >·]w�÷ kÍeÖq« uó²È¿£eTT (>·.kÍ.uó²) :`

Âs+&�T ýñ<� n+Ôá¿£H�� mÅ£�Øe d�+K«\ �eT�&� ¿±sÁD²+¿±\ýË nÜ �|<�Ý ¿±sÁD²+¿£+ (>·]w�÷ kÍeÖq« ¿±sÁD²+¿£+

(>·.kÍ.¿±) n+{²sÁT.

�<�V�²sÁD: 24 eT]jáTT 36 \ >·.kÍ.uó² ¿£qT¿ÃØ+&�.

24 ¿±sÁD²+¿±\T

36 ¿±sÁD²+¿±\T

24 eT]jáTT 36 \ �eT�&� ¿±sÁD²+¿±\T R 1, 2, 3, 4, 6 eT]jáTT 12

24 eT]jáTT 36 \ >·.kÍ.uó². R 12



160 Class - 5  Maths Magic

Do these

Do these

Find the HCF of the following pairs of numbers by writing common factors:-

1) 21 and 28 2) 34  and  20         3) 33  and  39
4) 16  and 36 5) 12  and 18         6) 80  and 100

Find the HCF for the following pair of numbers. What do  you observe?
1) 4, 16 2) 4, 12 3) 5, 15 4) 14, 42

In any pair of numbers, if one of them is multiple of the other, the smallest num-
ber is the HCF of the pair of numbers.

There are other easy methods to find LCM and HCF even if we are given big numbers.
Prime-factorisation method to find LCM and HCF
Ex : Find LCM and HCF for 16 and 36 by prime-factorisation method.

Step- 1 :- Write the prime-factorisation for the given numbers.

      Prime-factorisation of 16 = 2 × 2 × 2 × 2
      Prime-factorisation of 36 = 2 × 2 × 3 × 3

Step- 2 :- Take common factors and multiply with the other factors then the
      product obtained is LCM of given numbers.

Common factors = 2 x 2
other factors = 2 x 2  x  3 x 3

LCM = 2 x 2 x 2 x 2 x 3 x 3 =144

2 1 6 2 36
2 8 2 18
2 4 3 9

2 3
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�$ #ûjáT+&�

�$ #ûjáT+&�

2 1 6 2 36
2 8 2 18
2 4 3 9

2 3

�ºÌq d�+K«\ >·kÍuó² ¿£qT>=q+&� ( �eT�&� ¿±sÁD²+¿£ |�<�ÆÜ)

1) 21 eT]jáTT 28 2) 34 eT]jáTT 20 3) 33 eT]jáTT 39

4) 16 eT]jáTT 36 5) 12 eT]jáTT 18 6) 80 eT]jáTT 100

�ºÌq d�+K«\ >·kÍuó² ¿£qT>=q+&�. @$T >·eT�+#�sÁT?

1) 4, 16 2) 4, 12 3) 5, 15 4) 14, 42

�eÇ�&�q d�+K«\ ÈÔá\ýË ÿ¿£{ì Âs+&�e<��¿ì >·TDìÈ+ nsTTq#Ã, y�{ì >·kÍuó² ºq� d�+K« neÚÔáT+~.

�|<�Ý d�+K«\ ¿£kÍ>·T, >·kÍuó² ¿£qT>=q&��¿ì eTs=¿£ Ôû*¿£ |�<�ÆÜ ¿£\<�T.

ç|�<ó�q ¿±sÁD²+¿±\ |�<�ÆÜýË ¿£kÍ>·T, >·kÍuó² ¿£qT>=qT³

�<�V�²sÁD: ç|�<ó�q ¿±sÁD²+¿±\ |�<�ÆÜýË 16 eT]jáTT 36 \ jîTT¿£Ø ¿£kÍ>·T, >·kÍuó² ¿£qT>=q+&�.

kþbÍq+ 1 :- �ºÌq d�+K«\qT ç|�<ó�q ¿±sÁD²+¿±\ \�Ý+>± s�jáT+&�.

16 ç|�<ó�q ¿±sÁD²+¿±\ \�Æ+ R 2 I 2 I 2 I 2

36 ç|�<ó�q ¿±sÁD²+¿±\ \�Æ+ R 2 I 2 I 3 I 3

kþbÍq+ 2 :- Âs+&�+{ì �eT�&� ¿±sÁD²+¿±\ÔÃ $TÐ*q ¿±sÁD²+¿±\qT >·TDì+#á>± e#áTÌ \�Æ+ ¿£kÍ>·T neÚÔáT+~.

�eT�&� ¿±sÁD²+¿±\T R 2 I 2

$TÐ*q ¿±sÁD²+¿±\T R 2 I 2 I 3 I 3

\ ¿£.kÍ.>·T R 2 I 2 I 2 I 2 I 3 I 3 R 144
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Step- 3 :- Take common factors and find product of them, which gives HCF of the given

numbers. Common factors  =  2 x  2 = 4

\  HCF = 4

Division method to find LCM

Step- 1 : Divide the numbers by a common prime factor common to atleast two of the

given numbers. Bring down the number such that it is not completely divisible

by the prime-factor.

Step-  2 : Stop dividing when there is no further common factor except 1.

Step-  3 : Find the product of the numbers in the left column and the last remainders.

Example-1:- Find LCM for 16 and 36

LCM of 16 and 36 = 2 × 2 × 4 × 9 = 144

Example-2:- Find LCM for 32, 24 and 48

LCM of 32, 24 and 48 = 2 × 2 × 2 × 2 × 3 × 2  =  96.

2 16, 36
2 8, 18

4, 9

2 32, 24, 48
                            2   16, 12, 24

2   8, 6, 12
   2 4, 3, 6
     3  2, 3, 3
       2  2, 1, 1

     1, 1, 1
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kþbÍq+ 3 :- Âs+&�+{ì �eT�&� ¿±sÁD²+¿±\ \�Æ+ � d�+K«\ >·kÍ¿± neÚÔáT+~.

�eT�&� ¿±sÁD²+¿±\T R 2 I 2 R 4

\ >·.kÍ.¿± R 4

uó²>·V�äsÁ |�<�ÆÜýË ¿£kÍ>·T ¿£qT>=qT³

kþbÍq+ 1 : �ºÌq d�+K«\ýË ¿£úd�+ Âs+&�T d�+K«\HîÕH� �eT�&� ç|�<ó�q ¿±sÁD²+¿±\#û uó²Ð+#�*. uó²Ð+#á�&��

d�+K«\qT ¿ì+~¿ì Ôî#áTÌ¿Ãy�*.

kþbÍq+ 2 : �eT�&� ¿±sÁD²+¿±\T ýñq+Ôá esÁÅ£L � |�<�ÆÜ ¿=qkÍÐ+#�*. (1 $TqV�äsTT+|�Ú)

kþbÍq+ 3 : m&�eTyîÕ|�Ú �\TeÚ esÁTd� d�+K«\qT, Xâw�+ $TÐ*q d�+K«\ÔÃ >·TDì+#�*. n<û ¿£kÍ>·T.

�<�V�²sÁD`1: 16 eT]jáTT 36 \ jîTT¿£Ø ¿£kÍ>·T ¿£qT>=q+&�.

4, 9 \Å£� �eT�&� ¿±sÁD²+¿±\T ýñeÚ

¿£kÍ>·T R 2 I 2 I 4 I 9 R 144

�<�V�²sÁD`2:  32, 24 eT]jáTT 48 \ ¿£kÍ>·T ¿£qT>=q+&�

32, 24 eT]jáTT 48 \ ¿£kÍ>·T R 2 I 2 I 2 I 2 I 3 I 2 R 96

2 16, 36
2 8, 18

4, 9

2 32, 24, 48
                            2   16, 12, 24

2   8, 6, 12
   2 4, 3, 6
     3  2, 3, 3
       2  2, 1, 1

     1, 1, 1
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Do these

Find HCF by common division method

Step1  :- Divide the numbers by common factors of all the given numbers.

Step2 :- Stop dividing when there are no more common factors except 1.

Step3 :- Find the product of common factors.

Example: Find HCF of  16,36

2 × 2    are   common factors.
H.C.F = 2 × 2 = 4

Do these

1) Find LCM and HCF by prime factorisation method for the following.

a)15, 48 b)  18, 42, 48 c) 15, 25, 30 d) 10, 15, 25 e) 15, 18, 36, 20

2) Find LCM and HCF by division method.

a)16, 28, 36 b)  12,18,42 c) 30,75,90 d) 24, 32, 48 e) 12, 15, 18

Fill the table and observe it.

Do you have any observation?
Let us learn more properties in the next class.

Do not have common
factors.

2 16, 36
2 8, 18

4, 9 .......

Common {factors

   S.No First Second Product of      HCF   LCM    HCF × LCM
number number two numbers

1 9 12 108 3 36

2 20 300 5 60

3 18 15 270

4 8 12
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�$ #ûjáT+&�

�$ #ûjáT+&�

1 9 12 108 3 36

2 20 300 5 60

3 18 15 270

4 8 12

uó²>·V�äsÁ |�<�ÆÜýË >·kÍuó² ¿£qT>=qT³

kþbÍq+ 1 :- �ºÌq d�+K«\qT �eT�&� ç|�<ó�q ¿±sÁD²+¿±\ÔÃ uó²Ð+#�*.

kþbÍq+ 2 :- �eT�&� ¿±sÁD²+¿±\T ýñq|�ð&�T uó²Ð+#á&�+ �|¾yûjáÖ* (1 $TqV�äsTT+|�Ú)

kþbÍq+ 3 :- �eT�&� ¿±sÁD²+¿±\qT >·TDì+#�*. n<û �ºÌq d�+K«\ >·kÍuó².

�<�V�²sÁD: 16 eT]jáTT 36 \ >·kÍuó² ¿£qT>=q+&�.

�eT�&� ¿±sÁD²+¿±\T R 2 I 2 R 4

>·kÍuó² R 4

1) ç|�<ó�q ¿±sÁD²+¿£ $uó�Èq |�<�ÆÜýË �ºÌq d�+K«\ ¿£kÍ>·T, >·kÍuó²\qT ¿£qT>=q+&�.

n)15, 48 �) 18, 42, 48 �) 15, 25, 30  �) 10, 15, 25  �) 15, 18, 36, 20

2) uó²>·V�äsÁ |�<�ÆÜýË ¿£kÍ>·T, >·kÍuó² ¿£qT>=q+&�.

n) 16, 28, 36 �) 12, 18, 42 �) 30, 75, 90  �) 24, 32, 48    �) 12, 15, 18

|�{ì¼¿£qT |�P]+#á+&�.

e.d�+
yîTT<�{ì

d�+K«

Âs+&�e

d�+K«

Âs+&�T d�+K«\
\�Æ+ >·kÍuó² ¿£kÍ>·T >·kÍuó² I ¿£kÍ>·T

@$T >·eT�+#�sÁT?

eT]�� $w�jáÖ\T ÔásÁTy�Ôá ÔásÁ>·ÜýË HûsÁTÌÅ£�+<�+.

�eT�&� ¿±sÁD²+¿±\T ýñeÚ

2 16, 36
2 8, 18

4, 9 .......

�eT�&�

¿±sÁD²+¿±\T 
{
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5.9 Real-life problems on LCM and HCF

Notes:-
1) LCM of given numbers is the smallest number which is exactly divisible  by the

numbers.
2) HCF of given numbers is the greatest number which divides exactly the given

numbers.

Example-1 : W hat is the least number of students requi red to stand in row s equal ly i f

the number of the row s are ei ther 2, 3, 4, 6, or 8?

Solut ion : To f ind the requi red least number of students, w e need to f ind the L C M for

2, 3, 4, 6 and 8.

LCM of 2,3,4,6 and 8 = 2 × 2 × 3 × 2  =  24
The least number of students who can be stood in 2, 3, 4, 6, 8 rows equally = 24

Example-2 : To what least number of students, 5 students to be added to make three
teams containing 12, 15 or 18 each?

Solution : We need to find the least number which is divisible by 12, 15 and 18.

Do you know?
F  1 is factor for every number.
F  Every number is factor to itself.

LCM of 12, 15, 18  =  2 × 2 × 3 × 3 × 5  =  180
The required number of students to make 3 teams  = 180
Hence the required number is formed by adding 5,
\ The least number  = 180  – 5 = 175

2 2, 3, 4, 6, 8
2 1, 3, 2, 3, 4
3 1, 3, 1, 3, 2

1, 1, 1, 1, 2

3 12, 15, 18
2 4,   5,    6

2,   5,   3
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2 2, 3, 4, 6, 8
2 1, 3, 2, 3, 4
3 1, 3, 1, 3, 2

1, 1, 1, 1, 2

3 12, 15, 18
2 4,   5,    6

2,   5,   3

5.9:` ¿£kÍ>·T, >·kÍuó²\�|Õ �ÈJ$Ôá d�eTd�«\T

d�Ö#áq\T:`

1) �ºÌq d�+K«\#û �Xâôw�+>± uó²Ð+#á�&û nÜ ºq� d�+K« y�{ì ¿£kÍ>·T neÚÔáT+~.

2) �ºÌq d�+K«\ jîTT¿£Ø >·kÍuó², � d�+K«\qT �Xâôw�+>± uó²Ð+#û nÜ�|<�Ý d�+K« neÚÔáT+~.

�<�V�²sÁD`1 : ÿ¿=Ø¿£Ø esÁTd�ýË 2, 3, 4, 6 ýñ<� 8 eT+~ #=|�ðq d�eÖq+>± �\�&�T³Å£� ned�sÁ+ nsTTq

¿£úd�  $<�«sÁT�\ d�+K« m+Ôá?

kÍ<ó�q : ¿£úd� $<�«sÁT�\ d�+K« ¿£qT>=qT³Å£� eTq+ 2, 3, 4, 6, 8 \ ¿£kÍ>·T ¿£qT>=H�*.

2, 3, 4, 6 eT]jáTT 8 \ ¿£kÍ>·T R 2 I 2 I 3 I 2 R 24

ÿ¿=Ø¿£Ø esÁTd�ýË 2, 3, 4, 6, eT]jáTT 8 eT+~ #=|�ðq d�eÖq+>± �\�&�T³Å£� ned�sÁ+ nsTTq ¿£úd�

$<�«sÁT�\ d�+K« R 24

�<�V�²sÁD`2 : @ ¿£úd� $<�«sÁT�\ d�+K«Å£� 5 #û]Ìq 12 eT+~, 15 eT+~, 18 eT+~ �+&û³T¢ È³T¢>±

$uó��+#á>·\+?

kÍ<ó�q : ¿£úd� $<�«sÁT�\ d�+K« ¿±y�\+fñ 12, 15, 18 \ ¿£kÍ>·T ¿±y�*.

úÅ£� Ôî\TkÍ?

¨ 1 ç|�Ü d�+K«Å£� ¿±sÁD²+¿£+ neÚÔáT+~.

¨ ç|�Ü d�+K« <��¿£<û ¿±sÁD²+¿£+ neÚÔáT+~.

12, 15, 18 \ ¿£kÍ>·T R 2I2I3I3I5 R 180

3 È³T¢ @sÁÎ&�T³Å£� ¿±e\d¾q $<�«sÁT�\ d�+K« R 180

eTqÅ£� ¿±e\d¾q d�+K«Å£� 5 ¿£\|��&� �+~.

\ ¿±e\d¾q d�+K« R 180 ` 5 R 175
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Example-3 : What is the capacity of the largest vessel which can measure the oil from
three vessels of 32 litres, 24 litres and 48 litres completely?

HCF = 2 × 2 × 2 = 8
The capacity of the required largest vessel =  8 litres

Exercise - 3

Solve the following word-problems

1) There are some fruits in a basket. If we arrange 4 or
6 or  8 or10 fruits  in a pile,  no fruits  are left  in the
basket. What is the minimum number of fruits in the
basket?

2) Ramu has 16 blue marbles and 12 white ones. If he
wants to arrange them in identical groups without
leaving  any marbles, what is the maximum number
in each group Ramu can make?

3) Two Neon lights are turned on at the same time.  One
blinks for every 4 seconds and other blinks  for every
6 seconds. In 60 seconds how many  times will they
blink at a time?

2 32, 24, 48
2 16, 12, 24
2 8, 6, 12

4, 3, 6

Solution : To find out the largest vessel, we find HCF of 32,  24 and 48.
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2 32, 24, 48
2 16, 12, 24
2 8, 6, 12

4, 3, 6

�<�V�²sÁD`3 : 32 ©öö, 24 ©öö, eT]jáTT 48 ©öö |�]eÖD+ ¿£*Ðq qÖHî bÍçÔá\ qT+&� |�P]ï>± ¿=\T#áT³Å£�

¿±e\d¾q bÍçÔá >·]w�÷ |�]eÖD+ m+Ôá?

kÍ<ó�q : bÍçÔá >·]w�÷ |�]eÖD+ ¿£qT>=qT³Å£� 24, 32 eT]jáTT 48 \ >·kÍuó² ¿£qT>=H�*.

HCF = 2 × 2 × 2 = 8
¿±e\d¾q bÍçÔá >·]w�÷ |�]eÖD+ R 8 ©öö

nuó²«d�+ `   3

¿ì+~ s�Ôá d�eTd�«\qT kÍ~ó+#á+&�.

1) ÿ¿£ �T³¼ýË ¿=�� |�+&�T¢ ¿£\eÚ. � |�+&�¢qT Å£�|�ÎÅ£� 4 ýñ<� 6 ýñ<� 8 ýñ<�

10 #=|�ðq �|]Ì ÿ¿£Ø |�+&�T Å£L&� $T>·\Å£�+&� �+&�\+fñ � �T³¼ýË

�+&�e\d¾q ¿£úd� |�+&�¢ d�+K« m+Ôá?

2) s�eTT <�>·ZsÁ 16 ú\+ sÁ+>·T >Ã°\T, 12 Ôî\¢ >Ã°\T �H��sTT. nÔáqT y�{ì�

ÿ¿£Ø >Ã° Å£L&� $T>·\Å£�+&� d�eÖq d�eTÖV�ä\T>± #ûjáÖ\+fñ, ÿ¿=Ø¿£Ø

d�eTÖV�²+ýË �+&�e\d¾q >·]w�÷ >Ã°\ d�+K« m+Ôá?

3) Âs+&�T �jáÖH� �\TÒ\qT ÿ¹¿kÍ] d¾Ç#Y yûjáT>± ÿ¿£{ì ç|�Ü 4 �d¿£q¢Å£�

eTs=¿£{ì ç|�Ü 6 �d¿£q¢Å£� _¢+¿ù neÚÔáT+~. ÿ¿£ �$Tw�+ýË m��kÍsÁT¢ ÿ¹¿kÍ]

_¢+¿ù neÚÔ�sTT.
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4) There are 40 girls and 32 boys, who want
to participate in state-level games
competition. If each team must have the
same number of girls and the same
number of boys.

i) What is the maximum number in
each team that can participate in
state-level games?

ii) How many boys and girls will be on
each team?

5) Find the least number of sheets of paper
required to make notebooks containing
32 sheets or 40 sheets or 48 sheets
without a single sheet leaving behind.

6) What is the least number of chairs needed
for an auditorium so that they can be
arranged either 27 in a row or 33 in a row?
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4) 40 eT+~ u²*¿£\T, 32 eT+~ u²\TsÁT s�çw�¼kÍ�sTT

�³\ bþ{¡\ýË bÍý¤Zq<�\ºH�sÁT. ç|�Ü {¡y�T q+<�T

u²\TsÁT, u²*¿£\ d�+K« d�eÖq+>± �+&�*.

1) ç|�Ü È³T¼ýËqÖ �+&û >·]w�÷ $<�«sÁT�\ d�+K«

   m+Ôá?

2) ÿ¿=Ø¿£Ø È³T¼ýË� u²\TsÁT, u²*¿£\ d�+K« m+Ôá?

5) ÿ¿=Ø¿£Ø HÃ{Ù |�Úd�ï¿£+ýË 32 �|J\T ýñ<� 40 �|J\T

ýñ<� 48 �|J\T �+&ûý² |�Úd�ï¿±\T ÔájáÖsÁT #ûjáÖ\+fñ

¿±e\d¾q �||�sÁ¢ ¿£úd� d�+K« m+Ôá?

6) ÿ¿£ �&�{Ë]jáT+ q+<�T esÁTd�Å£� 27 Å£�¯Ì\T ýñ<�

33 Å£�¯Ì\T �+&ûý² @s�Î³T #ûjáÖ\+fñ ¿±e\d¾q

¿£úd� Å£�¯Ì\ d�+K« m+Ôá?
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